
  

F–6855              

B.Com. (CS) DEGREE EXAMINATION, APRIL 2022 

First Semester 

Corporate Secretaryship 

PRINCIPLES OF MANAGEMENT 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define Management. 

 ÷©»õsø© Áøμ¯Ö. 

2. What are the characteristics of management? 

 ÷©»õsø©°ß £s¦PÒ ¯õøÁ? 

3. What is bounded rationality? 

 Áμ®¦USm£mh £SzuÔÄ GßÓõÀ GßÚ? 

4. What is strategy? 

 ²Uv GßÓõÀ GßÚ? 

5. Define organisation. 

 Aø©¨¦ Áøμ¯Ö. 

6. What is the distinction between authority and power? 

 AvPõμ® ©ØÖ® vÓß EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 
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7. What are the three techniques of direction? 

 ÁÈö|Ô•øÓ°ß H÷uÝ® ‰ßÖ ~m£[PÒ ¯õøÁ? 

8. What is managerial grid? 

 ÷©»õsø© Pmh® GßÓõÀ GßÚ? 

9. What do you mean by standard? 

 uμ® £ØÔ }Âº TÖ® ö£õ¸Ò GßÚ? 

10. What is Zero-base budgeting? 

 ã÷μõ&÷£ì £möám GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Is management a science or an art? 

   ÷©»õsø© Gß£x Kº AÔÂ¯»õ AÀ»x Pø»¯õ? 

Or 

 (b) Distinguish between “Management” and 
“Administration”. 

   ÷©»õsø© ©ØÖ® {ºÁõP® ÷ÁÖ£õk. 

12. (a) What are the limitations of planning? 

   vmhªku¼ß SøÓ£õkPÒ ¯õøÁ? 

Or 

 (b) Explain the process of MBE.  

    MBE °ß £i{ø»PøÍ ÂÁ›. 

13. (a) What are the advantages of organisation? 

   Aø©¨¤ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Discuss the nature of problems that arise from 
centralisation of authority. 

   AvPõμzøu ø©¯¨£kzv¯uõÀ GÊ® ]UPÀPÎß 

ußø© £ØÔ ÂÁõvUPÄ®. 
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14. (a) Explain the different types of direction. 

   ÁÈö|Ô•øÓPÎß £À÷ÁÖ ÁøPPøÍ ÂÁ›. 

Or 

 (b) What are the differences between autocratic and 
democratic leadership styles? 

   G÷ua\vPõμ ©ØÖ® áÚ|õ¯P uø»ø©zxÁ 

£õoPÐUS Cøh°»õÚ ÷ÁÖ£õkPÒ GßÚ? 

15. (a) Explain the various principles of co-ordination. 

   J¸[Qøn¨¤ß £À÷ÁÖ öPõÒøPPøÍ ÂÍUSP. 

Or 

 (b) Elaborately examine the process of control. 

   Pmk¨£õmk ö\¯À•øÓø¯ Â›ÁõP Bμõ´P. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Enumerate the various levels of importance of 
Management. 

 {ºÁõPzvß •UQ¯zxÁzvß £À÷ÁÖ {ø»PøÍ 

PnUQkP. 

17. Briefly explain the requisites for making planning 
effective. 

 vmhªhÀ vÓ®£h ö\´ÁuØPõÚ ÷uøÁPøÍ _¸UP©õP 

ÂÍUSP. 

18. Discuss the nature, benefits and limitations of 
decentralisation. 

 £μÁ»õUPzvß ußø©, |ßø©PÒ ©ØÖ® Áμ®¦PÒ £ØÔ 

ÂÁõvUP. 
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19. Discuss the nature, scope and characteristics of direction. 

 ÁÈö|Ô•øÓPÎß ußø©, ÷|õUP® ©ØÖ® £s¦PÒ £ØÔ 

ÂÁõvUPÄ®. 

20. “Co-ordination is the essence of management”. Discuss.  

 “J¸[Qøn¨¦ Gß£x {ºÁõPzvß \õμõ®\®”. 
P»¢xøμ¯õk. 

 

 

 
———————— 
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B.Com. (CS) DEGREE EXAMINATION, APRIL 2022 

First Semester 

Corporate Secretaryship 

FINANCIAL ACCOUNTING – I 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define Accounting. 

 PnUQ¯À & C»UPn® u¸P. 

2. What do you mean adjusting entries?  

 \›UPmk® £vÄ GßÓõÀ GßÚ? 

3. What is a Profit and Loss account? 

 C»õ£ |mh PnUS GßÓõÀ GßÚ? 

4. What do you mean by “Del Credere Commission?  

 ¤ønU PÈÄ GßÓõÀ GßÚ? 

5. Write Short notes on Bank Reconciliation Statement. 

 Á[Q \›UPmk® £mi¯¼ß – ]Ö SÔ¨¦ ÁøμP. 

6. What is a Trial balance? 

 C¸¨¦ B´Ä GßÓõÀ GßÚ? 
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7. What is consignment? 

 AÝ¨¥k GßÓõÀ GßÚ? 

8. Write short notes on Promissory note.  

 EÖvö©õÈ £zvμ® – ]Ö SÔ¨¦ ÁøμP. 

9. What is Joint venture? 

 Cøn ÂøÚ GßÓõÀ GßÚ? 

10. What do you mean by donation? 

 |ßöPõøh £ØÔ }Âº AÔÁx ¯õx? 

 Part B  (5  5 = 25) 

Answer all questions choosing either (a) or (b). 

11. (a) Explain any five uses of Accounting.  

  H÷uÝ® I¢x PnUQ¯À £¯ß£õk £ØÔ ÂÁ›. 

Or 

 (b) Enter the following transactions in the Books of 
Sarathy. 

  April 1 Started business with investment of  
Rs. 50,000 

   5 Paid into Bank Rs. 40,000 

   10 Purchased Machinery by issuing cheque 
Rs. 10,000 

   15 Credit purchase Rs. 10,000 

   20 Sold goods to Karthik on credit Rs. 5,000 

   25 Cash Rs. 2,000 taken from the business 
for personal-use 

   30 Manager Mr. Sekar salary Rs. 7,000 



F–6856 

  

  3

  ¤ßÁ¸® |hÁiUøPPøÍ v¸. \õμv Gß£Á›ß 

•uØSÔ¨÷£miÀ  £vÄ ö\´P. 2010  

  H¨μÀ1 ÁoP® öuõh[P •u½k ö\´ux  

¹. 50,000 

   5 Á[Q°À ö\¾zv¯x ¹. 40,000 

   10 Põ÷\õø» ÂkÂUP¨£mk C¯¢vμ® 

Áõ[Q¯x ¹. 10,000 

   15 PhÝUS \μUS Áõ[Q¯x ¹. 10,000 

   20 PõºzvUS Phß ÂØ£øÚ ¹. 5,000 

   25 ö\õ¢u E£÷¯õPzvØPõP {ÖÁÚzv¼¸¢x 

öμõUP® Gkzux ¹. 2,000 

   30 ÷©»õÍº ÷\Pº Fv¯® ¹. 7,000 

12. (a) What are the reasons for the preparation of Bank 
Reconciliation Statement? 

  Á[Qa \›UPmk® £mi¯À  u¯õ›¨£uØPõÚ Põμn[PÒ 

¯õøÁ? 

Or 

 (b) Give journal entries to rectify the errors in the 
following transactions. 

  Machinery purchased for Rs. 10,000 has been 
entered in the purchase book 

  Wages paid Rs. 500 for installation for new 
machines are debited to wages account 

  Repairs to building Rs. 150 have been debited to 
building account 

  Purchases book was under cast by Rs. 200 

  Sales book was overcast by Rs. 100 

  Salary Rs. 1,000 paid to Ram debited to his account 
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  RÌUPõq® |hÁiUøPPÎÀ ¤øÇPøÍz v¸zv 

GÊxP. 

  ¹. 10,000US C¯¢vμ® Áõ[Q¯x öPõÒ•uÀ HmiÀ 

GÊu¨£mhx. 

  ¦v¯ C¯¢vμzøu¨ ö£õ¸zxÁuØPõPa ö\¾zv¯ T¼ 

¹. 500 T¼U PnUQÀ £ØÖ øÁUP¨£mhx. 

  Pmih® £Êx£õºzu ö\»Ä ¹. 150 PmihU PnUQÀ 

£ØÖ øÁUP¨£mk öPõÒ•uÀ HmiÀ ¹. 200 

SøÓÁõPU Tmh¨£mkÒÍx. 

  ÂØ£øÚ HmiÀ ¹. 100 AvP©õPU Tmh¨£mkÒÍx. 

  μõ® Gß£Á¸USa  ö\¾zv¯ \®£Í® ¹. 1,000 

AÁ¸øh¯ PnUQÀ £ØÖ øÁUP¨£mhx. 

13. (a) Distinguish between Trade Bill and Accommodation 
Bill. 

  Â¯õ£õμ ©õØÖa ^miØS® £n EuÂ ©õØÖa^miØS® 

EÒÍ ÷ÁÖ£õmiøÚ  ÂÁ›. 

Or 

 (b) A draws a bill for Rs. 3,000 and B accepts the same 
for mutual accommodation of both of them to the 
extend of 2/3 and 1/3. A discounts the same for  
Rs. 2,820 and remits 1/3 of the proceeds to B before 
the due date, B draws another bill for Rs, 4,200 on A 
in order to provide funds to meet the first bill. The 
second bill is discounted for Rs. 4,080. With the help 
of Which the first bill is met and Rs. 720 are 
remitted to A. Before the due date of the second bill, 
A becomes bankrupt and B receives a dividend of  
50 paise in the rupee in full satisfaction. Pass 
journal entries in the books of A. 
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   ‘A’ Gß£Áº ¹. 3,000UPõÚ ©õØÖa ^mk JßÔøÚ ‘‘B’’ 

Gß£Áº, GÊu AuøÚ 2/3 ©ØÖ® 1/3 GßÓ AÍÂÀ 

AÁºPÒ C¸Á¸øh¯ Á\vUPõPÄ® ‘B’  Gß£Áº HØ¦ 

ö\´QÓõº. ‘A’  AuøÚ ¹. 2,820&US uÒÐ£i ö\´x 

ö£ØÓvÀ 1/3 £[QøÚ ‘B’ ÂØS AÝ¨¤ øÁUQÓõº. 

uÁøn |õÐUS •ßÚõº, •uÀ  ©õØÖa ^miØS¨ 

£n® ö\¾zxÁuØS {v HØ£kzxÁuØPõP ‘B’  

¹. 4,200&UPõÚ ©ØöÓõ¸ ©õØÖa ^miøÚ  ‘A’ Âß «x 

GÊxQÓõº. CμshõÁx ©õØÖa ^mk ¹. 4,080&US 

uÒÐ£i ö\´¯¨£mk, Auß EuÂ¯õÍμõÀ •uÀ, 

©õØÖa ^miØS¨ £n® ö\¾zu¨£mk ¹. 720. ‘A’ ÂØS 

AÝ¨¤ øÁUP¨£kQÓx. CμshõÁx  ©õØÖa^miß 

uÁøn |õÐUS •ßÚº ‘A’ vÁõ»õQÂmhõº. ö£Ó 

÷Ási¯ •Êz öuõøPUS®, ¹£õ´US 50 Põ_PÒ GßÓ 

ÂQuzvÀ ‘B’ ö£ØÖ öPõÒQÓõº. ‘A’ ÂÝøh¯ 

HkPÎÀ ÷uøÁ¯õÚ •uØSÔ¨÷£mk £vÄPøÍa 

ö\´¯Ä®. 

14. (a) Sekar consigned to Sayee 48 cases costing Rs. 500 
per case. He incurred the following expenses ; 
Freight Rs. 850; Insurance Rs. 1,350. 

  Sayee the consignee forwarded the account sales 
showing the expenses such as clearing charges  
Rs. 175; Cartage Rs. 121; Storage Rs. 200; The sale 
price of 32 cases Rs. 21,000. 

  Sayee is entitled to a commission of 7% of sales. The 
market price of the cases prevailing at Sayee’s 
places Rs. 540 on the accounting date.  Show the 
valuation of the unsold stock. 
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  AhUPÂø»¯õÚ ¹. 500 Ãu® ÷\Pº Gß£Áº \õ° 

Gß£Á¸US 48 ö£miPøÍ AÝ¨¥k ö\´uõº. ÷\Pº 

ö\´u ö\»ÄPÍõÚ. \zu® ¹. 850: Põ¨¥k ¹. 1,350.  

  AÝ¨¥k ö£Ö|μõÚ \õ°  AÝ¨¤¯ ÂØ£øÚU PnUS 

AÔUøP°¼¸¢x ö\»ÄPÍõÁÚ : APØÖU Pmhn®  

¹. 175: ÁsiU Pmhn® ¹. 121: £shP¨ £õxPõ¨¦a 

ö\»Ä ¹. 200  

  AÝ¨¥k ö£Ö|º \õ°, 32 ö£miPøÍ ¹. 21,000US 

ÂØÓõº. AÁ¸US›¯ PÈÄ ÂØ£øÚ°À 7% BS®. 

PnUQk® |õÎÀ \õ° Gß£Áμx ChzvÀ {»Ä® 

\¢øu Âø» ö£mi JßÖUS ¹. 540 BP C¸¢ux. 

  ÂØPõu \μUQ¸¨ø£ ©v¨¥k ö\´P.  

Or 

 (b) From the following find how much is to be shown in 
income and expenditure account for the year ending 
31.12.07 for subscription. 

 Rs. 

Subscription received during the year as per receipts and 
payments account  

28,680 

Subscription outstanding on 1.1.07 2,400 

Subscription outstanding on 31.12.07 3,000 

Subscription received in advance on 1.1.07 1,800 

Subscription received in advance on 31.12.07 1,080 

  \¢uõ £ØÔ¯ ÂÁμ[PÎ¼¸¢x 31.12.07À •iÁøh²® 

BsiØPõÚ Á¸Áõ´ ö\»ÂÚU PnUQÀ \¢uõ öuõøP 

GÆÁÍÄ Põmh¨£h÷Ásk®. 

 ¹. 

ö£ÖuÀ ö\¾zuÀ PnUQß£i \¢uõ ö£ØÓø© 28,680 

1.1.07À Áμ ÷Ási¯ \¢uõ 2,400 

31.12.07À Áμ ÷Ási¯ \¢uõ 3,000 

1.1.07À •ß Tmi ö£Ó¨£mkÒÍ \¢uõ 1,800 

31.12.07À •ßTmi ö£Ó¨£mkÒÍ \¢uõ 1,080 
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15. (a) Karthik and Sarathy entered into a joint venture. 
Karthik contributing Rs. 90,000 and Sarathy  
Rs. 45,000. They agreed to share profits 5/8 and 3/8 
respectively and opened a Joint Bank account. They 
purchases goods for cash Rs. 1,50,000 Sarathy 
Supplied goods Rs. 15,000. The entire goods were 
sold for Rs. 2,25,600 paying Rs. 8,000 towards the 
expenses of the venture. Karthick was entitled to a 
commission of 2% on sales. Damaged goods are 
taken by Karthik worth of Rs.810. Show the joint 
venture account assuming that the final settlement 
had taken place between the parties. 

  PõºzvU ¹. 90,000•®, \õμv ¹. 45,000•® £[PÎzx, 

CønÂøÚ JßøÓ ÷©ØöPõshÚº. C»õ£zøu 5/8, 

3/8 GÝ® ÂQuzvÀ £Qº¢x öPõÒÍ J¨¦U öPõsk 

CønÁ[Q PnUS JßÖ xÁ[QÚº. AÁºPÍx  

¹. 1,50,000 \μUøP öμõUPzvØS Áõ[QÚõº. \õμv 

AÎzu \μUS ¹. 15,000. AÁºPÒ CønÂøÚ 

ö£õ¸mk ö\´u ö\»Ä ¹. 8,000. AøÚzx 

\μUSPøÍ²® AÁºPÒ ¹. 2,25,600US ÂØÓÚº. 

ÂØ£øÚ «x PõºzvUS›¯ PÈÄ 2% ÷\u©øh¢u 

\μUøP PõºzvU ¹. 810US Gkzx öPõshõº. 

AÁºPÎøh÷¯ PnUSz wºÄ |øhö£ØÖÂmhx GÚU 

öPõsk CønÂøÚU PnUS u¯õ›UP. 

Or 

 (b) A fire occurred in the premises of a merchant on 
1.07.2008 and a considerable part of the stock was 
destroyed. The value of stock saved from the fire 
was Rs. 45,000 (at cost). On 1.4.2008, the opening 
stock was Rs. 3,34,000. The purchases for the period 
from 1.4.2008 to the date of fire was Rs. 10,00,000 
and sales for the same period was Rs. 15,65,000. 
The average gross profit ratio for the last five years 
was 36%. Find the amount of claim. 
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  1.7.2008 AßÖ J¸ Â¯õ£õ›°ß ÁoP ÁÍõPzvÀ 

HØ£mh w Â£zuõÀ \μUQß ö£¸® £Sv AÈ¢÷u 

Âmhx. «mP¨£mh \μUQß ©v¨¦ ¹. 45,000. 

(AhUPÂø»°À). 1.4.2008  AßÖ Bμ®£ \μUQ¸¨¦ 

¹. 3,34,000. 1.4.2008 •uÀ w Â£zx |h¢u ÷uv 

Áøμ°»õÚ öPõÒ•uÀ ©ØÖ® ÂØ£øÚ •øÓ÷¯  

¹. 10,00,000 ©ØÖ® ¹. 15,65,000 BS®. Ph¢u I¢x 

BskPÐUPõÚ, \μõ\› ö©õzu C»õ£ ÂQu®  

36 \uÃu® BS®. Põ¨¥mk ÷PõμÀ öuõøP°øÚ 

PnUQkP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. From the following particulars for the year ending 31st 
December 2006, prepare Trading Profit and Loss a/c and 
a Balance Sheet as on that date: 
Debit balances Rs. Credit balances Rs. 

Salaries 5,500 Creditors 9,500 

Rent 1,300 Sales 32,000 

Cash 1,000 Capital 30,000 

Debtors 40,000 Loans 10,000 

Trade expenses 600   

Purchases 25,000   

Advances 2,500   

Bank balance 5,600   

 81,500  81,500 

 Adjustments : 

 (a) The closing stock was Rs. 9,000 

 (b) Outstanding salary Rs. 500 

 (c) Rent prepaid Rs. 200 

 (d) Calculate 5% interest on capital  



F–6856 

  

  9

 RÌPõq®, Â£μ[PÎ¼¸¢x 31.12.2006&UPõÚ Â¯õ£õμ 

C»õ£ |mhU P/S ©ØÖ® C¸¨¦ {ø»U SÔ¨¤øÚ u¯õº 

ö\´P. 

£ØÖ C¸¨¦PÒ  ¹.  ÁμÄ C¸¨¦PÒ ¹ 

\®£Í® 5,500 PhÜ¢÷uõº 9,500 

ÁõhøP 1,300 ÂØ£øÚ 32,000 

öμõUP® 1,000 •uÀ 30,000 

PhÚõÎPÒ 40,000 PhßPÒ 10,000 

ÁoPa ö\»ÄPÒ 600   

öPõÒ•uÀ 25,000   

•ß£n® öPõkzux 2,500   

Á[Q C¸¨¦ 5,600   

 81,500  81,500 

 \›UPmhÀPÒ : 

 (A) CÖva \μUQ¸¨¦ ¹. 9,000 

 (B) öPõk£h ÷Ási¯ \®£Í® ¹. 500 

 (C) •ß ö\¾zv¯ ÁõhøP ¹. 200 

 (D) •uÀ «x Ámi 5% PnUQkP. 

17. The cash book of Thiru. Sivasubramanian showed a bank 
overdraft of Rs. 2,550 on 31st December 2009. On 
verification it was found that. 

 (a) A cheque for Rs.500 was dishonoured but was not 
entered in the cash book 

 (b) Cash and cheque for Rs. 1,700 were paid into a 

branch of the bank on 31st December 2009, but not 

entry was found in the pass book 
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 (c) Bank charges amounting to Rs.70 were not recorded 
through the cash book 

 (d) A cheque for Rs. 1,000 was paid into the bank for 
collection but the cash book showed no entry for it 

 (e) Interest for Rs. 6,000 was received by the bank and 
entered only in the pass book 

 (f) There was a wrong credit of Rs.3,800 in the cash 
book 

  Prepare a Bank Reconciliation Statement on 31st 
December 2009. 

 2009 i\®£º 31 AßÖ v¸. ]Á_¨¤μ©o¯ß AÁºPÍx 

öμõUP Hk ¹. 2,550 Á[Q ÷©ÀÁøμ¨£ØÖ Põmi¯x. 

\›¨£õºUøP°À ¤ßÁ¸ÁÚ Psk¤iUP¨£mhx. 

 (A) Põ÷\õø» ¹. 500 AÁ©vUP¨£mhx. BÚõÀ öμõUP 

HmiÀ £v¯¨£hÂÀø».  

 (B) öμõUP ©ØÖ® Põ÷\õø» ¹. 1,700 Á[Q°ß J¸ 

QøÍ°ß 2009 i\®£º  31&À ö\¾zv¯x. 

ö\À¾¨¦zuPzvÀ £v¯¨£hÂÀø». 

 (C) Á[QU Pmhn® ¹. 70 öμõUP HmiÀ £v¯¨£hÂÀø». 

 (D) Á[Q°À Á`¼UP AÝ¨¤¯ Põ÷\õø» ¹. 1,000UPõÚ 

£vÄ  öμõUP HmiÀ CÀø».  

 (E) Á[Q°À ö£Ó¨£mh Ámi ¹. 6,000 ö\À¾¨¦zuPzvÀ 

©mk® £v¯¨£mkÒÍx. 

 (F) öμõUP HmiÀ ¹. 3,800 UPõÚ uÁÓõÚ ÁμÄ EÒÍx. 

  2009 i\®£º 31 B® |õøÍ¯ Á[Qa \›UPmk® 

£mi¯ø»z u¯õº ö\´P. 
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18. Bhim and Arjun entered into a Joint venture for buying 
and selling plastic goods and agreed to share profits and 
losses in the ratio of 3:2. On 1.10.1998. Bhim purchased 
goods at a cost of Rs. 60,000 and half of the goods were 
handed over to Arjun. On 15.10.98 he again purchased 
goods work Rs. 20,000 and he spend Rs. 2,000 for it. On 
15.10.98 Arjun also made a purchase of Rs. 37,500 and on 
the same day he sent to Bhim goods worth Rs. 15,000. He 
incurred expenses of Rs. 900. On 20.10.98, Bhim in order 
to help Arjun sent Rs. 16,000 to him. Both the parties 
sold the goods at a profit of 25% on sale. On 31.3.99 Bhim 
had unsold stock of goods of Rs. 12,500. Of these goods 
costing Rs. 5,000 were taken away by him and the 
remainder sold for Rs. 8,000. Arjun was able to sell away 
complete goods excepting goods costing Rs. 2,500. Which 
were badly damaged and were treated as unsaleable.  
Rs. 3,000 owing to Bhim was unrecoverable and treated 
as joining loss On 31.3.99 parties decided to close the 
books. You are required to prepare Joint venture with 
Arjun A/C as it would appear in the books of Bhim 
recording his own transaction. 

 ¥® ©ØÖ® Aºáúß ¤ÍõìiU ö£õ¸mPÒ Áõ[Q ÂØS® 

CønÂøÚ •øÓ°À Â¯õ£õμ® ö\´¯ J¨£¢u® ö\´x 

Auß C»õ£ |mhzøu 3 : 2 GßÓ ÂQuzvÀ £Qº¢x öPõÒÍ 

J¨¦U öPõshÚº. 1.10.1998 AßÖ ¥® ¹. 60,000&US 

\μUSPÒ Áõ[QÚõº. Auß £õvø¯ AºáúÝUS öPõkzuõº. 

15.10.1998 AßÖ AÁº ÷©¾® 20,000 ö£Ö©õÚ \μUSPÒ 

Áõ[QÚõº. AÁº AuØS ¹. 2,000 ö\»ÄPÒ ö\´uõº. 

 15.10.1998 AßÖ Aºáúß ¹. 37,500&US \μUSPÒ 

Áõ[QÚõº. A÷u |õÎÀ ¹. 15,000 ö£Ö©õÚ \μUSPøÍ 

¥®US AÝ¨¤Úõº. AÁº ¹. 900 ö\»ÄPÒ ö\´uõº. 

 20.10.98 AßÖ AºáúÝUS EuÂ ö\´¯ ¥® ¹. 16,000&I 

AÝ¨¤ øÁzuõº. C¸ |£ºPÐ® ÂØ£øÚ°À 25% C»õ£® 

øÁzx \μUSPøÍ ÂØÓÚº. 31.3.1999 AßÖ ¥® Á\® 

ÂØ£øÚ¯õPõu \μUSPÒ ¹. 12,500&US C¸¨¤À C¸¢uÚ. 

CøÁPÎ¼¸¢x ¹. 5,000 ö£Ö©õÚ \μUSPøÍ AÁº 

GkzxUöPõshõº. «u® EÒÍ \μUSPøÍ AÁº ¹. 8,000&US 
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ÂØÓõº. Aºáúß u©x \μUSPÎÀ ªPÄ® ÷\u©øh¢u  

¹. 2,500 ©v¨¦ÒÍ \μUSPøÍ uÂμ AøÚzx \μUSPøÍ²® 

ÂØÖ Âmhõº. ÷\u©øh¢u \μUSPøÍ ÂØ£øÚUS 

»õ¯UPØÓøÁ GÚ •iÄ ö\´uõº. ¥®US Áμ ÷Ási¯  

¹. 3,000 ÁμõUPhÚõP •iÄ ö\´x AuøÚ Tmk |mh©õP 

HØÖU öPõÒÍ¨£mhx. 31.3.1999 AßÖ C¸ |£ºPÐ® 

PnUSPøÍ •izxU öPõÒÍ wº©õÛzuõº. ¥® u©x ö\õ¢u 

|hÁiUøPPøÍ £vÄ ö\´²® ¦zuP[PÎÀ Aºáúß 

PnUSPÐhß, CønÂøÚ PnUSPøÍ u¯õ›UPÄ®. 

19. Nellai sports club gives you the following Receipts and 
Payments a/c for the year 2004-2005 and subjoined 
information: 

Receipts and Payments a/c  
 Rs.  Rs. 

To Balance b/d (1.4.2004)  20,000 By Tournament expenses  9,000 

To Subscription  40,000 By Purchase of   

To Life membership  5,000       sports equipments  25,000 

To Tournament fund  10,000 By Sports materials  10,000 

To Admission fee  1,000 By Moving machines  5,000 

To Legacy  15,000 By Wages  3,000 

To Donation for  By Printing postage  5,000 

     pavilion  2,000       and other exp.  

To Interest on investment (10%) 2,000 By Balance c/d (31.03.05) 38,000 

 95,000  95,000 

 Additional Information:  

 (a) Subscriptions included subscription outstanding of 
2003-04 Rs. 3,000 and subscription received in 
advance for 2005-06 Rs. 1,000. 

 (b) Subscription outstanding for 2004-05 Rs.5,000  

 (c) 2/3rd of legacy is to be capitalized. 
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 (d) The balance in the sports equipment a/c stood at  
Rs. 15,000 on 1.4.2004 and on 31.3.2005 its value is 
Rs. 30,000 

 (e) Machine purchased on 1.10.2004. Calculate 20% 
depreciation per annum its name. 

 2004&2005 \®£¢u¨£mh ö|Àø» QÍ¨ ì÷£õºmì QÍ¨¤ß 

ö£ÖuÀ ö\¾zxuÀ PnUS ÷©¾® Â£μ[PÐ® R÷Ç 

öPõkUP¨£mkÒÍÚ. 

ö£ÖuÀ ö\¾zxuÀ P/S 

ö£ÖuÀ ¹. ö\¾zxuÀ  ¹. 

C¸¨¦ (1.4.2004)  20,000 ÂøÍ¯õmk¨ ÷£õmi   
\¢uõ 40,000 ö\»ÄPÒ 9,000 
B²Ò \¢uõ 5,000 ÂøÍ¯õmkU P¸ÂPÒ 25,000 
ÂøÍ¯õmk¨ ÷£õmi {v 10,000 ÂøÍ¯õmk ö£õ¸mPÒ 10,000 
~øÇÄU Pmhn® 1,000 C¯¢vμ® 5,000 
E°À öPõøh 15,000 T¼ 3,000 
Põm] ©õh® Pmh |ßöPõøh 2,000 u£õÀ, Aa_ Cuμ ö\»ÄPÒ 5,000 
•u½k «uõÚ Ámi (10%) 2,000 C¸¨¦ (31.03.05) 38,000 
 95,000  95,000 

 TkuÀ Â£μ® : 

 (A) ö£ØÓ \¢uõÂÀ 2003&04UPõÚ £õUQ ¹. 3,000&•®, 

2005&2006 UPõÚ •ßTmi \¢uõ ¹. 1,000 Ah[Q 

C¸UQÓx. 

 (B) 2004&05UPõÚ \¢uõ £õUQ ¹. 5,000 

 (C) ‰ßÔÀ Cμsk £[S E°À öPõøh ‰»uÚ ÁμÁõP 

GkzxU öPõÒÍÄ®. 

 (D) 1.4.2004 AßÖ ÂøÍ¯õmkU P¸ÂPÒ ¹. 15,000&US 

C¸UQÓx. Auß ©v¨¦ 31.3.2005 AßÖ ¹. 30,000 

BS®. 

 (E) C¯¢vμ® 1.10.2004 AßÖ Áõ[P¨£mhx. Auß ÷£›À 

BskUS 20% ÷u´©õÚ® ÁøP ö\´P. 
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20. On 1st January Daniel supplied goods of James to the 
value of Rs. 9,000 and settled the account by means of 
three bills of exchange for Rs. 3,000 each due respectively 
after two, three and four months. A week later Daniel 
discounted the first bill with his bank at a discount of 
Rs.60 he held the other bills. 

 The first two bills were paid at maturity. On the date of 
maturity of the third one James arranged to retire the 
bill paying Rs. 1,000 in each and giving Daniel a fresh bill 
for four months to cover the balance with interest at the 
rate of 6% per annum. Daniel discounted this bill for  
Rs. 1,920 Set out the journal entries in the books of 
Daniel. 

 áÚÁ› 1&® ÷uv ÷hÛ¯À ¹. 9,000 ©v¨¤»õÚ \μUSPøÍ 

÷á®ìUS AÝ¨¤Úõº. •øÓ Cμsk, ‰ßÖ ©ØÖ® |õßS 

©õu[PÎÀ •vºÁøhU Ti¯ ¹. 3,000&UPõÚ ‰ßÖ  

©õØÖa^mkPÒ öPõkUP¨£mk PnUS •iUP¨£mhx. J¸ 

ÁõμzvØS ¤ß •uÀ ©õØÖa^møh ¹. 60&US Ámh® ö\´x 

÷hÛ¯À AÁμx Á[Q°À £n® ö£ØÓõº. ©ØÓ 

©õØÖa^mkPøÍ øÁzxU öPõshõº. 

 •vºÄ |õÎÀ •uÀ Cμsk ©õØÖa^mkPÒ 

£n©õUP¨£mhÚ. ‰ßÓõÁx ©õØÖa^miß •vºÄ |õÎÀ 

÷á®ì ¹. 1,000 ö\¾zv ‰ßÓõÁx ©õØÖa^møh v¸®£ 

ö£ØÖU öPõsk «v öuõøPUS BskUS 6% Ámi Ãu® 

÷\ºzx |õßS ©õuzvØS J¸ ¦v¯ ©õØÖa^møhU 

öPõkzuõº. ÷hÛ¯À C¢u ©õØÖa^møh Ámh® ö\´x ¹. 

1,920 ö£ØÓõº. ÷hÛ¯À Eøh¯ ¦zuP[PÎÀ SÔ¨÷£mk¨ 

£vÄPøÍ Põs¤UPÄ®. 

 

—————— 
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Second Semester 
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MANAGERIAL ECONOMICS 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define Managerial Economics. 

 ÷©»õsø© ö£õ¸Íõuõμ® Áøμ¯Ö. 

2. What is Utility? 

 £¯ß£õk GßÓõÀ GßÚ? 

3. Write short note on law of Demand. 

 ÷uøÁ Âv SÔzx ]Ö SÔ¨¦ GÊxP. 

4. What is Giffen Paradox? 

 Q¨£ß •μs£õk GßÓõÀ GßÚ? 

5. What do you mean by Oligopoly? 

 ]ÖSÊ •ØÖ›ø© SÔzx }Âº AÔÁx ¯õx? 

6. What is Project competition? 

 •Ê {øÓ¨ ÷£õmi GßÓõÀ GßÚ? 
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7. What is Pricing Policies? 

 Âø»U öPõÒøPPÒ GßÓõÀ GßÚ? 

8. What is Price discrimination? 

 Âø» £õS£õk GßÓõÀ GßÚ? 

9. Write a short note on deflation. 

 £nÁõmh® SÔzx ]Ö SÔ¨¦ GÊxP. 

10. What is Economic fluctuations? 

 ö£õ¸Íõuõμ HØÓ CÓUP[PÒ GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the scope of Managerial economics. 

   ÷©»õsø© ö£õ¸Íõuõμzvß Áõ´¨¦PøÍ ÂÍUSP. 

Or 

 (b) What is average cost, marginal cost and marginal 
revenue? 

   \μõ\› ö\»Ä, ÂÎ®¦a ö\»Ä ©ØÖ® ÂÎ®¦ Á¸Áõ´ 

GßÓõÀ GßÚ? 

12. (a) Why does the demand curve slope downwards? 

   ÷uøÁ ÁøÍ÷Põk RÌ÷|õUQ ö\ÀÁx Hß? 

Or 

 (b) Explain Demand Distinctions.  

   ÷uøÁ ÷ÁÖ£õkPøÍ ÂÍUSP. 
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13. (a) What are the advantages of duopoly? 

   C¸ SÊ •ØÖ›ø©°ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) State the features of imperfect competition. 

   •Ê{øÓ¯ØÓ ÷£õmi°ß C¯À¦PøÍ u¸P. 

14. (a) Explain the objectives of pricing policy. 

   Âø»°kuÀ öPõÒøPÎß ÷|õUP[PøÍ ÂÁ›UPÄ®. 

Or 

 (b) What are the advantages and disadvantages of full 
cost pricing? 

   •Ê ö\»Ä Âø»°ß |ßø©PÒ ©ØÖ® wø©PÒ 

¯õøÁ? 

15. (a) Distinguish inflation with deflation. 

   £nÃUPzøu £nÁõmhzxhß ÷ÁÖ£kzvU PõmkP. 

Or 

 (b) How Economic fluctuations affect the business? 

   GÆÁõÖ ö£õ¸Íõuõμ HØÓ CÓUP[PÒ Â¯õ£õμzøu 

£õvUQÓx? 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the basic concepts of managerial economics. 

 ÷©»õsø© ö£õ¸Î¯¼ß Ai¨£øhU P¸zxPøÍ ÂÁ›. 

17. Describe the exceptions of law of demand. 

 ÷uøÁ Âv°ß Â»USPøÍ ÂÁ›. 
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18. Explain the various types of market. 

 \¢øu°ß ÁøPPøÍ ÂÁ›. 

19. Explain the formulation of pricing policy under different 
competitive conditions. 

 £À÷ÁÖ ÷£õmiPÒ {øÓ¢u `Ì{ø»PÎÀ Âø»°hÀ 

öPõÒøPPøÍ E¸ÁõUSÁøu ÂÍUSP. 

20. Discuss the business cycle and its phases.  

 ÁoP _ÇØa] ©ØÖ® Auß Pmh[PøÍ ÂÁõv. 

 

 

 
———————— 
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 Part A  (10  2 = 20) 

Answer all the questions. 

1. Explain the meaning of short workings. 

 £ØÓõUSøÓ Gß£uß ö£õ¸ÎøÚ ÂÁ›.  

2. Mention the meaning of conversion method.  

 ©õØÖ•øÓ°ß ö£õ¸øÍU SÔ¨¤kP.  

3. What do you understand by Hire purchase system? 

 ÁõhøP öPõÒ•uÀ •øÓ¨ £ØÔ }Âº AÔÁx ¯õx? 

4. What are the objectives of Branch accounts? 

 QøÍ PnUSPÎß ÷|õUP[PÒ ¯õøÁ? 

5. What are departmental accounts? 

 xøÓ PnUSPÒ GßÓõÀ GßÚ? 

6. What do you mean by minimum rent? 

 SøÓ¢u£m\ ÁõhøP GßÓõÀ GßÚ? 
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7. Who are Preferencial creditors? 

 •ßÝ›ø© PhÜ¢÷uõº ¯õÁº? 

8. Who is unsecured creditors? 

 ¤øÚ¯©ØÓ PhÜ¢÷uõº Gß£Áº ¯õÁº? 

9. What do you mean by single entry system? 

 JØøÓ¨£vÄ •øÓ GßÓõÀ GßÚ? 

10. What is statement of affairs? 

 {ø» AÔUøP GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the limitations of single entry system? 

  JØøÓ¨ £vÄ •øÓ°ß SøÓ£õkPÒ ¯õøÁ? 

Or 

 (b) Sekar keeps his books by single entry system.  
He supplies you the following information relating 
to his business for the year 2013. 

 01.01.2013 31.12.2013

Cash at bank 4,000 –

Bank over draft – 2,000

Debtors 2,000 3,000

Creditors 1,400 2,800

Office equipment 2,000 2,000

Furniture 4,000 4,000

Expenses outstanding – 400

Cash on hand 5,000 500
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Sekar had withdrawn Rs. 500 per month for his 
personal use. He had introduced Rs. 2,000 as 
additional capital on 14th August 2013. He desires 
that provision of 5% on Debtors should be made. 
Write off 10% as depreciation on furniture and office 
equipment. Find out profit and loss for the year 
2013.  

  ÷\Pº Gß£Áº JØøÓ¨£vÄ •øÓ°À PnU÷PkPøÍ 

øÁzx C¸UQÓõº. 2013® BskUPõÚ AÁº öuõÈÀ 

ÂÁμ[PøÍ R÷Ç u¢xÒÍõº.  

 01.01.2013 31.12.2013

Á[Q°¸¨¦ 4,000 –

Á[Q ÷©ÀÁøμ¨£ØÖ – 2,000

PhÚõÎPÒ 2,000 3,000

PhÜ¢÷uõº 1,400 2,800

A¾Á»P¨ ö£õÔ 2,000 2,000

AøÓP»ß 4,000 4,000

öPõk£h ÷Ási¯ 

ö\»ÄPÒ 

– 400

øP°¸¨¦ öμõUP® 5,000 500

  ©õu® JßÖUS ¹. 500 Ãu® uÚx ö\õ¢u ö\»ÄUS 

÷\Pº GkzxU öPõshõº. 2013 BPìk 14 AßÖ  

¹. 2,000 TkuÀ •uÀ ÷£õmhõº. PhÚõÎPÒ «x 5% 

JxUS HØ£kzu ÷Ásk®. AøÓP»ß ©ØÖ® 

A¾Á»P¨ ö£õÔ «x 10% ÷u´©õÚ® HØ£kzu 

÷Ásk®.  

  2013® Bsk C»õ£ |mhzøu PshÔP.  

12. (a) What are the salient features of branches not 
keeping fully system of accounting? 

  PnUS •ÊÁx® øÁzvμõu QøÍPÎß •UQ¯ 

A®\[PÒ ¯õøÁ? 

Or 
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 (b) The head office at Calcutta opened a branch at 
Coimbatore. From the following information 
prepare branch account in the head office books. 

  Rs. 

  Stock at branch on 1.1.2008 11,400 

  Goods sent to branch  1,09,000 

  Cash sent to branch for expenses: 

  Salary   8,600 

  Rent    7,200 

  Other expenses  2,200 18,000 

  Cash paid by the branch 1,72,600 

  Stock at branch on 31.12.2008 7,600 

  Petty cash at branch on 31.12.2008 100 

  PÀPzuõ uø»ø©¯PzvØS ÷PõøÁ°À QøÍ 

JßÔøÚU öPõskÒÍx. ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x 

PÀPzuõ uø»ø©¯PzvÀ QøÍ PnUQøÚ u¯õº 

ö\´P.  

  ¹. 

  1.1.2008 AßÖ QøÍ {ÖÁÚ \μUQ¸¨¦ 11,400 

  QøÍUS \μUS AÝ¨¤¯x 1,09,000 

  QøÍUS öμõUP® AÝ¨¤¯x (QøÍ ö\»ÄUPõP) : 

  \®£Í®    8,600 

  ÁõhøP   7,200 

  ©ØÓ ö\»ÄPÐUPõP  2,200 18,000 

  QøÍ AÝ¨¤¯ öμõUP®  1,72,600 

  31.12.2008 AßÖ QøÍ°À \μUQ¸¨¦ 7,600 

  31.12.2008 AßÖ QøÍ°À ]À»øÓ öμõUP® 100 
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13. (a) Write a short notes on Sublease. 

  EÒÁõhøP £ØÔ ]Ö SÔ¨¦ ÁøμP.   

Or 

 (b) Cauvery Coal Limited leased a colliery on 1.1.2005 
at a minimum rent of Rs. 8,000 merging into a 
royalty of Re. 1 per ton with a stipulation to recoup 
short workings over the first three years of the 
lease. The output for the first four years of the lease 
was 4500; 7,000; 11,000 and 9,500 tonnes 
respectively. Draft the necessary journal entries in 
the books of the company. 

  1.1.2005 AßÖ Põ÷Á› {»UP› ¼ªöhm BÚx 

SøÓ¢u£m\ ÁõhøP¯õÚ ¹. 8000 hß JßÖUS 1/Ãu® 

E›ø©z öuõøP ©ØÖ® •uÀ ‰ßÖ BskPÐUSÒ 

SøÓ EØ£zv «m¦›ø© ÷£õßÓÁØÔØS 

J¨¦UöPõsk J¸ {»UP› _μ[Pzøu SzuøPUS 

Gkzux. •uÀ |õßS BskPÐUPõÚ EØ£zv 

•øÓ÷¯ 4,500, 7,500, 11,000 ©ØÖ® 9,500 BS®. 

÷uøÁ¯õÚ •uØSÔ¨÷£mk £vÄPøÍ Põ÷Á› 

{»UP› ¼ªöhmiß HkPÎÀ GÊxP.  

14. (a) Write a short note on deficiency account? 

  £ØÓõUSøÓ PnUøP £ØÔ ÂÁ›.  

Or 

 (b) The assets of Guru Moorthy of Bombay on 30.6.2008 
assets Rs. 28,000 and his liabilities Rs. 22,000. He 
filed his insolvency petition and estimated his 
deficiency to be Rs. 15,000. He found that the 
following items were not recorded in his books. 

  (i) Interest at 6% on his capital from 1.1.2008. 

  (ii) Amount due as wages Rs. 300; Rent Rs. 100; 
and Taxes Rs. 150. 

  (iii)  A contingent liability for Rs. 1,250 on bills 
discounted by him for Rs. 5,000.  

  Prepare statement of affairs and deficiency account. 
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  30.6.2008 AßÖ £®£õ°¾ÒÍ S¸‰ºzv HkPÎÀ 

ö\õzxUPÒ ¹. 28,000 ©ØÖ® AÁ¸øh¯ ö£õÖ¨¦PÒ 

¹. 22,000•® Põn¨£mhx. AÁº ö|õi¨¦ {ø» 

Âsn¨£zøu \©º¨¤zuõº. AÁ¸øh¯ £ØÓõUSøÓ 

¹. 15,000 GÚ ©v¨¤h¨£mhx. RÌUPshøÁ 

AÁ¸øh¯ HkPÎÀ £vÁõPÂÀø» GÚ AÁº 

PshÔ¢uõº.  

  (i) 2008 áÚÁ› 1 •uÀ AÁ¸øh¯ ‰»uÚzvØS 

6% Ámi.  

  (ii) öPõk£h ÷Ási¯ T¼ ¹. 300 ÁõhøP ¹. 100 

©ØÖ® Á› ¹. 150 

  (iii) ¹. 5,000US AÁμõÀ uÒÐ£i ö\´¯¨£mh 

Esi¯À «uõÚ Gvº £õμõu ö£õÖ¨¦ ¹. 1,250.  

   {ø»¯ÔUøPø¯²®, £ØÓõUSøÓ PnUøP²® 

u¯õº ö\´P.  

15.  (a) Distinguish between hire purchase and instalment 
system. 

  ÁõhøP öPõÒ•u¼ØS uÁøn öPõÒ•uÀ •øÓUS 

EÒÍ ÷ÁÖ£õkPøÍ GÊxP.  

Or 

 (b) On 1.1.2006, a firm purchased a truck under 
instalment system. The cash price of the truck was 
Rs. 11,175 and payment was to be made as follows: 
Rs. 3,000 to be paid on signing of the agreement and 
the balance in three installments of Rs. 3,000 each 
at the end of each year. Interest is to be charged by 
the vendor at 5% p.a. Depreciation is to be provided 
at 10% under straight line method. Give journal 
entries in the books of buyer for the first two years.  
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  1.1.2006 AßÖ J¸ {ÖÁÚ® uÁøn •øÓ°ß RÌ J¸ 

ÁõPÚzøu Áõ[Q¯x. A¢u ÁõPÚzvß öμõUP Âø» 

¹. 11,175 BS®. C¢u öuõøP ¤ßÁ¸©õÖ 

ö\¾zu¨£h ÷Ásk®. J¨£¢u® øPö¯õ¨£ªmhÄhß 

¹. 3,000 ©ØÖ® «u•ÒÍ öuõøP°øÚ JÆöÁõ¸ 

Bsk CÖv°¾® ¹. 3,000 Ãu® ‰ßÖ uÁønPÒ. 

ÂØ£øÚ¯õÍº Bsk Ámi¯õP 5% ÷Põ¸QÓõº. 

÷|º÷Põmk •øÓ°ß Bsk÷uõÖ® 10% ÷u´©õÚ® 

PnUQh ÷Ásk® ÁõPÚzøu Áõ[Q¯Á›ß 

¦zuPzvÀ •uÀ Cμsk BskPÐUPõÚ SÔ¨÷£mk 

£vÄPøÍ u¸P.  

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Suresh started business with Rs. 25,000 as capital on 
1.1.2004. During the year he has withdrawn at the rate of 
Rs. 600 per month. He has sold his wife’s jewel for  
Rs. 4,000 and introduced the same as additional capital 
to the business. His position on 31.12.2004 was as 
follows. 

 Rs.

Bank balance 2,000

Stock 20,000

Debtors 12,100

Furniture 500

Cash in hand 500

Sundry creditors 6,000

Expenses outstanding 400

 He keeps his books under single entry method. 
Determine his profit or loss for the year. 
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 _÷μè GÚ¨Áº 1.1.2004À ¹. 25,000 •uÀ ÷£õmk öuõÈÀ 

öuõh[QÚõº. AÁº A¢u BsiÀ ©õu® JßÖUS ¹.600 

Ãu® Gk¨¦ GkzxUöPõshõº. ÷©¾® AÁº uÚx 

©øÚÂ°ß |øPPøÍ ¹. 4,000US ÂØ£øÚ ö\´x 

öuõÈ¼À TkuÀ •uÀ ÷£õmkÒÍº. AÁ›ß 31.12.2004ß 

÷uv {v{ø» Á¸©õÖ.  

 ¹.

Á[Q°À C¸¨¦ 2,000

\μUQ¸¨¦ 20,000

PhÚõÎPÒ 12,100

AøÓP»ß 500

øP°¸¨¦ öμõUP® 500

ö£Ø£» PhÜ¢÷uõº 6,000

öPõk£hõ ö\»ÄPÒ 400

 AÁº uÚx HkPøÍ JØøÓ¨£vÄ •øÓ°À £μõ©›zx 

Á¸QÓõº. AÁ›ß C»õ£ |mhzvøÚ A¢u BskUS 

wº©õÛUP.  

17. Jai Co. Limited Invoices goods to its Kanpur Branch at 
cost plus 25% thereon. Both cash and credit sales are 
effected by the branch. The branch expenses are paid 
direct from the H.O. The details of transactions available 
for the year ending 31st March 2012 

 Rs. 

Goods received at Kanpur from Head  
Office at invoice price 

40,000

Returns to Head Office at invoice price 800

Stock at Kanpur on 1st April 2011 8,000

Credit sales for the year 30,000

Cash Sales Debtors as on 1st April 
2011 

5,200
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 Rs. 

Sundry expenses 300

Stock as at 31st March 2012 at invoice price 6,000

Cash received for Debtors  29,500

Discount allowed to customers 300

Bad debts 500

Returns from customers at selling price 700

Rent, Rates etc. 60

Salaries and Wages 1,200

Cash sales 1.4.2011 18,700

Prepare Branch A/c in the Books of H.O.  

öá´ ÷Põ ¼m. \μUSPøÍ Põß§º QøÍUS AhUP® 25% GÚ 

AÝ¨¦QÓx. QøÍ°ÚõÀ öμõUP® ©ØÖ® Phß ÂØ£øÚ 

|hzu¨£mhx. QøÍUPõÚ ö\»ÄPÒ uø»ø©¯Pzv¼¸¢x 

÷|μi¯õP ö\¾zu¨£mhx. 31.3.2012® Bsk •i¯ EÒÍ 

|hÁiUøPPÒ QøhzxÒÍÚ.  

 ¹. 

Põß§›À \μUSPÒ ö£ØÓx uø»ø©¯Pzv¼¸¢x  

Chõ¨¦ Âø»°À 

40,000

uø»ø©¯PzvØS v¸¨¤ AÝ¨¤¯x 800

1.4.2011À Põß§›À \μUQ¸¨¦ Chõ¨¦ Âø»°À 8,000

AÆÁõsiß Phß ÂØ£øÚ 30,000

1.4.2011À PhÚõÎPÒ 5,200

£Ø£» ö\»ÄPÒ 300

31.3.2012 À \μUQ¸¨¦ Chõ¨¦ Âø»°À 6,000
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 ¹. 

PhÚõÎPÎh® ö£ØÓ öμõUP®  29,500

ÁõiUøP¯õÍºPÐUS uÒÐ£i AÝ©vzux 300

ÁμõU Phß 500

ÁõiUøP¯õÍº v¸¨¤¨ ö£ØÓx Chõ¨¦ Âø»°À 700

ÁõhøP, Á›PÒ ©ØÓøÁ 60

\®£Í•® T¼²® 1,200

öμõUP ÂØ£øÚ 1.4.2011À 18,700

 uø»ø©¯P HkPÎÀ QøÍU PnUQøÚ u¯õ›UP.  

18. Bengal Mining Co., took a mine on lease at a Royalty of 
Re. 1 per ton. The minimum rent was fixed at Rs. 4,000 
for the first year, Rs. 6,000 for the second year and  
Rs. 8,000 per year thereafter. Short workings of any year 
could be recouped out of royalty of next two years only. 
The production during the first years was as follows: 

Year 1 2 3 4 5 

Tonnes 2,000 4,500 6,000 9,000 12,000

Prepare the necessary accounts in the books of Bengal 
Mining Co.  

 ö£[PõÀ _μ[PU P®ö£Û J¸ hßÛß E›ø©z öuõøP ¹. 1 

BS®. •u»õ©õsiß SøÓ¢u£m\ ÁõhøP {ºn°zux  

¹. 4,000, Cμshõ©õsk ¹. 6,000 Auß ¤ÓS JÆöÁõ¸ 

Bsk® ¹. 8,000. H÷uÝ® KμõsiÀ SøÓ EØ£zv 

C¸¨¤ß AuøÚ Akzu CμshõskPÎÀ E›ø©z 

öuõøP°À «mP¨£h÷Ásk®. I¢uõskPÒ EØ£zv 

¤ßÁ¸©õÖ.  

BskPÒ 1 2 3 4 5 

hßPÒ 2,000 4,500 6,000 9,000 12,000

 ö£[PõÀ _μ[P P®ö£Û°ß HkPÎÀ •UQ¯ PnUSPøÍ 

u¯õº ö\´P.  
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19. Mr. Ramprasad purchased under hire purchase system a 

machine from Mumbai Company on 1st January 2004, 

paying cash Rs. 10,000 and agreeing to pay three further 

instalments of Rs. 10,000 each on 31st December every 

year. The cash price of the machine is Rs. 37,250 and the 

Mumbai Company charges interest at 5% p.a. Ramprasad 

writess off depreciation at the rate of 10% on diminishing 

balance method. Prepare necessary ledger accounts in the 

books of both parties. 

 áÚÁ› 1, 2004 AßÖ v¸. μõ®¤μ\õz Gß£Áº J¸ 

C¯¢vμzøu •®ø£ {ÖÁÚzvhª¸¢x ÁõhøP öPõÒ•uÀ 

•øÓ°À Áõ[QÚõº. AuØPõÚ öμõUP® ¹. 10,000I 

ö\¾zvÚõº. ÷©¾® JÆöÁõ¸ uÁønUS® ¹. 10,000 Ãu® 

‰ßÖ uÁønPÍõP JÆöÁõ¸ Á¸h•® i\®£º 31¢ ÷uv 

ö\¾zxÁuõP J¨£¢u® ö\´x öPõshõº. C¯¢vμzvß 

öμõUP Âø» ¹. 37,250 BS® •®ø£ {ÖÁÚ® 5% \uÃu 

Ámi²® Á`¼UQÓx. μõ®¤μ\õz C¯¢vμzvß «x SøÓ¢x 

ö\À C¸¨¦ •øÓ°À 10% \uÃu ÷u´©õÚzøu 

÷£õUöPÊxQÓõº C¸Áº ö£¯›¾® ÷uøÁ¯õÚ ÷£÷μmk 

PnUSPøÍ u¯õº ö\´P.  

20. On January 1, 2006 Ramraj commenced business with 

the capital of Rs. 63,500. His profits for the years 2006 

and 2007 amounted to Rs. 35,540 and Rs. 20,000. He 

suffered a loss of Rs. 25,000 in the year 2008. His total 

drawings upto 31.12.2008 were Rs. 90,000 From the 

following figures, prepare a statement of affairs and 

deficiency account of Ramraj as on 31.12.2008.  
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 Rs.  Rs. 

Cash 2,300 Stock in trade 10,000

Investment in shares 5,000 Preferential 
creditors 

1,900

Value of securities 
held by secured 
creditors 

35,000 Debtors: Good 
 Doubtful
 Bad 

70,000
18,000
15,000

Secured Creditors 25,000 Furniture 5,640

Unsecured Creditors 
(including Rs. 10,000 
from his wife) 

1,30,000 

 Assume the stock realized Rs. 6,660; Furniture Rs. 2,820; 
Investments in shares at book value and bad and 
doubtful debts Rs. 6,000. 

 áÚÁ› 1, 2006 AßÖ μõ®μõä Gß£Áº ¹. 63,500 •uÀ 

öuõøP²hß J¸ Â¯õ£õμzøu öuõh[QÚõº. AÁ¸øh¯ 

C»õ£® 2006® BsiØS ¹. 35,540®, 2007® BsiØS  

¹. 20,000•® BS®. 2008® BsiØS |mh® ¹. 25,000, 

31.12.2008 Áøμ°»õÚ ö©õzu Gk¨¦ ¹. 90,000. RÌUPsh 

ÂÁμ[PÎ¼¸¢x 31.12.2008 AßÖ μõ®μõâß {ø» 

AÔUøP ©ØÖ® £ØÓõUSøÓ PnUøP u¯õº ö\´P.  

 ¹.  ¹. 

öμõUP® 2,300 \μUQ¸¨¦ 10,000

£[SPÎÀ •u½k 5,000 •ßÝ›ø© PhÜ¢÷uõº 1,900

¤øn¯ PhÜ¢÷uõº Á\•ÒÍ 

¤øn¯[PÒ 
35,000 PhÚõÎPÒ: |À»øÁ 

 I¯¨£õkøh¯øÁ

 ÁμõUPhß 

70,000
18,000
15,000

¤øn¯•ÒÍ PhÜ¢÷uõº 25,000 AøÓP»ß 5,640

¤øn¯©ØÓ PhÜ¢÷uõº 

(AÁ¸øh¯ ©øÚÂ°h® 

Áõ[Q¯ ¹. 10,000 

÷\º¢xÒÍx) 

1,30,000 

 £[SPÒ ©v¨¦ wº©õÛUP¨£mhx ¹. 6,660; AøÓP»ß  

¹. 2,820; £[SPÎß •u½kPÒ Hmk ©v¨¤À 

PnUQh¨£mhx. ÷©¾® Áμõ I¯UPhß ¹. 6,000.  

———————— 
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COMPANY LAW AND  SECRETARIAL PRACTICE – I 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define prospectus. 

 uPÁ»ÔUøP & Áøμ¯Ö. 

2. What is Lifting of Corporate Veil? 

 {Ö©zvøÓ Â»USuÀ GßÓõÀ GßÚ? 

3. What is Offer for Sale? 

 ÂØ£øÚUS \¾øP GßÓõÀ GßÚ? 

4. What is Deemed Prospectus? 

 uPÁ»ÔUøP £ØÔ P¸u¨£kÁx GßÚ? 

5. State the differences between Shares and Stock. 

 £[SPÒ ©ØÖ® £[S Cøh°»õÚ ÷ÁÖ£õkPøÍU TÖ[PÒ. 

6. What Standing behind the Issue? 

 öÁÎ°kuÀ ¤ßÚõÀ C¸¨£x ¯õx? 
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7. What is Whole Time Company Secretary under 
Companies Act 2013? 

 {ÖÁÚ[PÒ \mh® 2013 Cß RÌ •Ê ÷|μ {ÖÁÚ ö\¯»õÍº 

GßÓõÀ GßÚ? 

8. Who can become a Company Secretary under Companies 
Act 2013? 

 {ÖÁÚ[PÒ \mh®, 2013 Cß RÌ ¯õº {ÖÁÚ ö\¯»õÍμõP 

•i²®. 

9. Define Depositor under Companies Act, 2013. 

 {ÖÁÚ[PÒ \mh®, 2013 Cß RÌ øÁ¨¦z öuõøPø¯ 

Áøμ¯ÖUP. 

10. Who is a promoter? 

 ÷uõØÖÂ¨£õÍº Gß£Áº ¯õº? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) State the provisions under Section 7 of Companies 
Act, 2013. 

   {ÖÁÚ[PÒ \mh®, 2013 Cß ¤›Ä 7 Cß RÌ ÂvPÒ 

SÔ¨¤hÄ®. 

Or 

 (b) State the difference between Partnership firm and 
Company. 

   Tmhõsø© {ÖÁÚzvØS® ©ØÖ® {Ö©® EÒÍ 

÷ÁÖ£õk u¸P. 
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12. (a) What is Mis-Statement of prospectus? Who are all 
liable for Mis-statement? 

   uÁÓõÚ uPÁ»ÔUøP GßÓõÀ GßÚ? uÁÓõÚ 

uPÁ»ÔUøPUS ¯õº ö£õÖ¨¦? 

Or 

 (b) Write short notes on 

  (i) Private Placement 

  (ii) Information Memorandum  

   ]Ö SÔ¨¦ GÊxP.  

   (i) uÛ¯õº ÷Áø»Áõ´¨¦ 

   (ii) Aø©¨¤ß uPÁÀPÒ 

13. (a) Discuss the provisions to be followed for Forfeiture 
of Shares. 

   £[SPøÍ £Ô•uÀ ö\´ÁuØS ¤ß£ØÓ ÷Ási¯ 

ÂvPÒ SÔzx ÂÁõvUP. 

Or 

 (b) Highlight the role of a Debenture Trustee. 

   Phß £zvμ AÓ[PõÁ»›ß £[øP 

•ßÛø»¨£kzuÄ®. 

14. (a) State the differences between Whole Time Company 
Secretary and Part Time Company Secretary. 

   •Ê ÷|μ {ÖÁÚ ö\¯»õÍ¸US® £Sv ÷|μ  {ÖÁÚ 

ö\¯»õÍ¸US® Cøh°»õÚ ÷ÁÖ£õkPøÍU TÖP. 

Or 

 (b) Discuss the duties of Company Secretary. 

   {ÖÁÚ ö\¯»õÍ›ß Phø©PøÍ¨ £ØÔ ÂÁõvUPÄ®. 
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15. (a) List down the particulars of Deposit Register. 

   øÁ¨¦ £vÂß ÂÁμ[PøÍ¨ £mi¯¼k[PÒ. 

Or 

 (b) Discuss the various kinds of Preference Shares. 

   £À÷ÁÖ ÁøP¯õÚ •ßÞ›ø© £[SPÒ £ØÔ 

ÂÁõvUP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Enumerate the provisions regarding alteration of 
Memorandum of Association. 

 Aø©¨¦ •øÓ÷¯miøÚ v¸zu® ö\´¯ öuõhº£õÚ 

ÂvPøÍ ÂÁ›UP. 

17. Discuss the procedure for formation of a company under 
Companies Act, 2013. 

 {ÖÁÚ[PÒ \mh®, 2013 Cß RÌ J¸ {ÖÁÚzøu 

E¸ÁõUSÁuØPõÚ |øh•øÓ £ØÔ ÂÁõvUP. 

18. Explain the procedure regarding issue of debentures. 

 PhÜmk £zvμ[PøÍ öÁÎ°kÁvÀ EÒÍ |øh•øÓPøÍ 

ÂÁõvUP. 

19. Discuss the provisions regarding appointment of 
Company Secretary. 

 {ÖÁÚ ö\¯»õÍøμ {¯ª¨£x öuõhº£õÚ ÂvPÒ SÔzx 

ÂÁõvUP. 

20. Discuss the provisions of Companies Act relating to loans 
and investment by companies.  

 {ÖÁÚ[PÎß PhßPÒ ©ØÖ® •u½k öuõhº£õÚ 

{ÖÁÚ[PÒ \mhzvß ÂvPÒ SÔzx ÂÁõvUPÄ®. 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Partnership. 

 Tmhõsø© – ÁøμÂ»UPn® u¸P. 

2. What is profit and loss appropriation account? 

 C»õ£ |mh¨ £QºÄ PnUS GßÓõÀ GßÚ? 

3. What is Partners’ Current Account? 

 TmhõÎPÎß |h¨¦U PnUS GßÓõÀ GßÚ? 

4. What is Goodwill? 

 |Øö£¯º GßÓõÀ GßÚ? 

5. What is Gaining ratio? 

 Buõ¯ ÂQu® GßÓõÀ GßÚ? 

6. What is Amalgamation of partnership? 

 Tmhõsø© {Ö©® J¸[Qøn¨¦ GßÓõÀ GßÚ? 

Sub. Code 
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7. What is Dissolution of partnership firm? 

 TmhõÎPÒ {ÖÁÚ Pø»¨¦ GßÓõÀ GßÚ? 

8. What is Insolvency? 

 ö|õi¨¦ {ø» GßÓõÀ GßÚ? 

9. What are the entries for revaluation of Assets and 
Liabilities of a firm in the event of admission of a 
partner? 

 ¦v¯ TmhõÎ ÷\ºUøP°ß Tmhõsø©°ß 
ö\õzxPøÍ²®, ö£õÖ¨¦PøÍ²® ©Ö©v¨¥mk ö\´Áuß 
£vÄPÒ ¯õøÁ? 

10. What is Accumulated Reserve? 

 SÂ¢u Põ¨¦ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What is Partnership Deed? Explain its contents. 

  Tmhõsø© Ehß£iUøP GßÓõÀ GßÚ? Auß 
EÒÍhUP[PøÍ ÂÍUSP. 

Or 

 (b) In the absence of partnership deed, how are the 
following items dealt in the Books of accounts of a 
firm? 

  (i) Interest on capital 

  (ii) Interest on drawings 

  (iii) Salaries to partners 

  (iv) Commission to partners. 

  (v) Interest on partners loans. 
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  Tmhõsø© Ehß£õk CÀ»õu ö£õÊx, 
RÌUPshøÁ {ÖÁÚ HkPÎÀ GÆÁõÖ 
ö\¯À£kzu¨£k®? 

  (i) •uÀ «x Ámi 

  (ii) Gk¨¦ «x Ámi 

  (iii) TmhõÎPÎß \®£Í® 

  (iv) TmhõÎPÎß PÈÄ 

  (v) TmhõÎPÎß Phß «x Ámi. 

12. (a) On 1st January 1998 the capitals of Paramu and 
Sivam were Rs. 30,000 and Rs. 50,000. Paramu 
introduced on July 1, Rs. 10,000 and on November 1, 
Rs. 5,000; Sivam Rs. 5,000 on August 1 and  
Rs. 20,000 on April 1, as additional capital 5% 
interest is to be considered on capitals and 
drawings. Paramu withdraws Rs. 200 in the 
beginning of every month and Sivam Rs. 200 at the 
end of every month during the year. Calculate 
Interest payable and chargeable.  

  áÚÁ›, 1, 1998 CÀ £μ• ©ØÖ® ]Á® C¸Áº •uÀ 
¹.30,000 ©ØÓ® ¹.50,000. £μ• TkuÀ •u»õP 
áúø», 1, 1998 ¹.10,000 ©ØÖ® |Á®£º, 1,  
¹.5,000 ; 

  ]Á® TkuÀ •u»õP ¹.20,000&øu BPìm, 1 
©ØÖ® ¹.20,000&øu H¨μÀ 1 öPõsk Á¸QßÓÚº. 
•uÀ «x Ámi 5%&©õP P¸u¨£kQÓx.  

  Gk¨¦PÒ – £μ•, ¹.200&ø¯ JÆöÁõ¸ ©õu 
öuõhUPzvÀ Gk¨¦ Gkzx öPõÒQÓõº. 

  ]Á®, ¹.200&ø¯ JÆöÁõ¸ ©õu CÖv°¾® Gkzx 
öPõÒQÓõº. •uÀ «uõÚ Ámi ©ØÖ® Gk¨¦ «uõÚ 
Ámiø¯ PnUQkP. 

Or 
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 (b) From the following information, calculate the value 
of Goodwill at 3 years’ purchase of super profit. 

  (i) Average capital employed in the business  
Rs. 6,00,000 

  (ii) Net trading profits of the firm for past three 
years were Rs. 1,07,600, Rs. 90,700,  
Rs. 1,12,500 

  (iii) Rate of interest expected from capital having 
regard to the risk involved in 12% 

  (iv) Fair remuneration to the partners for their 
services Rs. 12,000 p.a. 

  ¤ßÁ¸® ÂÁμ[PøÍ öPõsk, E¯º C»õ£zvß 
‰ßÖ BskU öPõÒ•uÀ GÚUöPõsk |Øö£¯øμ 
PnUQkP : 

  (i) öuõÈ¼ß £¯ß£kzu¨£mh \μõ\› •uÀ  

¹. 6,00,000 

  (ii) Ph¢u ‰ßÖ BskPÎÀ {ÖÁÚzvß {Pμ 

C»õ£[PÒ ¹. 1,07,600, ¹. 90,700,  

¹. 1,12,500 

  (iii) •uÀ «x Gvº£õºUP¨£k® Ámi 12% 

  (iv) TmhõÎPÒ Fv¯® BskUS ¹. 12,000  

13. (a) Kokila and Mala were sharing profits in the ratio of 
4:3. Chandra was admitted in the business as a 

partner with 
7
3

th share in the profit of the firm 

which she takes 
7
2

th from Kokila and 
7
1

th from 

Mala. Find out New Profit Ratio and Sacrificing 
Ratio. 
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  ÷PõQ»õ, ©õ»õ GßÓ TmhõÎPÒ •øÓ÷¯ 4:3 GÝ® 
ÂQuzvÀ C»õ£® £Qº¢x Á¢uÚº. \¢vμõ Gß£Áøμ  

7
3
 TmkUSa ÷\º¢uÚº. C¨£[SUS ÷PõQ»õ ö\´²® 

v¯õP® 
7
2
 ©ØÖ® ©õ»õ ö\´²® v¯õP® 

7
1

. ¦v¯ 

C»õ£¨ £QºÄ ÂQu® ©ØÖ® v¯õP ÂQu® 
PnUQkP. 

Or 

 (b) Raman and Laxmanan were partners sharing profit 
and losses in the ratio of 4:3. In view of Velan’s 
admission, they decided revalue their assets and 
liabilities as indicated below : 

  (i) To increase the value of buildings by  
Rs. 60,000 

  (ii) Provision for doubtful debts to decreased by 
Rs. 800 

  (iii) To decrease machinery by Rs. 16,000, 
furniture Rs. 4,000 and stock Rs. 12,000 

  (iv) Provision for outstanding liabilities was to be 
created for Rs. 800; show the Revaluation 
Account. 

  μõ©ß, C»m_©nß GßÓ TmhõÎPÒ •øÓ÷¯ 4:3 
GÝ® ÂQuzvÀ C»õ£ |mh[PøÍ £Qº¢x Á¢uÚº. 
÷Á»ß Gß£Áøμa ÷\ºUP •iÄ ö\´u¤ÓS, 
¤ßÁ¸©õÖ ö\õzxPÒ ©ØÖ® ö£õÖ¨¦PøÍ 
©Ö©v¨¥k ö\´uÚº : 

  (i) Pmhh ©v¨ø£ ¹. 60,000 AvP¨£kzu 
÷Ásk® 

  (ii) I¯UPhß JxUS ¹. 800 SøÓUP ÷Ásk® 
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  (iii) C¯¢vμ ©v¨ø£ ¹. 16,000, AøÓP»ß  

¹. 4,000 ©ØÖ® \μUQ¸¨¦ ¹. 12,000 SøÓUP 

÷Ásk® 

  (iv) öPõk£hõ©¾ÒÍ ö£õÖ¨¦PÐUS ¹. 800US 

ÁøP ö\´¯ ÷Ásk® ©Ö©v¨¥mk PnUøP 

u¯õ›UPÄ®. 

14. (a) A, B and C sharing profits in the ratio of 5:3:2.  

‘C’ retires. Find out the New profit sharing ratio and 

Gaining Ratio. 

  A, B ©ØÖ® C GßÓ TmhõÎPÒ •øÓ÷¯ 5:3:2 GÝ® 

ÂQuzvÀ C»õ£® £Qº¢x Á¢uÚº. ‘C’ Gß£Áº 

Â»SQÓõº. ¦v¯ C»õ£ £QºÄ ÂQu® ©ØÖ® 

Buõ¯ ÂQuzøuU Psk¤iUP. 

Or 

 (b) Prabha, Kavitha and Meena were partners of a firm 

sharing profit and loss in the ratio of 3:2:1. Meena 

wanted to retire. They decided to revalue the assets 

and liabilities of the firm as indicated below : 

  (i) To write down machinery by Rs. 10,000, stock 

by Rs. 4,000 

  (ii) To bring into books as unrecorded investments 

Rs. 5,000 

  (iii) To write off Rs. 3,000 from Sundry Creditors 

as it was no longer liability. Pass entries to 

give effect to the above adjustments. 
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  ¤μ£õ, PÂuõ, «Úõ GßÓ TmhõÎPÒ •øÓ÷¯  
3 : 2 : 1 GÝ® ÂQuzvÀ C»õ£® £Qº¢x Á¢uÚº. 
«Úõ, Â»P Â¸®¦QÓõº. AÁºPÒ RÌUPshÁõÖ 
{ÖÁÚzvß ö\õzxPÒ ©ØÖ® ö£õÖ¨¦PøÍ 
©Ö©v¨¥k ö\´uÚº. 

  (i) C¯¢vμzvß ©v¨¤À ¹. 10,000, \μUQ¸¨¦ 

©v¨¤À ¹. 4,000 SøÓ¨¦ 

  (ii) HkPÎÀ £vÄ ö£Óõ©¾ÒÍ •u½kPÒ  

¹. 5,000 £vÄ ö\´Áx 

  (iii) £Ø£» PhÜ¢÷uõ›¼¸¢x ¹. 3,000 
÷£õUöPÊxÁx. 

   SÔ¨÷£mk¨ £vÄPÒ u¸P. 

15. (a) What is Dissolution of a firm? Explain various 
modes of Dissolution. 

  {ÖÁÚ Pø»¨¦ GßÓõÀ GßÚ? £À÷ÁÖ ÁøP¯õÚ 
{ÖÁÚ Pø»¨¦ •øÓPøÍ ÂÍUSP.  

Or 

 (b) Explain Maximum Loss Method. 

  ªøP |mh •øÓø¯ £ØÔ ÂÍUPÄ®. 

 Part C (3 × 10 = 30) 

Answer any three questions. 

16. X, Y, Z are in partnership and during the year 1998 earn 
Rs. 1,66,000. X and Y are entitled to interest at 5% p.a. 
on their capital of Rs. 1,20,000 and Rs. 2,00,000 
respectively. Z who has no capital in the firm is entitled 
to a salary of Rs. 24,000 p.a. Z is also entitled to a 
commission of 5% on profit after charging interest, salary 
and commission. 
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 It is further agreed that the residue of profit should be 
appropriated as to 20% for charity fund and the  
balance shared equally by X and Y. The drawings of a 
partners were as follows : X – Rs. 20,000, Y – Rs. 18,000, 
Z – Rs. 26,000. Prepare P & L Appropriation A/c, Capital 
and Current A/c for year 1998. 

 X, Y, Z – TmhõÎPÒ, 1998 AÁºPÐøh¯ Á¸Áõ´  

¹. 1,66,000. X ©ØÖ® Y •uÀ •øÓ÷¯ ¹. 1,20,000 ©ØÖ® 

¹. 2,00,000  Auß «x •uÀ «x Ámi •øÓ÷¯ 5% 

ö£ÖQßÓÚº. ‘Z’ &US •uÀ öuõøP Qøh¯õx. ÷©¾® 

AÁº ¹24,000 Á¸hzvØS \®£Í®, 5% PÈÄ (Ámi, 

\®£Í® ©ØÖ® PÈÄ) CÁØøÓ PÈzuuØS ¤ÓS.  

 «u•ÒÍ C»õ£zvÀ 20% – AÓUPmhøÍ {vUS®, 

«u•ÒÍ C»õ£zøu X ©ØÖ® Y \©©õP ¤›zx 

öPõÒQßÓÚ. TmhõÎPÎß Gk¨¦ : X – ¹. 20,000,  

Y – ¹. 18,000, Z – ¹. 26,000. C»õ£ |mh £QºÄ PnUS, 

•uÀ ©ØÖ® |h¨¦ PnUøP u¯õ›UP – 1998. 

17. ‘A’ and ‘B’ were partners sharing profit and losses in the 
ratio of 2:1 their Balance Sheet as on 31.12.2003 was as 
follows : 

Liabilities Rs. Assets Rs. 

Creditors 65,900 Cash 1,200

Capital :  Debtors 9,700

 A 30,000 Stock 20,000

 B 20,000 Machinery 35,000

  Building 50,000

 1,15,900  1,15,900
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 They decided to admit ‘C’ as a partner for 
3
1

rd share in 

the profits of the firm. 

 (a) That he should bring in Rs. 15,000 as his capital 

 (b) Stock and machinery depreciated by 10% 

 (c) Made 5% provision for doubtful debts 

 (d) Building appreciated by Rs. 9,500  

  Prepare necessary Ledger Account. 

 ‘A’ ©ØÖ® ‘B’ GßÓ TmhõÎPÒ AÁºPÐøh¯ C»õ£ 

|mh[PøÍ 2:1 GßÓ ÂQuzvÀ £Qº¢x öPõÒQßÓÚº. 

31.12.2003 AÁºPÐøh¯ C¸¨¦ {ø» SÔ¨¦ ÂÁμ[PÒ: 
ö£õÖ¨¦PÒ  ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõºPÒ 65,900 öμõUP® 1,200

•uÀ :  PhÚõÎPÒ 9,700

 A 30,000 \μUQ¸¨¦ 20,000

 B 20,000 AøÓP»ß 35,000

  Pmhh® 50,000

 1,15,900  1,15,900

 AÁºPÒ ‘C’ Gß£Áøμ ¦v¯ TmhõÎ¯õP 
3
1

 C»õ£ 

ÂQuzvÀ {ÖÁÚzvÀ ÷\ºUQÓõºPÒ : 

 (A) AÁº •u»õP ¹. 15,000 öPõsk Á¸QÓõº 

 (B) \μUQ¸¨¦ ©ØÖ® AøÓP»ß ©v¨¦ SøÓ¨£kQÓx 

(10%) 

 (C) 5% Áõμõ I¯UPhß JxUS 

 (D) Pmhh® ¹. 9,500 E¯ºzu£kQÓx. 

  ÷£÷μk PnUSPøÍ u¯õ›UPÄ®. 
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18. The Balance Sheet of P, Q and R who are sharing profits 
and losses in the ratio of 2:2:1 respectively, was as follows 

on 31.3.2011 : 

Liabilities Rs. Assets Rs. 

Bills payable 3,200 Cash 12,825

Creditors 6,250 Bills receivable 2,700

Capital A/c :  Debtors 8,900

P 20,000 Stock 11,150

Q 12,500 Furniture 1,750

R 10,000 Machinery 4,875

P & L A/c 2,250 Building 12,000

 54,200  54,200

 ‘P’ retires from the business from 1.4.2011 and his share 

in the firm is to be ascertained on a revaluation of the 
assets as follows : 

 Stock Rs. 10,000, Furniture Rs. 1,500, Machinery  
Rs. 4,500, Building Rs. 10,000 and Rs. 425 is to be 

provided for doubtful debts. 

 The Goodwill of the firm is to be valued at Rs. 3,000.  

‘P’ is to be paid Rs. 5,525 in cash on retirement and 
balance in 3 equal yearly instalment with interest at  

5% p.a. Prepare necessary Ledger A/c. 

 P, Q ©ØÖ® R GßÓ TmhõÎPÒ AÁºPÐøh¯ C»õ£, 

|mh[PøÍ •øÓ÷¯ 2:2:1 GßÓ ÂQuzvÀ ¤›zx 

öPõÒQßÓÚº. 31.3.2011 AÁºPÐøh¯ C¸¨¦ {ø» 

SÔ¨¦ : 
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ö£õÖ¨¦PÒ  ¹. ö\õzxPÒ ¹. 

ö\¾zuØS›¯ ©õØÖ ^mk-- 3,200 öμõUP® 12,825
PhÜ¢÷uõº 6,250 ö£Öu¾US›¯ ©õØÖ ^mk 2,700

•uÀ :  PhÚõÎPÒ 8,900

P 20,000 \μUQ¸¨¦ 11,150

Q 12,500 ö£õÔP»ß 1,750

R 10,000 AøÓP»ß 4,875
C»õ£ |mh P/S 2,250 Pmhh® 12,000

 54,200  54,200

 ‘P’ GßÓ TmhõÎ  1.4.2011 AßÖ Tmhõsø© Âmk 
Â»SQÓõº. AßÖ ö\õzxPÎß ©Ö©v¨¦ ÂÁμ[PÒ : 

 \μUQ¸¨¦ ¹. 10,000, ö£õÔP»ß ¹. 1,500, AøÓP»ß  
¹. 4,500, Pmhh® ¹. 10,000 ÁõμõI¯UPhß ¹. 425.  

 |Øö£¯º ¹. 3,000 ©v¨¤k£kQÓx. ‘P’ Â»S®ö£õÊx  
¹. 5,525 EhÚi öμõUP©õPÄ®, «u öuõøP 3 ÷|º uÁøn 
•øÓ°À 5% Ámi öuõøP Ehß öPõkUP¨£k®. 
÷uøÁ¯õÚ ÷£÷μkPøÍ u¯õ›UPÄ®. 

19. The following was the Balance Sheet of A and B on 
31.12.2012 : 
Liabilities Rs. Assets Rs. 

Sundry Creditors 38,000 Cash at Bank 11,500

Mrs. A’s loan 10,000 Stock-in-trade 6,000

B’s loan 15,000 Debtors 20,000

Reserve Fund 5,000 (–) Provision 1,000 19,000

A’s capital 10,000 Furniture 4,000

B’s capital 8,000 Plant and Machinery 28,000

  Investment 10,000

  P & L A/c 7,500

 86,000  86,000
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 The firm was dissolved on 31.12.2012 as the following 
was result : 

 (a) A took over the investment at an agreed value of  
Rs. 8,000 and agreed to pay off the loan to Mrs. A 

 (b) The assets realised as follows : 

  Stock Rs. 5,000, Debtors Rs. 18,500, Furniture  
Rs. 4,500 and Plant and Machinery Rs. 25,000 

 (c) The expenses were Rs. 1,100 

 (d) Sundry creditors were paid off less 2½% discount 

  A and B shared profit and losses in the ratio of 3:2. 
Journalise the entries  to be made on dissolution. 

 A ©ØÖ® B – AÁºPÐøh¯ 31.12.2012 &PõÚ C¸¨¦ 
{ø» SÔ¨¦ : 
ö£õÖ¨¦PÒ  ¹. ö\õzxPÒ ¹. 

£Ø£» PhÜ¢÷uõº 38,000 öμõUP® 11,500

v¸©v A Phß 10,000 \μUQ¸¨¦ 6,000

B – Phß 15,000 PhÚõÎPÒ 20,000

Põ¨¦ {v 5,000 (–) I¯UPhß 1,000 19,000

A •uÀ 10,000 ö£õÔP»ß 4,000

B •uÀ 8,000 AøÓP»ß 28,000

  •u½kPÒ 10,000

  C»õ£ |mh P/S 7,500

 86,000  86,000

 31.12.2012 {ÖÁÚ® Pø»UP¨£mhx : 

 (A) A – •u½kPøÍ ¹. 8,000 US®, v¸©v. A&ß PhøÚ 
ö\¾zuÄ® JzxUöPõshõº 

 (B) ö\õzxPÒ Enμ£mhx : 

  \μUQ¸¨¦ ¹. 5,000, PhÚõÎPÒ ¹. 18,500, 
ö£õÔP»ß ¹. 4,500 ©ØÖ® AøÓP»ß ¹. 25,000 
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 (C) ö\»ÄPÒ ¹. 1,100 

 (D) PhÜ¢÷uõ¸US – 2½% uÒÐ£i°À ö\¾zu¨£mhx. 

  A ©ØÖ® B – 3 : 2 GßÓ ÂQuzvÀ C»õ£ 
|mh[PøÍ ¤›UQßÓÚº. {ÖÁÚ Pø»¨¤ØPõÚ 
SÔ¨÷£kPøÍ u¸P. 

20. A and B are in equal partnership. their balance sheet 
stood as follows : 

Liabilities Rs. Assets Rs. 

Capital A : 600 Plant and machinery 1,475

Sundry creditors 3,900 Furniture 400

  Debtors 500

  Stock 625

  Bank 300

  B’s capital 1,200

 4,500  4,500

 The assets were realised as follows : 

 Stock Rs. 350, furniture Rs. 200, Debtors Rs. 500 and 
plant and machinery Rs. 700. The cost of collecting and 
distributing the estate amounted to Rs. 150. A’s private 
estate is not sufficient even to pay his private liabilities, 
where as in B’s private estate, there is a surplus of  
Rs. 50. Prepare Realisation A/c. Cash a/c, Creditors a/c, 
Capital a/c and Deficiency a/c of partners.  

 A ©ØÖ® B – \©©õÚ TmhõÎPÒ. AÁºPÐøh¯ C¸¨¦ 
{ø» SÔ¨¦ ÂÁμ®  

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

•uÀ – A : 600 AøÓP»ß 1,475

£Ø£» PhÜ¢÷uõº 3,900 ö£õÔP»ß 400

  PhÚõÎPÒ 500
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ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

  \μUQ¸¨¦ 625

  Á[Q 300

  B’s •uÀ 1,200

 4,500  4,500

 ö\õzxPÒ Enμ¨£mhx : 

 \μUQ¸¨¦ ¹.350, ö£õÔP»ß ¹.200, PhÚõÎPÒ ¹.500 
AøÓP»ß ¹.700. ÷u°ø» ÷uõmh® GkUP¨£mk, ¤›zx 
öPõkUP BÚ ö\»Ä ¹.150. A&ß Eøh¯ ÷u°ø» 
÷uõmh® AÁ¸øh¯ uÛ£mh ö\»ÄPøÍ ö\¾zxÁuØS 
÷£õx©õÚuõP CÀø». A÷u \©¯® B&ß Eøh¯ ÷u°ø» 
÷uõmh® ¹.50 {Pμ »õ£zvÀ EÒÍx. 

 öμõUP P/S, PhÜ¢÷uõº P/S, •uÀ P/S, AøÚzx 
TmhõÎPÎß £ØÓõUSøÓ P/S u¯õ›UPÄ®. 

———————— 
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B.Com. (CS) DEGREE EXAMINATION, APRIL 2022. 

Third Semester 

Corporate Secretaryship 

MARKETING MANAGEMENT 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define marketing. 

 \¢øu°¯À GßÝ® ö\õÀø» ÂÍUSP. 

2. List out the various objectives of marketing. 

 \¢øu°¯¼ß ÷|õUP[PøÍ TÖP. 

3. List out the various Functions of marketing. 

 \¢øu°køP¨ £oPÒ £ØÔ SÔ¨¤kP. 

4. What are the functions of physical supply? 

 Ch©õØÓ¨ £oPÒ ¯õøÁ? 

5. What is assembling? 

 JßÖ vμmhÀ GßÓõÀ GßÚ? 

6. What is product? 

 ö£õ¸Ò GßÓõÀ GßÚ? 

7. What is standardisation? 

 uμ¨£kzuÀ GßÓõÀ GßÚ? 

Sub. Code 
7BCS3C3 

 



F–6861 

  

  2

8. What is advertising? 

 ÂÍ®£μ® GßÓõÀ GßÚ? 

9. What is pricing? 

 Âø» GßÓõÀ GßÚ? 

10. What is odd pricing? 

 JØøÓ¨£øh¯õÚ Âø» {ºn¯® GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the importance and benefits of marketing. 

   \¢øu°¯¼ß CßÔ¯ø©¯õø©²® |ßø©PøÍ²® 

ÂÁ›. 

Or 

 (b) Explain the features of marketing. 

   \¢øu°¯¼ß ]Ó¨¤¯À¦PøÍ ÂÁ›. 

12. (a) What are the Facilitating Functions? Explain them 
briefly. 

   Á\v ö\´²® £oPÒ ¯õøÁ? AøÁPÒ £ØÔ ÂÁ›. 

Or 

 (b) Write short notes on: concentration and Dispersion.  

   SÔ¨¦ ÁøμP: J¸ ÁÈ£kzxuÀ ©ØÖ® £μ¨¥k. 

13. (a) Explain the importance of product policy. 

   ö£õ¸m öPõÒøP°ß •UQ¯zxÁzøu ÂÁ›. 

Or 

 (b) Explain the scope of product policy. 

   ö£õ¸möPõÒøP°ß ÷|õUP[PøÍ ÂÁ›. 
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14. (a) What are the Elements of Advertising? Explain. 

   ÂÍ®£μzvß EmTÖPÒ ¯õøÁ? AÁØøÓ ÂÁ›. 

Or 

 (b) Explain the Functions of Advertising. 

   ÂÍ®£μzvß £oPÒ ÂÁ›. 

15. (a) What are the objectives of pricing Decisions? 
Explain. 

   Âø» {ºn¯zwº©õÚ[PÎß ÷|õUP[PÒ £ØÔ ÂÁ›? 

Or 

 (b) Explain the process of price determination of a 
product. 

   J¸ ö£õ¸Îß Âø»ø¯ wº©õÚ® ö\´u¼ß 

{ø»PøÍ ÂÁ›. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain segmentation of consumer markets. 

 ~Pº÷Áõº \¢øuPÎß £S¨¦ £ØÔ ÂÁ›. 

17. Explain the Functions of marketing. 

 \¢øu°ß £oPøÍ £ØÔ ÂÁ›. 

18. What are stages of product life cycle? Explain. 

 ö£õ¸Ò B²Ò_ÇØa]°ß £À÷ÁÖ £¸Á[PÒ ¯õøÁ? 

AÁØøÓ ÂÁ›. 

19. Explain various media of Advertising. 

 ÂÍ®£μ \õuÚ[PÎß £õS£õkPøÍ £ØÔ ÂÁ›. 

20. Briefly explain the kinds of pricing.  

 Âø» {ºn¯zvß ÁøPPÒ _¸UP©õP ÂÁ›. 

 
———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. Define Director under Companies Act, 2013. 

 {Ö©a\mh® 2013ß RÌ C¯US|øμ Áøμ¯Ö. 

2. State the qualification of director. 

 C¯US|›ß uSvø¯ TÖP. 

3. State the difference between Whole time Director and 
Part Time Director. 

 •Ê÷|μ C¯US|º ©ØÖ® £Sv÷|μ C¯US|º Cøh°»õÚ 

÷ÁÖ£õmøh TÖP. 

4. Who is an independent director? 

 _u¢vμ©õÚ C¯US|º Gß£Áº ¯õº? 

5. What is a quorum? 

 ÷Põμ® GßÓõÀ GßÚ? 

6. Who is a proxy? 

 ¦v»õÒ Gß£Áº ¯õº? 

Sub. Code 
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7. What is investigation of ownership of company? 

 {Ö©zvß E›ø©¨ £ØÔ¯ Â\õμøn GßÓõÀ GßÚ? 

8. What is oppression and mismanagement? 

 AhUS•øÓ ©ØÖ® uÁÓõÚ ÷©»õsø© GßÓõÀ GßÚ? 

9. Who is an official liquidator? 

 \mh¨£i¯õÚ Pø»¨£õÍº Gß£Áº ¯õº? 

10. What is declaration of insolvency? 

 ö|õi¨¦{ø» AÔÂ¨¦ GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the provisions regarding Removal of 
Directors. 

   C¯US|ºPøÍ }USÁx öuõhº£õÚ \μzxPøÍ 

ÂÍUSP. 

Or 

 (b) Highlight the rights of a director. 

   C¯US|›ß E›ø©ø¯ •ßÛø»¨£kzxP. 

12. (a) Explain the provision for appointment of manager, 
Whole time Director and Managing Director. 

   ÷©»õÍº •Ê÷|μ C¯US|º ©ØÖ® ÷©»õs C¯US|º 

BQ÷¯õ›ß {¯©Ú® £ØÔ¯ \μzxPøÍ ÂÍUSP. 

Or 

 (b) Discuss the compensation for loss of office of 
manager, Whole time Director and Managing  

   ÷©»õÍº •Ê÷|μ C¯US|º ©ØÖ® ÷©»õs C¯US|º 

A¾Á»P £uÂø¯ DkPmk® CÊ¨¥k SÔzx 

ÂÁõvUP. 
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13. (a) Discuss the essentials of a valid meeting. 

   ö\À¾£i¯õS® Tmh® £ØÔ¯ Azv¯õÁ]¯[PøÍ¨ 

£ØÔ ÂÁõvUP. 

Or 

 (b) State the duties of a company secretary in conduct 
of a meeting. 

   J¸ Tmhzøu |hzxÁuØPõÚ {Ö© ö\¯»õÍ›ß 

Phø©PøÍ TÖP. 

14. (a) List down the provision for appointment of auditors. 

   uoUøP¯õÍ›ß {¯©Ú® £ØÔ¯ \μzxPøÍ 

£mi¯¼kP. 

Or 

 (b) Explain the provision for conduct of inspection and 
inquiry.  

   B´Ä ©ØÖ® Â\õμønø¯ |hzxÁuØPõÚ \μzxPøÍ 

ÂÍUSP. 

15. (a) Explain the powers and duties of Company 
Liquidator. 

   {Ö© Pø»¨£õÍ›ß AvPõμ[PÒ ©ØÖ® Phø©PÒ 

£ØÔ ÂÍUSP. 

Or 

 (b) Discuss the duties of company secretary with regard 
to liquidation of company. 

   {Ö©zvß Pø»¨¦ öuõhº£õÚ {Ö©a ö\¯»õÍ›ß 

Phø©øÍ¨ £ØÔ ÂÁõvUP. 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the procedure regarding appointment of 
directors. 

 C¯US|ºPÒ {¯©Ú® £ØÔ¯ \μzxUPøÍ ÂÍUSP. 

17. Explain the overall managerial remuneration for 
directors 

 C¯US|›ß ÷©»õsø© Jmk ö©õzu ÷©»õsø© Fv¯® 

£ØÔ ÂÍUSP. 

18. Enumerate the various types of company meetings. 

 £À÷ÁÖ ÁøP¯õÚ {Ö©U Tmh[PøÍ PnUQkP. 

19. Discuss the provisions regarding prevention of oppression 
and mis-management 

 AhUS•øÓ ©ØÖ® uÁÓõÚ ÷©»õsø© uk¨£x 

öuõhº£õÚ \μzxPøÍ ÂÁõvUP. 

20. Describe the various modes for winding up of a company.  

 £À÷ÁÖ ÁøP¯õÚ {Ö©U Pø»¨¦ £ØÔ ÂÁ›UP. 

 

 

 
———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. Define the term finance function. 

 {v°¯À ö\¯À£õkPøÍ Áøμ¯Ö. 

2. Explain the scope of financial management. 

 {v°¯À ÷©»õsø©°ß ÷|õUPzøu ÂÁ›. 

3. Explain the importance of the capital structure. 

 •uÀ Aø©¨¤øÚ°ß •UQ¯zxÁzøu ÂÁ›. 

4. Explain the term ‘Point of indifference’. Give the formula. 

 ©õÓõ¨ ¦ÒÎ°øÚ `zvμzxhß ÂÁ›. 

5. State the significance of leverage. 

 BØÓ»õuõ¯zvß •UQ¯zxÁzøuU SÔ¨¤kP. 

6. What are the limitations of excessive working capital? 

 E£› ÷Áø» •u¼ß wø©PøÍU TÖP? 

Sub. Code 
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7. What is operating cycle? 

 ö\¯À£õmka _ÇØ] GßÓõÀ GßÚ? 

8. Explain the variable working capital. 

 ©õÖ£k® ÷Áø» •u¼øÚ ÂÁ›. 

9. Discuss the need for capitalization. 

 •u»õUPzvß ÷uøÁPøÍ B÷»õ]UP. 

10. What is cash? 

 öμõUP® GßÓõÀ GßÚ?  

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Write any five responsibilities of financial 
management. 

   {v°¯À ÷©»õsø©°ß ö£õÖ¨¦PÒ I¢vøÚ TÖP. 

Or 

 (b) Explain the various types of financial decisions. 

  {v°¯À •iÄPÎß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

12. (a) From the following information calculate: 

  (i) EPS  

  (ii)  Earning yield ratio  

  (iii)  P/E ratio 

  Profit before tax at 40%  Rs. 2,50,000 

  5,000 equity shares of Rs. 100 each Rs. 5,00,000 

  10% Preference shares  Rs. 80,000 

  Market price of equity shares Rs. 250 
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   R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x: 

  (i) J¸ £[Qß Dmi¯ Á¸©õÚ® 

  (ii)  Dmi¯ Á¸©õÚ® ÂQu®  

  (iii)  Dmi¯ Âø» ÂQu® PshÔP. 

  Á› Pmk® •ß »õ£® @ 40% ¹. 2,50,000 

  ¹. 100 Ãu®,  5,000 \õuõμn¨ £[SPÒ ¹.5,00,000 

  10% •ßÝ›ø©¨ £[SPÒ ¹.80,000 

   \õuõμn¨ £[Qß \¢øu Âø» ¹.250 

Or 

 (b) The following is the profit and loss account of X Ltd 

for the year ending 31 March 2009. 

Earnings before interest and taxes 60,00,000

Less) Interest on debentures at 11% on 40,00,000 4,40,000 

                    Earnings before tax  55,60,000

Less) Taxes at 50% 27,80,000

                    Earnings available to shareholders 27,80,000

  The company is having 10,00,000 equity shares with 

a market price of Rs.20.85. Calculate the 

Price/Earning ratio of the company. 
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   X Áøμ¯Ö {Ö©zvß 31 ©õºa 2009® |õÍßøÓ¯ 

»õ£&|mhU PnUQøÚ ¤ßÁ¸©õÖ. 

Ámi ©ØÖ® Á› Pmk® •ß »õ£® 60,00,000

PÈUP) PhÜmk¨ £zvμzvß «x Ámi 11% ¹. 40,00,000  
«x 

4,40,000 

                    Á› Pmk® •ß »õ£® 55,60,000

PÈUP) Á› 50% 27,80,000

                    \õuõμn¨ £[SuõμºPÐUS Qmk® Á¸©õÚ® 27,80,000

   {Ö©zvh® 10,00,000 ¤ßÝ›ø©¨ £[SPÒ EÒÍÚ. 

Auß \¢øu ©v¨¦ ¹. 20.85. Âø» Dmi¯ ÂQu® 

PõsP. 

13. (a) Explain the procedure for calculating working 
capital forecasting. 

   Gvº£õºUS® ÷Áø» •uø» PshÔ²® 

|øh•øÓ°øÚ ÂÁ›. 

Or 

 (b) From the following information, you are required to 
forecast the working capital requirement. 

Projected annual sales Rs. 50,00,000

Percentage of net profit on cost of sales 20% 

Average credit period allowed to debtors 10 weeks 

Creditors allowed average credit period 5 weeks 

Average inventory carrying (in terms of sales 
requirement) 

6 weeks 

  Add 10% to the computed figures to allow for 
contingencies. 
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   R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x 

Gvº£õºUS® ÷Áø» •u¼ß ÷uøÁPøÍU PshÔP. 

vmhªh¨£mh Á¸h ÂØ£øÚ ¹. 50,00,000 

AhUP Âø» ÂØ£øÚ «x {Pμ »õ£® ÂQu®  20% 

PhÚõÎPÐUS AÝ©vUP£mhz uÁønU Põ»® 10 Áõμ[PÒ 

PhÜ¢÷uõº AÝ©vzuz uÁønU Põ»® 5 Áõμ[PÒ 

\μõ\›¯õÚ \μUQ¸¨¦ (ÂØ£øÚ Ai¨£øh°À) 6 Áõμ[PÒ 

   Gvº£õμõ ÂøÍÄPøÍ \¢vUP 10% TkuÀ AÝ©vUP. 

14. (a) Explain the effects of under-capitalization. 

   SøÓ •u»õUPzvß ÂøÍÄPøÍ ÂÁ›. 

Or 

 (b) Following is the balance sheet of A Ltd. 
Liabilities Rs. Assets Rs. 

3,000 equity shares of Rs. 10 each 30,000 Building 23,000

2,500, 10% Preference shares of  
Rs. 10 each 15,000

Furniture 15,000

General reserve 2,000 Machine 10,000

Loan from bank (short term) 5,000 Stock 4,000

 52,000  52,000

  The normal earning rate in case of similar 
companies is 10%. 

  Ascertain whether the company is properly 
capitalized when earnings available for equity 
shareholders are : 

  (i) Rs.5,000  (ii)   Rs.8,000 

   A ¼ªöhmiß C¸¨¦ {ø»U SÔ¨¦ ¤ßÁ¸©õÖ. 
ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

3,000, ¤ßÝ›ø©¨ £[SPÒ  

¹. 10 Ãu® 

30,000 Pmih® 23,000

2,500, 10% •ßÝ›ø©¨ £[SPÒ 

¹. 10 Ãu® 15,000
AøÓP»ß 15,000
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ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

ö£õx Põ¨¦ 2,000 C¯¢vμ® 10,000

Á[Q Phß (SøÓ¢uU Põ»®) 5,000 \μUS 4,000

 52,000  52,000

   J÷μ ©õv› {Ö©[PÒ Dmk® \μõ\› »õ£ ÂQu® 10% 

BS®. ¤ßÝ›ø©¨ £[SuõμºPÐUS Qmk® »õ£®  

   (i) ¹. 5,000 ©õP÷Áõ AÀ»x (ii) ¹. 8,000 ©õP÷Áõ 

C¸US® ÷£õx, {Ö©zvß •u»õUP® ]Ó¨£õP 

|øh¨ö£ØÓuõ GÚU PshÔP. 

15. (a) Write a note on : 

  (i) Baumol model 

  (ii) Miller-Orr model of cash management. 

   ]Ö SÔ¨¦ ÁøμP : 

   öμõUP ÷©»õsø©°ß ; 
  (i) £Ä©À •øÓ 
   (ii) ªÀ»º&Kº •øÓ. 

Or 

 (b) From the following details, calculate the optimum 
cash balance on the basis of Baumol model. 

  Monthly cash requirements Rs. 60,000 

  Fixed cost per transaction Rs. 10 

  Interest rate on marketable securities 6% p.a 

   R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x, £Ä©À 

•øÓ Ai¨£øh°À Ezu© öμõUP C¸¨¤øÚU 

PshÔP. 

  ©õu öμõUPz ÷uøÁ   ¹. 60,000 

  {ø»a ö\»Ä JÆöÁõ¸ |hÁiUøPUS® ¹. 10 

   \¢øu°¯À •u½kPÎß «x Ámi ÂQu® 6% 

Á¸hzvØS. 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the traditional role of the financial manager and 

the modern approach of the financial management. 

{v ÷©»õÍ›ß ©μ¦ ÁÈ¨ £[S ©ØÖ® |ÃÚU Põ» 

£[SPøÍ ÂÁ›. 

17. Two companies X and Y are in the same risk class and 

identical except that X uses debt while Y uses equity 

only.  

 The levered firm X has 10% debentures of Rs.9,00,000 

 Both the firms earn 20% on their total assets of 

Rs.15,00,000. 

 The corporate rate of tax is 40% and the rate of return on 

equity is 15% for all equity company. 

 Compute the value of companies X and Y under Net 

Income Approach and M-M Approach. 

J÷μªzu ö\¯À öPõsh C¸ {Ö©[PÒ X ©ØÖ® Y. BÚõÀ 

AuÝøh¯ •u»õUPzvÀ ©õÖ£õk EÒÍx. Xß •uÀ 

PhÜmk¨ £zvμ©õPÄ® Yß •uÀ ¤ßÝ›ø©¨ 

£[SPÍõPÄ® EÒÍÚ. 

X&ß BØÓ»õuõ¯® 10% PhÜmk¨£zvμ® ¹. 9,00,000. C¸ 

{Ö©[PÒ Auß ö©õzua ö\õzvß ©v¨¦ ¹. 15,00,000À, 

20% DmkUQßÓÚ. 40% {Ö© Á›²hß, Auß £[SPÒ ‰»® 

15% DmkUQßÓÚ. 

{Pμ Á¸©õÚ® Ai¨£øh°¾®, G®&G® Ai¨£øh°¾® 

C¸ {Ö©[PÒ X ©ØÖ® Yß ©v¨¤øÚU PõsP. 
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18. From the following details, prepare a statement showing 
working capital needed to finance a level of activity of 
12,000 units of output per annum. 

 Analysis of selling price per unit; 
 Rs.

Raw materials 5 

Labour 3 

Overheads 2 

Total cost 10 

Profit 2 

Selling price per unit 12 

 Additional information 

 (a) Raw materials are to remain in store on an  
average — one month. 

 (b) Materials are in process, on an average —  
2 months. 

 (c) Finished goods are in stock on an average — 3 
months. 

 (d) Credit allowed to debtors — 4 months. 

 (e) Credit allowed by suppliers — 2 months. 

  It may be assumed that production and overheads 
accrue evenly throughout the year. 

 R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x, Á¸hzvØS 

12,000 ö£õ¸mPÒ EØ£zva ö\´¯ BS® ÷Áø» •uø»U 

PshÔ¯¨ £mi¯À u¯õº ö\´P. 

 J¸ ö£õ¸Îß ÂØ£øÚ Âø» 

 ¹.

‰»¨ö£õ¸mPÒ 5 

T¼ 3 
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 ¹.

Cuμa ö\»ÄPÒ 2 

ö©õzua ö\»ÄPÒ 10

»õ£® 2 

J¸ ö£õ¸Îß ÂØ£øÚ Âø» 12

 Cuμ ÂÁμ[PÒ : 

 (A) ‰»¨ö£õ¸mPÒ C¸¨¦ \μõ\›¯õP – J¸ ©õu® 

 (B) EØ£zv°À ‰»¨ö£õ¸mPÒ \μõ\›¯õP – 2 ©õu[PÒ 

 (C) EØ£zva ö\´¯¨£mh¨ ö£õ¸mPÒ \μõ\›¯õP – 3 

©õu[PÒ 

 (D) PhÚõÎPÐUS AÎzuU Phß Põ»® – 4 ©õu[PÒ 

 (E) PhÜ¢÷uõº AÎzuU Phß Põ»® – 2 ©õu[PÒ  

 EØ£zv ©ØÖ® Cuμa ö\»ÄPÒ Á¸h[PÒ •ÊÁx® 

TkQÓx GÚU öPõÒP.  

19. Following is the balance sheet of XYZ Ltd, as on  
31 March 2009. 

Liabilities Rs. Assets Rs. 

5,000 equity shares of Rs. 10 each 50,000 Fixed assets 50,000

Reserve and surplus 25,000 Current assets 40,000

Sundry liabilities 15,000   

 90,000  90,000

 The normal earning rate in case of similar companies is 
15%. You are required to ascertain whether the company 
is properly capitalized when earnings available for equity 
shareholders are; 

 (a) Rs. 7,500   

 (b)   Rs. 11,250 
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XYZß ¼ªöhmiß 31 ©õºa 2009 AßøÓ¯ C¸¨¦ {ø»U 

SÔ¨¦ ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

5,000, ¤ßÝ›ø©¨ £[SPÒ 10 Ãu® 50,000 {ø»a ö\õzxPÒ 50,000

Põ¨¦ ©ØÖ® E£› 25,000 |h¨¦a ö\õzxPÒ 40,000

Cuμ¨ ö£õÖ¨¦PÒ  15,000   

 90,000  90,000

J÷μ ©õv› {Ö©[PÒ Dmk® \μõ\› »õ£ ÂQu® 15% BS®. 

¤ßÝ›ø©¨ £[SuõμºPÐUS Qmk® »õ£®  

 (A) ¹. 7,500©õP÷Áõ AÀ»x  (B)  ¹. 11,250©õP÷Áõ 

C¸US® ÷£õx, {Ö©zvß •u»õUP® ]Ó¨£õP 

|øh¨ö£ØÓuõ GÚU PshÔP. 

20. Critically discuss the causes and disadvantages of  
over-capitalisation. Specify the remedial measures for its 
correction.  

E£› •u»õUPzvß ÂøÍÄPøÍ²®, wø©PøÍ²® Â›ÁõP 

ÂÁõvUP. AuøÚa \›¯õUS® wºÂøÚU PõsP. 

 

 

 
———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. List out the two advantages of statistics. 

 ¦ÒÎ°¯¼ß Cμsk |ßø©PøÍ £mi¯¼kP. 

2. What do you mean by census? 

 ö\ßö\Uì SÔzx } AÔ¢ux ¯õx? 

3. What is geometric mean? 

 ö£¸USa \μõ\› GßÓõÀ GßÚ? 

4. Write short note on mode. 

 •Pk SÔzx ]Ö SÔ¨¦ GÊxP. 

5. What do you mean by Correlation? 

 JmkÓÄ SÔzx }Âº AÔÁx ¯õx? 

6. What is Regression line Y on X? 

 ¤ßÚøhÄ \©ß£õk Y CÀ X GßÓõÀ GßÚ? 

Sub. Code 
7BCS4C3 
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7. Write a note on Factor reversal test. 

 Põμo uø»RÌ ÷\õuøÚ GßÓõÀ GßÚ? 

8. What is Cost of Living Index number? 

 ÁõÌUøPa ö\»Ä SÔ±mk Gs GßÓõÀ GßÚ? 

9. What is Mutually exclusive event? 

 £μì£μ {PÌÄ GßÓõÀ GßÚ? 

10. What is conditional probability? 

 {£¢uøÚ {PÌuPÄ GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer ALL questions. Choosing either (a) or (b). 

11. (a) Marks scored by 30 students are given below 
41 55 48 47 53 48 33 32 42 55

44 38 60 65 71 80 41 53 47 48

55 20 31 34 42 51 35 30 26 25

  Make a frequency distribution taking a class 
interval of 10 marls take the first class interval as 
0-10 

  30 ©õnÁºPÎß Gkzu ©v¨ö£sPÒ R÷Ç öPõkUP¨ 

£mkÒÍÚ. 

41 55 48 47 53 48 33 32 42 55

44 38 60 65 71 80 41 53 47 48

55 20 31 34 42 51 35 30 26 25

  10 CøhöÁÎ°À, •uÀ ¤›Ä CøhöÁÎ 0&10 BP 

AvºöÁß Â{÷¯õP® ö\´P.  

Or 
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 (b) Present the following information in suitable 
tabular form, supplying the figures not directly 
given. 

  In 2012, out of 2000 workers in a factory, 1550 were 
members of a trade union. The number of women 
workers employed was 250 out of which 200 did not 
belong to any trade union. 

  In 2017, the number of union workers was 1725 of 
which 1600 were men. The number of non-union 
workers was 380, among whom 155 were women. 

  ¤ßÁ¸® •Êø©¯õP öPõkUP¨£hõu uPÁÀPÎß 

Ai¨£øh°À uS¢u AmhÁønø¯ öPõkUPÄ® 

  2012® Á¸h®, 2000 öuõÈ»õÎPÒ öPõsh J¸ 

öuõÈØ\õø»°À, 1550 öuõÈØ\[Pzvß EÖ¨¤ÚºPÒ. 

ö£s öuõÈ»õÍºPÒ 250, CvÀ 200 G¢u  

öuõÈØ\[Pzvß EÖ¨¤ÚºPÒ AÀ». 

  2017® Á¸h®, 1725 öuõÈØ\[Pzvß EÖ¨¤ÚºPÎÀ 

1600 ÷£º BsPÒ, öuõÈØ\[P EÖ¨¤Úº AÀ»õ÷uõº 

380, AvÀ 155 ö£sPÒ. 

12. (a) Calculate geometric mean from the following data:  

X 6 7 8 9 10 11

F 4 6 9 5 2 8 

  ¤ßÁ¸® uPÁ¼ß£i ö£¸USa \μõ\›ø¯ PnUQhÄ®     

X 6 7 8 9 10 11

F 4 6 9 5 2 8 

Or 



F–6864 

  

  4

 (b) Calculate the Q1 and Q3 from the following table. 
Marks Frequency 

10-25 6 

25-40 20 

40-55 44 

55-70 26 

70-85 3 

85-100 1 

  ¤ßÁ¸® AmhÁøn°ß ‰»® Q1 ©ØÖ® Q3 
PnUQhÄ® 

Marks Frequency 

10-25 6 

25-40 20 

40-55 44 

55-70 26 

70-85 3 

85-100 1 

13. (a) The following are the marks of 100 students of  
B. Com. Find the mean deviation 

Marks 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80

No. of Students 13 6 9 11 10 18 23 10 

  100 B.Com. ©õnÁºPÎß ©v¨ö£sPÒ öPõsk 

\μõ\› Â»UP® Psk ¤iUPÄ® 

©v¨ö£sPÒ 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80

©õnÁºPÎß 

GsoUøP  

13 6 9 11 10 18 23 10 

Or 



F–6864 

  

  5

 (b) You are given the following information, Find the 
Regression lines X on Y and Y on X.  

 Price (Rs) Demand (thousand units)

Mean 10 35 

Standard deviation  2 5 

Correlation Coefficient  +0.8 

 ¤ßÁ¸® uPÁ¼ß Ai¨£øh°À, ¤ßÚøhÄ \©ß£õkPÒ 

X CÀ Y ©ØÖ® Y CÀ X Psk¤iUPÄ® 

 Âø»  ÷uøÁ (1000 A»SPÒ)

\μõ\› 10 35 

uμÂ»UP® 2 5 

JmkÓÄ  +0.8 

14. (a) Calculate  Index number by Marshall Index method 
and Bowley’s Index method.  

 Unit consumed Price per unit

Commodity 2014 2015 2014 2015 

A 20 16 1.2 2.0 

B 35 38 2.1 2.4 

C 10 9 3.0 4.1 

D 45 50 0.8 1.2 
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 ©õº\À SÔ±k•øÓ ©ØÖ® ö£Í¼ì SÔ±k•øÓ ‰»® 

SÔ±mk Gsøn PnUQhÄ® 

 A»S ~PºÄ J¸ A»S Âø»

ö£õ¸mPÒ 2014 2015 2014 2015 

A 20 16 1.2 2.0 

B 35 38 2.1 2.4 

C 10 9 3.0 4.1 

D 45 50 0.8 1.2 

   

Or 

 (b) Find the trend values by three yearly moving 
average method. 

Year Sales  
(in ‘000) 

Year Sales  
(in ‘000)

2008 200 2012 210 

2009 208 2013 225 

2010 220 2014 240 

2011 250 2015 230 

  ÷£õUS ©v¨ø£ ‰ßÓõsk |P¸® \μõ\› öPõsk 

Psk¤iUPÄ® 

Á¸h® ÂØ£øÚ 

(‘000) 

Á¸h® ÂØ£øÚ

(‘000) 

2008 200 2012 210 

2009 208 2013 225 

2010 220 2014 240 

2011 250 2015 230 
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15. (a) Two cards are drawn from a pack of cards at 
random. What is the probability that it will be?  

  (i) A diamond and a heart, 

  (ii) A king and a queen 

  (iii) Two king? 

  ^μØÓ •øÓ°À J¸ öuõS¨¤¼¸¢x Cμsk 

AmøhPÒ GkUP¨£kQßÓÚ. 

  (i) JßÖ øh©sm ©ØÖ® íõºmhõPÄ® 

  (ii) JßÖ Q[ ©ØÖ® S°ßÚõPÄ® 

  (iii) Cμsk Q[PõP C¸¨£uØPõÚ {PÌuPÄ ¯õx. 

Or 

 (b) What is the probability of getting 3 white balls in a 
draw of 3 balls from a box containing 6 white and 5 
red balls? 

  6 öÁÒøÍ ©ØÖ® 5 ]Á¨¦ £¢xPÒ EÒÍ ö£mi°À  

C¸¢x GkUP¨£k® •ßÖ £¢xPÐ® 3 öÁÒøÍ 

£¢xPÍõP C¸¨£uØPõÚ {PÌuPÄ ¯õx? 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the various types of classifications.  

 £À÷ÁÖ Âu©õÚ ÁøP¨£õkPøÍ ÂÁ›UPÄ®. 
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17. Calculate Mean, Median and Mode from the following 
table 

X 0-10 10-20 20-30 30-40 40-50

F 4 10 18 6 2 

 \μõ\› , Cøh{ø» \μõ\› ©ØÖ® •PmiøÚ ¤ßÁ¸® 

AmhÁøn°ß ‰»® Psi¨¤iUPÄ® 

X 0-10 10-20 20-30 30-40 40-50

F 4 10 18 6 2 

18. Determine the regression equation which may be 
associated with these values and calculate correlation. 

X 89 98 66 42 44 58 55

Y 65 76 58 56 49 53 58

 ¤ßÚøhÄ \©ß£õk ©ØÖ® JmkÓøÁ PnUQhÄ®.  

X 89 98 66 42 44 58 55

Y 65 76 58 56 49 53 58

19. Calculate Fisher’s Ideal index from the following data 
and show that it satisfies the Time Reversal Test and 
Factor Reversal Test. 

 Quantity (kg) Price per unit

Commodity 2014 2015 2014 2015 

A 20 16 1.2 2.0 

B 35 38 2.1 2.4 

C 10 9 3.0 4.1 

D 45 50 0.8 1.2 
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 ¤ßÁ¸® uPÁÀPøÍU öPõsk ¤ì\º SÔ±mk GsøÚ 

Psk¤iUPÄ®, ÷©¾® Ax ÷|μ uø»RÌ ÷\õuøÚ ©ØÖ® 

Põμo uø»RÌ ÷\õuøÚø¯ v¸¨v £kzv¯uõ GßÖ 

PõmhÄ®. 

  AÍÄPÒ (kg) J¸ A»Qß Âø»

ö£õ¸mPÒ 2014 2015 2014 2015 

A 20 16 1.2 2.0 

B 35 38 2.1 2.4 

C 10 9 3.0 4.1 

D 45 50 0.8 1.2 

20. Two dices are throw in a What is the probability that it 
will be  

 (a) The total of the number on the dice is 8 

 (b) The first die show 6, 

 (c) The total of the number on the dice is greater than 8 

 (d) The total number on the dice is 13 

 (e) Both the dice show the same number. 

 (f) The sum of the number shown by the dices is less 
than 5.  

 (g) The sum of the number show by the dice is exactly 
6. 
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 Cμsk £PøhPÒ E¸mh¨£kQßÓÚ. A¨ö£õÊx 

 (A) Tmk öuõøP 8 BP £Pøh C¸¨£x 

 (B) •uÀ £Pøh 6 BP C¸¨£x 

 (C) £Pøh°ß TmköuõøP 8US ÷©À C¸¨£x 

 (D) £Pøh°ß TmköuõøP 13 BP C¸¨£x 

 (E) Cμsk® J÷μ GsnõP C¸¨£x 

 (F) £Pøh°ß TmköuõøP 5 US SøÓÁõP C¸¨£x 

 (G) £Pøh°ß TmköuõøP 6BP C¸¨£uØPõÚ {PÌuPÄ 

¯õøÁ? 

 

  

———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. What is lawful object? 

 \mh§ºÁ©õÚ ö£õ¸Ò GßÓõÀ GßÚ? 

2. What are the conditions of acceptance? 

 HØÖUöPõÒÁuØPõÚ {£¢uøÚPÒ GßÓõÀ GßÚ? 

3. What do you mean by consideration? 

 £μì£μ J¨¦uÀ Gß£uß ö£õ¸Ò GßÚ? 

4. Who are lunatics? 

 EÍ ©Ú® CÀ»õuÁº Gß£Áº ¯õº? 

5. Define “void agreements”. 

 ö\À»õu Ehß£õk Áøμ¯Ö. 

6. What are reciprocal promises? 

 £μì£μ ÁõUSÖv GßÓõÀ GßÚ? 

Sub. Code 
7BCS5C1 
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7. When a contract is discharged by the operation of law? 

 \mhzvß ö\¯À£õmiß ‰»® J¸ J¨£¢u® 

öÁÎ÷¯ØÓ¨£kQÓx? 

8. What do you mean by quasi contract? 

 £Sv J¨£¢u® Gß£uß }Âº TÖ® ö£õ¸Ò GßÚ? 

9. Define a contract of guarantee. 

 J¨£¢u® EzvμÁõu® Áøμ¯Ö. 

10. Explain the duties of the bailor. 

 J¨£øhÄ ö\´÷Áõ›ß Phø©PøÍ ÂÍUSP. 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) List out the various essentials of a valid contract. 

   ö\À¾£i¯õS® J¨£¢uzvß £À÷ÁÖ 

Azv¯õÁ]¯[PøÍ £mi¯¼kP. 

Or 

 (b) State the various modes of revocation. 

   v¸®£ ö£ÖÁuØPõÚ £À÷ÁÖ •øÓPøÍ TÖP. 

12. (a) What do you mean privities of contract? 

   J¨£¢uzvß uÛ²›ø©ø¯ £ØÔ }Âº TÖ® ö£õ¸Ò 

GßÚ? 

Or 

 (b) Who are persons of unsound mind?  

   öuÎÁØÓ ©Ú® öPõsh |£º Gß£Áº ¯õº? 

13. (a) What is mean by anticipatory breach of contract? 

   J¨£¢uzøu •ßTmi÷¯ «ÖuÀ Gß£uß ö£õ¸Ò 

GßÚ? 

Or 
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 (b) What are the different kinds of discharge by 
performance? 

   ö\¯ÀvÓß ‰»® £À÷ÁÖ ÁøP¯õÚ öÁÎ÷¯ØÓ[PÒ 

¯õøÁ? 

14. (a) What is the difference between penalty and 
liquidated damages? 

   A£μõu® ©ØÖ® Pø»UP¨£k® ÷\u[PÎøh÷¯ EÒÍ 

÷ÁÖ£õk ¯õøÁ? 

Or 

 (b) What do you understand by doctrine of quantum 
meruit? 

   SÁõsh® ö©›²m ÷Põm£õmøh }Âº ¦›¢x 

öPõshx GßÚ? 

15. (a) What are the requisites of valid bailment? 

   ö\À¾£i¯õS® J¨£øhÄ ö\´÷Áõ›ß ÷uøÁPÒ 

¯õøÁ? 

Or 

 (b) What are the rights and the obligations of finder of 
goods? 

   ö£õ¸mPøÍ Psk¤i¨£Á›ß E›ø©PÒ ©ØÖ® 

Phø©PÒ ¯õøÁ? 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Define the term acceptance. Write about the conditions of 
acceptance. 

 HØÖUöPõÒÐuÀ Gß£uß £uzvøÚ Áøμ¯Ö.  

HØÖUöPõÒÁuØPõÚ {£¢uøÚPøÍ GÊxP.   
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17. Write a short note on 

 (a) Devolution of joint promises 

 (b) Reciprocal promises 

 ]ÖSÔ¨¦ ÁøμP: 

 (A) Tmk ÁõUSÖvPÒ £QºÄ 

 (B) £μì£μ EzvμÁõu® 

18. How far are liabilities of the parties to a contract affected 
by supervening impossibility? 

 J¸ J¨£¢uzvÀ Pm]PÎß ö£õÖ¨¦PÒ GÆÁÍÄ yμ® 

\õzv¯©ØÓx? 

19. State the principles on which damages are awarded on a 
breach of contract 

 J¨£¢u «Ó¼À G¢u ÷\u[PÒ ÁÇ[P¨£kQßÓÚ GßÓ 

öPõÒøPø¯ TÖP. 

20. Define the term pledge. What are the respective rights 
and duties of pawnor and pawnee?  

 AhS GßÓ £uzvøÚ Áøμ¯Ö?  Dmiß ö£¯›À Phß 

öPõkzuÁº ©ØÖ® Phß Áõ[Q¯ÁºPÎß E›ø©PÒ ©ØÖ® 

Phø©PÒ ¯õøÁ? 

 

 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What are the different types of shares? 

 £À÷ÁÖ ÁøP¯õÚ £[SPÒ ¯õøÁ? 

2. Write short note Call-in-advance. 

 •ßTmi÷¯ ö£ØÓ AøÇ¨¦ – ]Ö SÔ¨¦ ÁøμP. 

3. What is Debenture? 

 Phß £zvμ® GßÓõÀ GßÚ? 

4. State the various methods of redemption of debentures. 

 Phß £zvμ[PøÍ «m£uØPõÚ £À÷ÁÖ •øÓPøÍU 
TÓÄ®. 

5. What is average profit? 

 \μõ\› C»õ£® GßÓõÀ GßÚ? 

6. What is ‘Normal rate of Return’? 

 ‘\õuõμn Âø» v¸¨¦uÀ’ GßÓõÀ GßÚ? 

Sub. Code 
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7. What is meant by interim dividend? 

 CøhUPõ» £[Q»õ£zvß ö£õ¸Ò GßÚ? 

8. What are tangible assets? 

 ¦»õÚS® ö\õzxPÒ GßÓõÀ GßÚ? 

9. What is Internal Reconstruction? 

 EÒ ¦Úμø©¨¦ GßÓõÀ GßÚ? 

10. What is the purpose of amalgamation? 

 JßÔøn¨¤ß ÷|õUP® GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Sunshine Company limited was newly formed with 
an authorized capital of Rs. 5,00,000 divided into 
50000 equity shares of Rs.l0 each. The company 
issued 25,000 equity shares at a premium of  
Rs. 1 per share payable Rs.2 on application; Rs. 4 on 
allotment (including premium); Rs. 5 on first and 
final call. 

  Applications for 30,000 shares were received. 
Directors allotted the shares and the excess money 
received on applications was returned. All the 
shareholders paid the allotment and call money 
except Shri Patil, who failed to pay call money on 
800 shares. The directors forfeited those shares. The 
forfeited shares were re-issued to Shri Mahajan at 
Rs.9 per share as fully paid. Give journal entries 
including cash transactions. 
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  \ßøåß P®ö£Û {ÖÁÚ® ¦vuõP ¹. 5,00,000 
A[RP›UP¨£mh ‰»uÚzxhß 50,000 £[S 
£[SPÍõP u»õ ¹. 10 ¤›UP¨£mkÒÍx. {ÖÁÚ® 
25,000 £[S £[SPøÍ J¸ £[SUS ¹.1 
¤Ÿª¯zvÀ ÁÇ[Q¯x, Âsn¨£zvß÷£õx 
ö\¾zu÷Ási¯ ¹.2; JxURk ¹.4 (¤Ÿª¯® 
Em£h); •uÀ ©ØÖ® CÖv AøÇ¨¤À ¹. 5. 

  30,000 £[SPÐUPõÚ Âsn¨£[PÒ ö£Ó¨£mhÚ. 
C¯US|ÚºPÒ £[SPøÍ JxUQÚº ©ØÖ® 
Âsn¨£[PÎÀ ö£Ó¨£mh AvP¨£i¯õÚ £n® 
v¸¨¤ AÝ¨£¨£mhx. 800 £[SPÎÀ PõÀ£n® 
ö\¾zuz uÁÔ¯u v¸£õmjÀ uÂμ AøÚzx 
£[SuõμºPÐ® JxURk ©ØÖ® AøÇ¨¦¨ £nzøu 
ö\¾zvÚõº. C¯USÚºPÒ A¢u £[SPøÍ, £Ô•uÀ 
ö\´¯¨£mh £[SPÒ •Êø©¯õP ö\¾zu¨£mh J¸ 
£[SUS ¹. 9 GßÓ Âø»°À ÿ ©PõáÝUS 
«sk® ÁÇ[P¨£mhÚ. öμõUP £›ÁºzuøÚPÒ 
EÒÏmh SÔ¨÷£kPøÍ öPõk[PÒ. 

Or 

 (b) What are the conditions for redemption of 
preference shares? 

•ßÝ›ø© £[SPøÍ «m£uØPõÚ {£¢uøÚPÒ 
¯õøÁ? 

12. (a) New way ltd issues 1,000 6% debentures of Rs. 100 
each. Give journal entries in each of the following 
cases: 

(i) The debentures are issued and redeemed at 
par; 

  (ii) They are issued at a discount of 6% but 
redeemed at par; 

  (iii) They are issued at a premium of 5% but 
redeemed at par 

  (iv) They are issued at a discount of 4% but are 
redeemed at a premium of 5%. 
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  New way ¼ªöhm 1,000 6% Phß £zvμ[PøÍ u»õ  
¹. 100 öÁÎ°kQÓx. ¤ßÁ¸® JÆöÁõ¸ 
\¢uº¨£zv¾® £zv›øP EÒÏkPøÍ ÁÇ[PÄ®  

(i) Phß £zvμ[PÒ ÁÇ[P¨£kQßÓÚ ©ØÖ® 
\©©õP «mP¨£kQßÓÚ; 

  (ii) AøÁ 6% uÒÐ£i°À ÁÇ[P¨£kQßÓÚ, 
BÚõÀ \©©õP «mP¨£kQßÓÚ; 

  (iii) AøÁ 5% ¤Ÿª¯zvÀ ÁÇ[P¨£kQßÓÚ. 
BÚõÀ \©©õP «mP¨£kQßÓÚ; 

  (iv) AøÁ 4% uÒÐ£i°À ÁÇ[P¨£kQßÓÚ, 
BÚõÀ  5% ¤Ÿª¯zvÀ «mP¨£kQßÓÚ. 

Or 

 (b) How do you calculate Time ratio and Sales ratio? 

  ÷|μÂQu® ©ØÖ® ÂØ£øÚ ÂQuzøu GÆÁõÖ 
PnUQkRÔºPÒ? 

13. (a) Amudha company decided to purchased a business 
its profit for the last 5 years are 2013 – Rs. 25,000, 
2014 – Rs. 35,000, 2015 – Rs. 31,000,  
2016 – Rs. 37,000 and 2017 – Rs. 42,000. The  
reasonable remuneration of the proprietor of the 
business is Rs. 6,000 pa., but it was not been taken 
into account for calculation of above mentioned 
profit. Calculate goodwill on the basis of three 
purchase of the average profit. 

  Ph¢u 5 BskPÍõP J¸ ÁoPzøu Áõ[P •iÄ 
ö\´u A•uß {ÖÁÚ® 2013 – ¹. 25,000, 2014 –  
¹. 35,000, 2015 – ¹.31,000, 2016 – ¹. 37,000 
©ØÖ® 2017 – ¹. 42,000. ÁoP E›ø©¯õÍ›ß 
{¯õ©õÚ Fv¯® ¹. 6,000 BS®. BÚõÀ ÷©÷» 
SÔ¨¤mh C»õ£zøu PnUQkÁuØS Cx PnUQÀ 
GkzxU öPõÒÍ¨£hÂÀø». 

  \μõ\› C»õ£zvß ‰ßÖ Áõ[SuÀ Ai¨£øh°À 
|Àö»snzøuU PnUQk[PÒ. 

Or 
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 (b) From the following particulars, Calculate the value 
per equity shares: 

2,000 9% Preference Share of Rs. 100 each  
Rs. 2,00,000 

  50,000 Equity shares of Rs. 10 each Rs. 8 per share 
paid up Rs. 4,00,000 

  Expected profits per year before tax Rs. 2,18,000 

  Rate of Tax 50% 

  Transfer to General reserve every year 20% of the 
profit 

  Normal rate of earnings 15%. 
  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x, £[S £[SPÎß 

©v¨ø£U PnUQkP: 

  2,000 9% Â¸¨£z÷uºÄPÒ, £[SPÒ JÆöÁõßÖ® 
¹. 100 ¹. 2,00,000 50,000 £[S JßÖUS ¹. 10 
£[S JßÖUS ¹. 8 ö\¾zu¨£mh ¹. 4,00,000 
Á›US •ß¦ Gvº £õºUP¨£k® C»õ£[PÒ ¹. 
2,18,000 Á› 50% ö£õx C¸¨¦US JÆöÁõ¸ 
Bsk® 20% C»õ£ ÂQu® 15% C»õ£ ÂQu®. 

14. (a) The accounts of the Sun Ltd showed an amount of 
Rs. 3,00,000 to the credit of profit and loss a/c on 
31st March 2018 out of which the directors decided 
to place Rs. 60,000 to general reserve and  
Rs. 42,000 to debenture redemption fund. At the 
annual general meeting held on 15.03.2018. It was 
decided to place Rs. 20,000 to a development reserve 
and to pay a bonus of 2.5% of the profit to the 
directors as additional remuneration. The payment 
of the half-yearly dividends on Rs. 5,00,000 6% 
cumulative preference shares on 30th September 
2017 and 31st March 2018 was confirmed and a 
dividend @ 10% was declared on the equity share 
capital of the face value of Rs. 6,00,000. The balance 
of profit & Loss a/c is to be carried forward to next 
year. Prepare Profit and Loss Appropriation a/c 
showing the above arrangement. 
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  \ß ¼ªöhm {ÖÁÚzvß PnUSPÒ 2018 ©õºa 31 
AßÖ C»õ£® ©ØÖ® CÇ¨¦ A/C Phß  
¹. 3,00,000 IU Põmi¯x, AvÀ C¯USÚºPÒ ö£õx 
C¸¨¦US ¹. 60,000 ©ØÖ® Phß £zvμ «m¦ {vUS 
¹. 42,000 øÁUP •iÄ ö\´uÚº 15.03.2018 AßÖ 
|øhö£ØÓ Á¸hõ¢u¨ ö£õxU TmhzvÀ ÁÍºa] 
JxUS¨ £Sv JßÖUS ¹. 20,000 ÁÇ[P •iÄ 
ö\´¯¨£mhx. ÷©¾®, TkuÀ Fv¯©õP 
C¯US|ºPÐUS 2.5% C»õ£zøu ÷£õÚì ÁÇ[P 
•iÄ ö\´¯¨£mhx. 2017 ö\¨öh®£º 30 ©ØÖ® 
2018 ©õºa 31 B® ÷uvPÎÀ ¹£õ 5,00,000 6% 
Jmkö©õzu •ßÝ›ø©¨ £[SPÎß «uõÚ 
Aøμ¯õsk DÄz öuõøPPÎß öPõk¨£ÚÄ 
EÖv¨£kzu¨£mk, ¹. 6,00,000 •P©v¨¤ß £[S 
‰»uÚzvß «x 10% @ 10% DÄzöuõøP 
¤μPhÚ¨£kzu¨£mhx. C»õ£ «v |mh® A/C 
Akzu Bsk Áøμ •ßöÚkUP¨£h EÒÍx. 

   ÷©÷» EÒÍ HØ£õmøhU Põmk® C»õ£ |mh 
JxURmøhz u¯õ›zuÀ. 

Or 

 (b) Following balances have been extracted from the 
books of Rama Ltd on 31st March 2014:  

  Equity Share capital (1,00,000 shares of Rs. 10 
each) Rs. 10,00,000; Securities Premium Rs. 
2,00,000: 12% debentures Rs. 5,00,000; Creditors 
Rs. 2,00,000; Proposed Dividend Rs. 50,000; Surplus 
i.e. Balance in statement of profit and loss (Debit) 
Rs. 50,000; Land and Building Rs. 9,00,000; 
Government Bonds Rs. 5,00,000 Capital work-in-
progress (Building) Rs. 3,50000 and Discount on 
issue of 12% Debentures Rs. 1,00,000; Cash at Bank 
Rs. 50,000; Furniture Rs. 60,000; Debtors  
Rs. 20,000. Debentures were issued on 1st April 
2013 redeemable after 5 years i.e., on 31st March 
2017. Surplus i.e. Balance in statement of profit and 
loss is before writing off Discount on issue of 
debentures. Prepare the balance sheet of the 
company in statement under Companies Act 1956. 
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  2014 ©õºa 31B® ÷uv μõ©õ¼ªöhm ¦zuP[PÎÀ 
C¸¢x ¤ßÁ¸® C¸¨¦PÒ ¤›zöukUP¨£mkÒÍÚ. 
DUÂmi÷åº ‰»uÚ® (u»õ ¹. 10 GßÓ 1,00,000 
£[SPÒ) ¹. 10,00,000, ¤øn¯[PÒ ¤Ÿª¯®  
¹. 2,00,000, 12% Phß£zvμ[PÒ ¹. 5,00,000, Phß 
öPõkzuÁºPÒ ¹. 2,00,000, Ez÷u\£[Q»õ£ ¹. 
50,000, E£› AuõÁx C»õ£® ©ØÖ® |mh 
AÔUøP°À C¸¨¦ (£ØÖ) ¹. 50,000, {»® ©ØÖ® 
Pmih® ¹. 9,00,000, Aμ\õ[P £zvμ[PÒ ¹. 
5,00,000, ‰»uÚ¨ £o •ß÷ÚØÓ® (Pmih®) ¹. 
3,50,000 ©ØÖ® 12% Phß £zvμ[PÒ ÁÇ[S® 
÷£õx uÒÐ£i ¹. 1,00,000, Á[Q°À öμõUP® ¹. 
50,000, ©μa\õ©õßPÒ ¹. 60,000, PhÚõÎPÒ ¹. 
20,000, Phß£zvμ[PÒ 5 BskPÐUS¨ ¤ÓS 
AuõÁx 2017 ©õºa 31 AßÖ «mPU Ti¯ H¨μÀ 1, 
2013 AßÖ ÁÇ[P¨£mhÚ. 

  E£› AuõÁx C»õ£® ©ØÖ® |mh AÔUøP°À 
C¸¨¦ Gß£x Phß£zvμ[PÒ ¤μa]øÚ°À 
uÒÐ£iø¯ GÊxÁuØS •ß EÒÍx. {ÖÁÚzvß 
C¸¨¦ {ø»U SÔ¨ø£ Põ®÷£ì \mh® 1956&ß RÌ 
AÔUøP°À u¯õ›UPÄ®. 

15. (a) Distinguish between amalgamation and absorption. 

  JßÔøn¨¦ ©ØÖ® EÔg_uÀ (absorption) 
Cøh÷¯ ÷ÁÖ£kzxP.  

Or 

 (b) The following is the Balance sheet of X ltd as on  
31.03.2018 

Liabilities Rs. Assets Rs. 
2,00,000 shares of  
Rs. 10 each  

20,00,000Land and 
Building 

10,00,000

General Reserve 2,50,000Plant and 
Machinery 

15,00,000

Dividend Equalisation 
Reserve 

2,00,000 Furniture 25,000 

Profit and Loss a/c 51,000 Work-in- Progress3,00,000
12% Debentures 10,00,000Stock 6,00,000
Sundry Creditors 3,00,000 Sundry Debtors 2,50,000
  Cash at bank 1,26,000
 38,01,000 38,01,000
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  The company was absorbed by A Ltd on the above 
date. The consideration for the absorption is the 
discharge of the debentures at a premium of  
5% taking over the liability in respect of sundry 
creditors and a payment of Rs. 7 in cash and one 
share of Rs.5 in A Ltd at the market value of Rs. 8 
per share for every share in the X Ltd., The cost of 
liquidation of Rs. 15,000 is to be met by the 
purchasing company. Close the books of X Ltd 
prepare necessary ledger accounts and pass journal 
entries in the books of A Ltd. 

  31.03.2018 AßÖ Áøμ GUì ¼ªöhmiß C¸¨¦ 
{ø»U SÔ¨¦ ¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

2,00,000 £[SPÒ u»õ ¹. 10 20,00,000 {»® ©ØÖ® Pmih[PÒ 10,00,000

ö£õx JxUS 2,50,000 Bø» ©ØÖ® C¯¢vμ[PÒ 15,00,000

£[Q»õ£ \©¨£kzuÀ C¸¨¦ 2,00,000 AøÓP»ß 25,000

C»õ£® ©ØÖ® |mh® A/C 51,000 |øh¨ö£Ö® ÷Áø» 3,00,000

12% Phß £zvμ[PÒ 10,00,000 \μUQ¸¨¦ 6,00,000

£Ø£» PhÜ¢÷uõº 3,00,000 £Ø£» PhÚõÎPÒ 2,50,000

  Á[Q°À öμõUP® 1,26,000

 38,01,000  38,01,000

  {ÖÁÚ® 31.03.2018 ÷uv J¸ ¼ªöhm 
EmPÁ¸¨£kQÓx. PhÜ¢÷uõº «uõÚ ö£õÖ¨ø£ 5% 
¤Ÿª¯zvÀ ÂkÂ¨£x®, öμõUP©õP ¹. 7 ©ØÖ® J¸ 
£[S ¹. 5 GßÓ J¸ £[S ¹. 5 GßÓ \¢øu ©v¨¤À 
GUì ¼ªöhm {ÖÁÚzvß JÆöÁõ¸ £[SUS® ¹. 
8 GßÓ \¢øu ©v¨¤À ö\¾zu¨£h ÷Ásk®. 

   ¹. 15,000&I Pø»¨£uØPõÚ ö\»Ä BS®. 

   ¹. 15,000&I Áõ[S® {ÖÁÚzuõÀ §ºzv 
ö\´¯¨£h EÒÍx. 

   GUì ¼ªöhm ¦zuP[PøÍ ‰hÄ® ÷uøÁ¯õÚ 
÷£÷μk PnUSPÒ ©ØÖ® H ¼ªöhm ¦zuP[PÎÀ 
£zv›øP EÒÏkPøÍ AÝ¨£Ä®. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Blue Star Ltd., issued a prospectus inviting applications 
for 50,000 equity shares of Rs. 10 each, payable Rs. 5 per 
application (including Rs. 2 as premium), Rs. 4 as per 
allotment and the balance towards 1st and final call. 

 Applications were received for 65,000 shares. Application 
money received on 5,000 shares was refunded with letter 
of regret and allotments were made pro rata to the 
applicants of 60,000 shares. Money overpaid on 
applications including premium was adjusted on account 
of sums due on allotment. 

 Mr. Sharma to whom 700 shares were allotted failed to 
pay the allotment money and his shares were forfeited by 
the Directors on his subsequent failure to pay the call 
Money. 

 All the forfeited shares were subsequently sold to  
Mr. Jain credited as fully paid for Rs. 9 per share. You 
are required to set out the journal entries and the 
relevant entries in the cash book. 

 ¨Ñ ìhõº ¼ªöhm, 50,000 £[S £[SPÐUS u»õ ¹. 
10, Âsn¨£zvØS ¹. 5 (¤Ÿ¯©õP ¹. 2 Em£h), 
JxURmiß £i ¹. 4 ©ØÖ® «u•ÒÍ 1 Áx ©ØÖ® CÖv 
AøÇ¨¦US Âsn¨£[PøÍ AøÇzux. 65,000 
£[SPÐUS Âsn¨£[PÒ ö£Ó¨£mhÚ. 5,000 
£[SPÎÀ ö£Ó¨£mh Âsn¨£¨ £n® Á¸zuU 
Piuzxhß v¸¨¤¯ÎUP¨£mhx ©ØÖ® 60,000 
£[SPÎß Âsn¨£uõμºPÐUS JxURkPÒ \õº¦ μõmhõ 
ö\´¯¨£mhÚ. 
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 JxURk ö\´¯¨£mh öuõøPPÎß Põμn©õP ¤Ÿª¯® 
EÒÎmh Âsn¨£[PÎÀ AvP £n® ö\¾zu¨£mhx. 
700 £[SPÒ JxUP¨£mh v¸. \º©õ JxURk £nzøu 
ö\¾zuz uÁÔÂmhõº. 

 ¤ßÚº £n® GßÓ AøÇ¨ø£ ö\¾zuz uÁÔ¯uß 
Põμn©õP AÁμx £[SPÒ C¯US|ºPÍõÀ £Ô•uÀ 
ö\´¯¨£mhÚ. £Ô•uÀ ö\´¯¨£mh AøÚzx £[SPÐ® 
¤ßÚº v¸. öá°ß {ÖÁÚzvØS ÂØP¨£mhÚ, Cx J¸ 
£[SUS ¹. 9 US •Êø©¯õP ö\¾zu¨£mhx. }[PÒ 
£zv›øP EÒÏkPÒ ©ØÖ® £n ¦zuPzvÀ öuõhº¦øh¯ 
EÒÏkPøÍ Aø©UP ÷Ásk®. 

17. Flat private Ltd., was incorporated on 1st July, 2015 to 
take over the running business of Mr. Round with effect 
from 1st April, 2015. The following profit and loss account 
for the year ended 31st March, 2016 was drawn up: 

 Rs.  Rs. 

To commission 2,625 By Gross 
profit 

98,000

To advertisement 5,250 By Bad debt 
realized 

500

To managing Director’s 
Remuneration  

9,000   

To deprecation 2,800   

To salaries 18,000   

To insurance 600   

To preliminary 700   

To rent and taxes 3,000   

To discount 350   

To bad debts 1,250   

To net profit 54,925   

 98,500  98,500
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 The following details are available: 

 (a) The average monthly turnover from July 2015 
onwards was double than that of the previous 
months.  

 (b)  Rent for the first 3 months was paid @ Rs. 200 p.m. 
and there after at a rate increased by Rs.50 p.m.  

 (c)  Bad debt Rs. 350 related to sales effected after  
1st September, 20l5 and the realization of bad debts 
was in respect of debts written off during 2008.  

 (d)  Advertisement expenses were directly proportionate 
to the sales.  

 You are required to find out the profit prior to 
incorporation and state the treatment thereof in the 
books of the company. 

 ¤Íõm uÛ¯õº ¼ªöhm, 1 H¨μÀ 2015 •uÀ v¸ _ØÖ 
C¯[S® ÁoP Gkzx áüø» 1, 2015 AßÖ 
CønUP¨£mhx. ©õºa 31, 2016 Ehß •iÁøh¢u 
BskUPõÚ ¤ßÁ¸® C»õ£ |mhU PnUS 
Áøμ¯¨£mhx. 

 ¹.  ¹. 

Pªåß ö\´¯ 2,625 ö©õzu C»õ£® 98,000
ÂÍ®£μ® 5,250 ÁõμõUPhß ‰»® 

Enμ¨£mhx 
500

÷©»õsø© 
C¯US|›ß 
©v¨§v¯® 

9,000   

÷u´©õÚ® 2,800   
\®£Í® 18,000   
Põ¨¦Öv 600   
•u¼ß ö\»Ä 700   
ÁõhøP ©ØÖ® Á› 3,000   
uÒÐ£i 350   
ÁõμõUPhß 1,250   
{Pμ C»õ£® 54,925   

 98,500  98,500
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 ¤ßÁ¸® ÂÁμ[PÒ EÒÍÚ. 

 (A) áúø» 2015 •uÀ \μõ\› ©õuõ¢vμ ÂØÖ •uÀ 
•¢øu¯ ©õu[PøÍ Âh C¸ ©h[PõP C¸¢ux.  

 (B) •uÀ 3 ©õu[PÐUPõÚ ÁõhøP ¹. 200 p @ m. 
Auß ¤ßÚº ¹. 50 p. m  

 (C) ÁõμUPhß ¹. 350 ö\¨h®£º 1, 2015 US¨ ¤ÓS 
HØ£mh ÂØ£øÚ öuõhº£õÚx ©ØÖ® ÁõμõUPhß 
PøÍ AøhuÀ 2008 B® BsiÀ uÒÐ£i 
ö\´¯¨£mh PhßPÒ öuõhº£õÚ C¸¢ux  

 (D) ÂÍ®£μa ö\»ÄPÒ ÂØ£øÚUS ÷|μi¯õP 
ÂQuõa\õμzvÀ C¸¢uÚ. {ÖÁÚzvß ¦zuP[PÎÀ 
Auß ]Qaø\ø¯ }[PÒ CønUP¨£kÁuØS •ß 
C»õ£zøuU PshÔ¢x TÓ ÷Ásk®. 

18. The net profit of a company after providing for taxation 
for the past five years are Rs. 40,000, Rs. 4,2000,  
Rs. 45,000, Rs. 46,000 and Rs. 47.000. The capital 
employed in the business is Rs. 4,00,000 on which a 
reasonable rate of return of 10% is expected. It is 
expected that the company will be able to maintain its 
super profits for the next five years. 

 (a)  Calculate the value of goodwill bf business on the 
basis of an annuity of super profits taking the 
present value of annuity of one rupee for five years 
at 10% interest as Rs. 3.78. 

 (b)  Calculate the goodwill by capitalizing the excess of 
the annual average distributable profits over the 
reasonable return on capital employed on the basis 
of the same return of 10%. 

 (c)  Calculate goodwill on 5 years purchase of super 
profit. 
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 Ph¢u I¢x BskPÍõP Á› Âv¨ø£ ÁÇ[Q¯ ¤ßÚº 
J¸ {ÖÁÚzvß {Pμ»õ£® ¹.40,000, ¹. 42,000, ¹. 
45,000 ¹. 46,000 ©ØÖ® ¹. 47,000 BS®. ÁoPzvÀ 
£o¯©ºzu¨£mh ‰»uÚ® ¹. 4,00,000 BS®, CvÀ 
{¯õ¯©õÚ Á¸Áõ´ ÂQu® 10% Gvº£õºUP¨£kQÓx. 
{ÖÁÚ® Akzu I¢x BskPÐUS Auß `¨£º 
C»õ£[PøÍ £μõ©›UP •i²® GßÖ Gvº£õºUP¨£kQÓx. 

 (A)  I¢x BskPÐUS J¸ ¹£õ´ Bskz öuõøP°ß 
uØ÷£õøu¯ ©v¨ø£ ¹. 3.78 BP 10% Ámi¯õP 
GkzxU öPõsk, `¨£º C»õ£[PÎß Bskz 
öuõøP°ß Ai¨£øh°À ÁoPzvß 
|Àö»snzvß ©v¨ø£U PnUQk[PÒ. 

 (B)  A÷u 10% Á¸©õÚzvß Ai¨£øh°À 
£¯ß¨£kzu¨£k® ‰»uÚzvß «uõÚ {¯õ¯©õÚ 
Á¸Áõø¯ Âh Á¸hõ¢vμ \μõ\› Â{÷¯õQUPUTi¯ 
C»õ£[PøÍ ‰»uÚ©õUSÁuß ‰»® 
|Àö»snzøuU PnUQk[PÒ. 

 (C)  `¨£º C»õ£zøu Áõ[Q¯ 5 BskPÎÀ 
|Àö»snzøu PnUQk[PÒ. 

19. Following balance are extracted on 31.3. 2012 from the 
books of CEE BEE Ltd: 

Factory premises at 
cost 

4,50,000 30,000 7% 
preference 
shares of 
Rs. 10 each

3,00,000

Plant and 
Machinery at cost 

3,49,160 60,0000 
Equity 
share of 
Rs. 10 each

6,00,000

Motor Lorries at 
cost 

73,000 Profit and 
loss a/c 

16,240

Sundry Debtors 1,21,780 Gross 
profit for 
the year 

2,46,640

Bad debts written 
off 

2,850 Provision 
for 
doubtful 
debts 

9,000
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Rent, rates and 
taxes 

28,400 Gross 
profit for 
the 

2,46,640

Advertisement 19,500 Sundry 
Creditors 

1,29,640

Cash in hand and at 
bank 

68,500 Transfer 
fees 

110

Directors fees 3,600 Accrued 
wages 

12,840

Audit fees 10,000 Staff 
benevolent 
fund 

17,900

Stock on 31.03.2012 1,14,600  

Rent and taxes paid 
in Advance  

7,980   

Salaries and wages 32,000   

Dividend paid on    

On Preference 
shares 

21,000 

On Equity Shares 
(interim) 

15,000   

Discount on issue of 
shares 

15,000   

 13,32,370  13,32,370

 The provision for doubtful debts is to be made upto  
Rs. 10,200. The factory premises, plant and machinery 
and motor lorries are to be depreciated by 3%, 15% and 
20% respectively. The authorized capital of the company 
is Rs. 10,00,000 divided into 1,00,000 shares of Rs. 10 
each. You are required to prepare: (a) A profit and loss 
account for the year ended 31st March, 2012. (b) A balance 
sheet as at 31st March, 2012 in the form prescribed under 
the companies Act, 1956. Previous year’s figures are not 
required and also ignore taxation. 
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 31.3.2012 AßÖ ¤ßÁ¸® C¸¨¦ ¤›zöukUP¨£kQÓx. 
CEE BEE AvPõμ \ø£°ß ¦zuP[PÎÀ C¸¢x. 

 ¹.  ¹. 

öuõÈØ\õø» ÁÍõP® 4,50,000 30,000 7% •ßÝ›ø© 
£[SPÒ u»õ ¹. 10 

3,00,000

Bø» ©ØÖ® 
C¯¢vμ[PÒ 

3,49,160 60,0000 \õuõμn £[S 
u»õ ¹.10  

6,00,000

÷©õmhõº »õ›PÒ 73,000 C»õ£ |mh P/S 16,240

£Ø£» PhÚõÎPÒ 1,21,780 C¢u Bsiß ö©õzu 
C»õ£® 

2,46,640

ÁõμõUPhß uÒÐ£i 2,850 I¯UPhß JxUS 9,000

ÁõhøP, ÂQu[PÒ 
©ØÖ® Á›PÒ 

28,400 £Ø£» PhÜ¢÷uõº 1,29,640

ÂÍ®£μ® 19,500  

øP°¾® Á[Q°¾® 
öμõUP® 

68,500 Ch ©õØÓU Pmhn 110

C¯US|º Fv¯® 3,600 vμÒ T¼ 12,840

uoUøP Pmhn® 10,000 FÈ¯ºPÒ P¸øn {v 17,900

\μUQ¸¨¦ 31.03.2012 1,14,600  

ÁõhøP ©ØÖ® •ß 
£n® ö\¾zu¨£mh 
Á›PÒ  

7,980   

\®£Í® ©ØÖ® 
Fv¯® 

32,000   

ö\¾zu¨£mh 
£[Q»õ £[SPÒ 

   

•ßÝ›ø© 
£[SPÎÀ 

21,000 

£[S £[SPÎÀ 
(CøhUPõ»®) 

15,000   

£[SPÎß 
öÁÎ±miÀ 
uÒÐ£i 

15,000   

 13,32,370  13,32,370
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 \¢÷uPU PhßPÐUPõÚ JxURk ¹. 10,200 Áøμ 
ö\´¯¨£h EÒÍx. öuõÈØ\õø» ÁÍõP®, Bø» ©ØÖ® 
C¯¢vμ[PÒ ©ØÖ® ÷©õmhõº »õ›PÒ •øÓ÷¯ 3%, 15% 
©ØÖ® 20% SøÓUP¨£h EÒÍÚ. {ÖÁÚzvß 
A[RP›UP¨£mh ‰»uÚ® ¹. 10,00,000 Ãu® 1,00,000 
£[SPÍõP ¤›UP¨£mk u»õ ¹. 10. }[PÒ u¯õº ö\´¯ 
÷Ásk®: 

 (A) ©õºa 31, 2012 Ehß •iÁøh¢u BskUPõÚ 
C»õ£ |mhU PnUS 

 (B) 1956 B® Bsk {ÖÁÚ[PÒ \mhzvß RÌ 
£›¢xøμUP¨£mh £iÁzvÀ ©õºa 31, 2012 CÀ 
C¸¨¦{ø» SÔ¨¦. •¢øu¯ Bsk ¦ÒÎ 
ÂÁμ[PÒ ÷uøÁ°Àø» ©ØÖ® Á›Âv¨ø£²® 
¦ÓUPoUQßÓÚ.  

20. The following is the balance sheet of United Industries 
Ltd on 31.12.18 

Liabilities Rs. Assets Rs. 

7,500 Pref Sh of 
Rs.100 each 

7,50,000 Leasehold 
premises 

1,30,800

5,000 Eq. Sh of 
Rs. 100 each 

5,00,000 Machinery 42,200

Sundry 
Creditors 

30,000 Sundry debtors 76,500

Bank Overdraft 20,000 Patents 8,50,000

  Stock in trade 55,000

  Cash in hand 500

  Discount on issue 
of Shares 

18,000

  Preliminary 
expenses 

12,000

  Profit and loss A/c 1,15,000

 13,00,000  13,00,000
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 The company suffered huge losses and was not getting on 
well. The following scheme of reconstruction was adopted: 
(a) the preference shares be reduced to and equal number 
of fully paid shares of Rs. 50 each. (b) the ordinary shares 
be reduced to an equal number of shares of Rs. 25 each. 
The amount available be used to write off Rs. 30,800 off 
the leasehold premises. Rs.15000 off stock, 20% off 
machinery and sundry debtors, and the balance available 
(after writing off the deferred expenses) off patents. 
Journalize the transactions and balance sheet after 
reconstruction has been carried out 31.12.18. 

 AßÖ ²øÚöhm CshìmŸì ¼ªöhm {ÖÁÚzvß 
C¸¨¦ {ø»U SÔ¨¦ ¤ßÁ¸©õÖ: 

Liabilities ¹. Assets ¹. 
7,500 
•ßÝ›ø©¨ 
£[S u»õ ¹. 
100 

7,50,000 SzuøP ÁÍõP® 1,30,800

5,000 \õuõμn 
£[S u»õ  
¹. 100 

5,00,000 C¯¢vμz öuõSv 42,200

£Ø£» 
PhÜ¢÷uõº 

30,000 £Ø£» PhÚõÎPÒ 76,500

Á[Q ÷©ÀÁøμ 
£ØÖ 

20,000 Põ¨¦›ø©PÒ 8,50,000

  ÁºzuPzvÀ £[S 55,000
  øP°À öμõUP® 500
  £[SPÎß 

öÁÎ±mÀ 
uÒÐ£i 

18,000

  Bμ®£ ö\»ÄPÒ 12,000
  C»õ£ |mh® P/S 1,15,000
 13,00,000  13,00,000

 {ÖÁÚ® ö£¸® CÇ¨¦PøÍ \¢vzux ©ØÓ® \›¯õP 
CÀø». ¤ßÁ¸® ¦Úμø©¨¦z vmh® HØÖU 
öPõÒÍ¨£mhx: 

 (A) •ßÝ›ø©¨ £[SPÒ JÆöÁõßÖ® ¹. 50 
•Êø©¯õPa ö\¾zu¨£k® £[SPÍõPU 
SøÓUP¨£h ÷Ásk® 
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 (B) \õuõμn £[SPÒ JÆöÁõßÖ® ¹. 25 GßÓ \© 
GsoUøP°»õÚ £[SPÍõP SøÓUP¨£kQßÓÚ. 
SzuøP ÁÍõPzv¼¸¢x ¹. 30,800 uÒÐ£i,  
¹. 15,000 BL¨ìhõU, C¯¢vμ[PÒ ©ØÖ® £Ø£» 
PhÚõÎPÐUS 20% uÒÐ£i, ©ØÖ® QøhUS® «v 
(Jzv øÁUP¨£mh ö\»ÄPøÍ uÒÐ£i ö\´u 
¤ÓS) Põ¨¦›ø©PÒ uÒÐ£i ö\´¯ 
£¯ß£kzu¨£k®. 

  öPõkUPÀ Áõ[PÀPøÍ £zv›øP¯õP u¯õ›zx «Ò 
Pmhø©¨¦ ÷©ØöPõÒÍ¨£mh ¤ßÚº C¸¨¦ 
{ø»USÔ¨ø£z u¯õ›UPÄ®. 

——————— 
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B.Com. DEGREE EXAMINATION, APRIL 2022. 

Fifth Semester 

Corporate Secretaryship 

ECONOMIC LAWS 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. State the objectives of Industries (Development and 
Regulation Act), 1951. 

 öuõÈØ\õø»°ß ÷|õUP[PøÍ TÖP. (ÁÍºa] ©ØÖ® 

JÊ[S•øÓ \mh®) 1951. 

2. Define an industry. 

 öuõÈØ\õø» Gß£uøÚ Áøμ¯Ö. 

3. State the objectives of competition Act, 2002. 

 ÷£õmi\mh® 2002 À EÒÍ ÷|õUPzøu TÖP. 

4. What is Anti Competitive Agreement? 

 ÷£õmi Gvº¨¦ J¨£¢u® GßÓõÀ GßÚ? 

5. State the differences between FEMA and FERA. 

 FEMA  ©ØÖ® FERA EÒÍ ÷ÁÖ¨£õkPøÍ TÖP. 

6. Who is an Authorized person? 

 A[RP›UP¨£mh |£º Gß£Áº ¯õº? 

Sub. Code 
7BCS5C3 
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7. State the objectives of Consumer Protection Act, l986. 

 ~Pº÷Áõº £õxPõ¨¦ \mh® 1986 À ÷|õUPzøu TÖP. 

8. Define a consumer under Consumer Protection Act, 1986. 

 ~Pº÷Áõº £õxPõ¨¦ \mh® 1986 À ~Pº÷Áõº Áøμ¯Ö. 

9. Define Environmental Pollutant. 

 _ØÖ`ÇÀ ©õ_¨£õmøh Áøμ¯Ö. 

10. What is hazardous substance? 

 ChºÂøÍUTi¯ ö£õ¸Ò GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Discuss the registration of Industry under 
Industrial Policy, 1991. 

   öuõÈØ\õø» öPõÒøP 1991 £i öuõÈØ\õø» £vÄ 

ö\´uÀ SÔzx ÂÁõvUP. 

Or 

 (b) State the offences and penalties under Industrial 
Policy, 1991. 

   öuõÈØ\õø» öPõÒøP 1991 £i SØÓ[PÐ® ©ØÖ® 

A£μõu[PÒ £ØÖ TÖP. 

12. (a) Discuss Abuse of Dominant position. 

   BvUP {ø» xè¤÷μõ¯ {ø»ø¯ ÂÁõvUP. 

Or 

 (b) Discuss the provisions relating to monopolistic and 
restrictive trade practices.  

   •ØÖ›ø© ©ØÖ® Pmk£kzu¨£mh ÁºzuP 

|øh•øÓPÒ öuõhº£õÚ Âv•øÓPøÍ ÂÁõvUP. 
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13. (a) List the capital account transactions under FEMA. 

   FEMAÀ EÒÍ •u¼Ú PnUS |hÁiUøPPøÍ 

ÁøP¨£kzxP. 

Or 

 (b) Highlight the duties of an Authorised person. 

   A[QP›UP¨£mh |£ºPÎß Phø©PøÍ 

•ßÛø»¨£kzxP? 

14. (a) Explain the rights of consumer under Consumer 
Protection Act, 1986. 

   ~Pº÷Áõº £õxPõ¨¦ \mh® 1986ß £i ~Pº÷Áõ›ß 

Phø©PøÍ ÂÍUSP. 

Or 

 (b) Discuss the nature and scope of remedies for 
consumers under Consumer Protection Act, 1986.  

   ~Pº÷Áõº £õxPõ¨¦ \mh® 1986ß £i ~Pº÷Áõ¸UPõÚ 

wºÄPÎß ußø© ©ØÖ® ÷|õUP® SÔzx ÂÁõvUP. 

15. (a) Discuss the powers of Central Government to 
improve and protect the environment. 

   _ØÖa`Çø» ÷©®£kzxÁuØS® ©ØÖ® £õxPõUPÄ® 

©zv¯ Aμ]ß BvPõμ[PøÍ £ØÔ ÂÁõvUP. 

Or 

 (b) Highlight the role of Environmental Laboratories. 

   _ØÖa`ÇÀ B´Á[PÎß £[øP •ßÛø»¨£kzxP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Enumerate the role of Industrial Policy, 1991. 

 öuõÈØxøÓ öPõÒøP 1991ß £[øP PnUQkP. 



F–6867 

  

    4

17. Elucidate the composition of Competition Commission of 
India. 

 C¢v¯ ÷£õmi Bøn¯zvß Aø©¨ø£ öuÎÄ¨£kzxP. 

18. “The RBI promotes the orderly development and 
maintenance of foreign exchange market in India”  
Critically evaluate the statement. 

 “C¢v¯õÂß ø©¯ Á[Q A¢{¯ ö\»õÁo \¢øu°ß 

JÊ[PõÚ ÁÍºa] ©ØÖ® £μõ©›¨ø£ FUSÂUQÓx” C¢u 

AÔUøPø¯ Â©º\Ú Ÿv¯õP ©v¨¥k ö\´²P. 

19. Discuss Consumer Protection Council under Consumer 
Protection Act, 1986 

 ~Pº÷Áõº £õxPõ¨¦ \mh® 1986 RÌ ~Pº÷Áõº £õxPõ¨¦ 

\ø£ø¯ ÂÁõvUP. 

20. Enumerate the measures undertaken by the Government 
in prevention and control of Environment Pollution.  

 _ØÖa`ÇÀ ©õ_£õmøhz uk¨£v¾® Pmk¨£kzxÁv¾® 

Aμ_ ÷©ØöPõsh |hÁiUøPøÍ ÂÁ›UP. 

 

 

 
———————— 



  

F–6868   

B.Com.(CS) DEGREE EXAMINATION, APRIL 2022 

Corporate Secretaryship 

Elective — DIRECT TAXES 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is the concepts of tax? 

 Á› £ØÔ¯ P¸zxUPÒ GßÚ? 

2. What is the basic principles of charging income tax as per 
Section-4? 

 ¤›Ä&4ß £i Á¸©õÚ Á› Á`¼¨£uØPõÚ Ai¨£øhU 
öPõÒøPPÒ GßÚ? 

3. What is computation of income in salary? 

 \®£ÍzvÀ Á¸©õÚzøu PnUQkuÀ GßÓõÀ GßÚ? 

4. What is Tax free salary? 

 Á› CÀ»õu \®£Í® GßÓõÀ GßÚ? 

5. What are the five sources of income? 

 I¢x Á¸©õÚ Buõμ[PÒ ¯õøÁ? 

Sub. Code 
7BCSE1A 
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6. How do you calculate Professional Income? 

 öuõÈÀ •øÓ Á¸©õÚzøu GÆÁõÖ PnUQkQÕºPÒ? 

7. What are the provisions regarding clubbing income? 

 Á¸©õÚzøu “Tmk ö\´Áx öuõhº£õP” HØ£õkPÒ 

¯õøÁ? 

8. What is Clubbing of income on income tax? 

 Á¸©õÚ Á› «uõÚ Á¸©õÚzøu Tmk ö\´Áx GßÓõÀ 

GßÚ? 

9. Who is the authority of income tax? 

 Á¸©õÚ Á› AvPõ› ¯õº? 

10. What are the power of income tax authorities? 

 Á¸©õÚ Á› AuPõ›PÎß AvPõμ® GßÚ? 

 Part B   (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) X is a foreign citizen, since 1999 he comes to India 

every in the month of April for 105 days. Find out 

the residential status of X for the Assessment Year 

2021-22.  

  If  

  (i) X is not a person of Indian Origin ; and  

  (ii) X was born in Poona in 1946. 
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  GUì J¸ L£õ›ß Si©Pß 1999 •uÀ AÁº 

JÆöÁõ¸ Bsk® H¨μÀ ©õuzvÀ 105 |õmPÐUS 

C¢v¯õÄUS Á¸QÓõº GßÓõÀ 2021-22 B® 

©v¨¥mk BsiØPõÚ X Si°¸¨¦ {ø»ø¯U 
PshÔ¯Ä®.  

  (i) X C¢v¯õ Á®\õÁÎø¯a ÷\º¢u |£º AÀ» ; 
©ØÖ® 

  (ii) X 1946 CÀ §ÚõÂÀ ¤Ó¢uõº. 

Or 

 (b) Mr. X a German National is appointed in India as a 
senior scientific officer on 1.4.2016. On January 31 
2017 he goes to Iran on deputation for a period of 
three years but leaves his wife and children in 
India. On May 1st 2018 he comes to India and takes 
with him his family on June 30th 2018. He return to 
India and joins his original job on 2nd February 
2019. 

  Determine his residential status for the Assessment 
Year 2021-22. 

  v¸ X J¸ öáº©ß ÷|åÚÀ 1.4.2016 AßÖ ‰zu 
AÔÂ¯À AvPõ›¯õP C¢v¯õÂÀ 
{¯ªUP¨£kQÓõº. áÚÁ› 31, 2017 AßÖ AÁº 
‰ßÖ BskPÒ yxUSÔ¨¦UPõP Dμõß ö\ÀQÓõº. 
BÚõÀ AÁμx ©øÚÂ ©ØÖ® SÇ¢øuPøÍ 
C¢v¯õÂÀ Âmk ö\ÀQÓõº. ÷© 1, 2018 AßÖ 
AÁº C¢v¯õ Á¢x áúß 30, 2018 AßÖ uÚx 
Sk®£zxhß AøÇzxa ö\ÀQÓõº. AÁº C¢v¯õ 
v¸®¤ ¤¨μÁ› 2, 2019 AßÖ uÚx Aμ_ 
÷Áø»°À CønQÓõº. 2021-&22 ©v¨¥mk 
BskUPõÚ AÁμx Si°¸¨¦ {ø»ø¯z 
wº©õÛUPÄ®. 
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12. (a) Mr. X was employed in a company. He retired from 

service on 1st January 2021 after completing 30 

years of service. From 1st 2019 his pay scale was Rs. 

8,000-200, 11,000-300, 13,000 and he was getting 

D.A. @ 20% of his pay under the terms of 

employment. He had seven months earned leave to 

his credit (on the basis of Rs. day per year) which 

was approved. Hence he was paid Rs.57,400 as 

salary and Rs.11,480 as D.A. Compute the amount 

exempt regarding encashment of earned leave for 

Assessment year 2021-22. 

  v¸ GUì (X) J¸ {ÖÁÚzvÀ £o¦›¢uõº. 30 

BskPÒ £o •izu ¤ßÚº áÚÁ› 1&2021 AßÖ 

AÁº ÷\øÁ°À C¸¢x K´Ä ö£ØÓõº. áÚÁ› 1 

2019 •uÀ AÁμx Fv¯ ÂQu® ¹.8,000&200, 

11,000&300, 13,000 BP C¸¢ux. ÷©¾® AÁº 

Áõ´¨¤ß RÌ uÚx Fv¯zvÀ 20% @ 

APÂø»¨£iø¯¨ ö£ØÖ Á¸QÓõº. AÁº uÚx 

ö£¸ø©US HÊ ©õu \®£õvzu Âk¨¦ (Á¸hzvØS 

¹.|õmPÒ Ai¨£øh°À) J¨¦uÀ AÔUP¨£mhx. 

GÚ÷Á, AÁ¸US ¹.57,400 \®£Í©õPÄ®, ¹.11,480 

APÂø»¨£i¯õPÄ® ÁÇ[P¨£mhx. 2021&22 B® 

BsiØPõÚ Dmi¯ Âk¨¤ß öμõUP©õUSuÀ 

öuõhº£õÚ öuõøPø¯ PnUQkP. 

Or 
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 (b) From the following particulars, calculate the salary 
income of Mr. Haridas (an employee of an 
individual) for the Assessment year 2021-22. 

 Rs.  

Salary 5,500 per month

HRA 2,400 per month

DA 5,000 per month

Entertainment allowance 1,200 per month

  Mr. Haridas and his employer contribute to 
recognised provident fund 14% of salary. One small 
car is allowed to him by his employer both for 
private and official use. Expenses of car are borne 
by the employer. He lives in a rented house monthly 
rent being Rs.3,000. Mr. Haridas is working at 
Madurai. 

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x 2021&22 B® 
BsiØPõÚ ©v¨¥mk BsiØPõÚ v¸. í›uõêß 
(J¸ uÛ |£›ß FÈ¯º) \®£Í Á¸©õÚzøuU 
PnUQk . 

 ¹.  
©õu \®£Í® 5,500 (©õu®)

Ãmk ÁõhøP¨£i  2,400 (©õu®)

APÂø»£i ©õu® 5,000 (©õu®)

ö£õÊx÷£õUS £i 1,200 (©õu®)

  v¸. í›uõì ©ØÖ® AÁμx •u»õÎ 
A[RP›UP¨£mh Á¸[Põ» øÁ¨¦ {vUS 14% 
\®£ÍzvÀ £[PÎUP ÷Ásk®. J¸ ]Ô¯ Põº 
uÛ¯õº ©ØÖ® AvPõμ¨§ºÁ £¯ß£õmiØPõP 
AÁμx •u»õÎ¯õÀ AÁ¸US AÝ©vUP¨£kQÓx.  

  Põº ö\»ÄPÒ •u»õÎ¯õÀ HØP¨£kQßÓÚ. AÁº 
¹.3,000 ÁõhøP ÃmiÀ Á]UQÓõº. v¸. í›uõì 
©xøμ°À £o¦›QÓõº. 
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13. (a) From the following P&L account of a Merchant for 
the year ended 31st March 2021. Ascertainment his 
taxable profit from Business and House property 

 Rs.  Rs. 

Office salary 4,800 Gross profit 1,35,532

General expenses 2,550 Commission 1,205

Bad debts written off 2,100 Discount 751

Reserve for bad debts 3,000 Sundry Receipts 202

Fire insurance premium 450 Rent of building 52,640

Advertisement 2,500 Capital gain 3,000

Interest on capital 1,000 

Interest on Bank loan 1,550 

Donation 3,875 

Depreciation 1,200 

Net profit 1,70,305 

 1,93,330 1,93,330

  The amount of Depreciation Allowable is Rs.1,000. 

  ©õºa 31, 2021 Ehß •iÁøh¢u BsiØPõÚ 
ÁoP›ß ¤ßÁ¸® C»õ£ |mh PnUS •uÀ 
ÁoP® ©ØÖ® Ãmk ö\õzxUPÎÀ C¸¢x AÁμx 
Á›ÂvUPzuUP C»õ£zøu EÖv¨£kzxuÀ : 

   

 ¹.  ¹. 

A¾Á»P \®£Í® 4,800 ö©õzu C»õ£® 1,35,532
ö£õx ö\»ÄPÒ 2,550 Bøn¯® 1,205
ÁõμõU PhßPÒ 2,100 uÒÐ£i 751
ÁõμõU PhßPÐUPõÚ C¸¨¦ 3,000 £Ø£» ÁμÄPÒ 202
w Põ¨¥mk ¤Ÿª¯® 450 Pmih® ÁõhøP 52,640
ÂÍ®£μ® 2,500 ‰»uÚ Buõ¯® 3,000
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 ¹.  ¹. 

‰»uÚzvß «uõÚ Ámi 1,000 
Á[Q Phß «uõÚ Ámi 1,550 
|ßöPõøhPÒ 3,875 
÷u´©õÚ® 1,200 
{Pμ C»õ£® 1,70,305 

 1,93,330 1,93,330

  AÝ©vUP¨£mh ÷u´©õÚzvß AÍÄ ¹.1,000 
BS®. 

Or 

 (b) ‘P’ sold a house property on 30th Nov. 2012 for 
Rs.6,50,000. He had acquired this property from O 
under on 1.6.1991 and expended Rs.19,900 on its 
improvement in 1991-92. 

  Compute P’s taxable income under the Head 
“Capital gain” for the Assessment year 2021-22 
assuming that O had acquired this property at a 
cost of Rs.40,000 in 1981-82 and further spent 
Rs.15,000 during the same year on its improvement. 

  The cost inflation index are as under : 

  1982-82 – 100, 1992-92 – 199, 2012-13 – 852. 

  30.11.2012 AßÖ P Ãmk ö\õzvøÚ ¹.6,50,000US 
ÂØ£øÚ ö\´QÓõº. AÁº 1.6.1991 AßÖ O 
Gß£Á›hª¸¢x Caö\õzvøÚ Áõ[SQÓõº ©ØÖ® 
¹.19,900 ö\õzvøÚ Â›ÁõUP® ö\´x ÷©¾® 
1991&92 B® Bsk ÁÍºa] AøhQÓx. 

  P °ß Á› Á¸©õÚzøu ‰»uÚ Buõ¯® uø»¨¤ß 
RÌ Á› Á¸©õÚ BshõÚ 2021&22 ØS PnUQkP. 
Ez÷u\©õP O Caö\õzøu 1981&82 BsiÀ 
¹.40,000 ö\»ÂÀ Áõ[SQÓõº ©ØÖ® A÷u BsiÀ 
ö\õzøu Â›ÁõUP® ö\´ÁuØPõP ¹.15,000 ö\»Ä 
ö\´QÓõº. ö\»Ä £nÃUP SÔ±kPÒ ¤ßÁ¸©õÖ. 

  1982-82 – 100, 1992-92 – 199, 2012-13 – 852.  
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14. (a) The following are the particulars of Income of Shri 
Hari for the previous year ended 31st March 2021 

 Rs.

Loss from House property 6,000

Interest received on sundry allowance 3,000

Business income (from cloth) 2,70,000

Share of loss in a firm 18,000

Loss in speculation 3,200

Dividend from an Indian company 5,000

Capital gain from short-term capital assets 22,000

Capital loss from LIC asset 21,000

  Compute the gross total income of Shri Hari after 
setting of the different losses against other income 
and state the amount of losses to be carried 
forwarded. 

  2021 ©õºa 31 B® BsiØUS •iÁøh¢u •¢øu¯ 
BskUPõÚ v¸ ÿ í›°ß Á¸©õÚ Â£μ[PÒ 
¤ßÁ¸©õÖ : 

 ¹.

Ãk ö\õzx 6,000

CÇ¨¦ \sm› AmÁõßì «x Ámi ö£Ó¨£mhx 3,000

ÁoP Á¸©õÚ® (xo°À C¸¢x) 2,70,000

J¸ {ÖÁÚzvÀ CÇ¨¦ £[S 18,000

FPzvÀ CÇ¨¦ 3,200

C¢v¯ {ÖÁÚzvß £[Põuõ¯® 5,000

SÖQ¯ Põ» ‰»uÚ ö\õzxUPÎÀ C¸¢x ‰»uÚ Buõ¯® 22,000

}sh Põ» ‰»uÚ ö\õzxUPÎÀ C¸¢x ‰»uÚ CÇ¨¦ 21,000
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  ÿ í›°ß ö©õzu Á¸©õÚzøu ©ØÓ 
Á¸©õÚzvØUS GvμõP £À÷ÁÖ CÇ¨¦PøÍ 
{ºn°zu ¤ÓS PnUQk[PÒ ©ØÖ® •ß÷ÚõUQ 
öPõsk ö\À»¨£h ÷Ási¯ CÇ¨¦PÎß AÍøÁU 

TÓÄ®. 

Or 

 (b) From the following information of a trader, compute 

the gross total income for the Assessment year 

2021-22. 

 Rs. 

  (i) Income from House Property 2,50,000 

  (ii) Business loss   60,000 

  (iii) Current year’s depreciation 10,000 

  (iv) Business loss of previous year 50,000 

  (v) Unabsorbed depreciation of   

 preceding years  30,000 

  (vi) Short term capital gain loss 40,000 

  (vii) Long term capital gain  50,000 

  J¸ ÁºzuP›ß ¤ßÁ¸® uPÁ¼¸¢x 

2021&22 ©v¨¥mk BskUPõÚ ö©õzu 

Á¸©õÚzøuU PnUQk. 

 ¹. 

  (i) Ãk ö\õzx Á¸©õÚ® 2,50,000 

  (ii) ÁoP- CÇ¨¦   60,000 

  (iii) |h¨¦ Bsk ÷u´©õÚ® 10,000 
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 ¹. 
  (iv) •¢øu¯ Bsiß ÁoP CÇ¨¦ 50,000 
  (v) •¢øu¯ BskPÎß EÔg\¨£hõu   

 ÷u´©õÚ®   30,000 
  (vi) SÖQ¯Põ» ‰»uÚ Buõ¯ CÇ¨¦ 40,000 
  (vii) }shPõ» ‰»uÚ® ö£ÖQÓx.  50,000 

15. (a) What are the powers of Income tax authorities? 

  Á¸©õÚ Á› AvPõ›PÎß AvPõμ[PÒ GßÚ? 

Or 

 (b) Briefly discuss about “Assessment” in income tax 
authorities. 

   “©v¨¥k”  Á¸©õÚ Á› AvPõ›PÒ £ØÔ _¸UP©õP 
ÂÁõvUP.  

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. State any ten exemption income from Income tax under 
Income Tax 1961. 

 Á¸©õÚ Á› 1961 ß RÌ Á¸©õÚ Á›°¼¸¢x £zx 
Â»US Á¸©õÚ® H÷uÝ® EÒÍuõ GßÖ TÓÄ®. 

17. Mr. X has two houses. First, whose Municipal valuation 
is Rs.37,500 is kept by him for own-residence and the 
second whose Municipal valuation is Rs.50,000 has been 
let out Rs.5,000 p.m. 

 1st House 2nd House
Municipal tax 6,000 10,000
Land Revenue 100 125
Interest on loan taken for 
Reconstruction of the house 32,000 2,100
Fire insurance premium 450 1,200

 Mr.X compute income from House property for the year 
2021-22. 



F–6868 

  

  11

 v¸ X &US Cμsk ÃkPÒ EÒÍÚ. •u»õÁuõP, |Pμõm] 

©v¨¥k ¹.37,500 AÁμx ö\õ¢u Si°¸¨¦UPõP 

øÁUP¨£kQÓx. CμshõÁx |Pμõm] ©v¨¥k ¹.50,000 

¹.5,000 US Âh¨£mkÒÍx. C¢u Cμsk ÃkPÒ 

öuõhº£õÚ ö\»ÄPÒ ¤ßÁ¸©õP : 

 •uÀ Ãk CμshõÁx 

Ãk 

|Pμõm] Á› 6,000 10,000

{» Á¸Áõ´ 100 125

Ãmøh ©Ö^μø©¨£uØPõP  

Áõ[Q¯ PhÝUPõP Ámi 32,000 2,100

w Põ¨¥k ¤Ÿª¯® 450 1,200

 v¸ Xß 2021&22 B® BsiØPõÚ Ãmk ö\õzv¼¸¢x 

vμmh¨£mh Á¸©õÚ® PnUQkP. 

18. Shri N.C. Sharma is a Chartered Accountant. He has 

prepared following income and expenditure account for 

the year ending 31st March 2021 

Income and Expenditure account 

Expenditure Rs. Income Rs. 

Office expenses 10,000 Audit fees 1,70,500

Employee’s salary 5,000 Gift from 

Books other  father-in-law 5,050

than annual publication 5,500 Dividend 8,000
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Expenditure Rs. Income Rs. 

Personal expenses 1,02,000 Profits on sale 

Donation to N.D.F. 500 of investments 6,450

Interest 700  

Income tax 13,300  

Car expenses 2,000  

Net surplus 51,000  

 1,90,000  1,90,000

 You are required to compute his professional income for 

the Assessment year 2021-22 considering points. 

 (a) The car is used equally in official and personal 

purpose and allowed depreciation for official work 

Rs.500 

 (b) Rs.1,000 domestic servant salary is included in 

employees salary 

 (c) Loan has been taken for personal purposes. 

 v¸. N.C. \º©õ £mh¯U PnUPõÍº 2021 ©õºa 31 B® 

÷uv²hß •iÁøh²® BskUPõÚ ¤ßÁ¸® Á¸©õÚ® 

©ØÖ® ö\»ÂÚU PnUøP AÁº u¯õ›zxÒÍõº. 

Á¸©õÚ® ©ØÖ® ö\»ÂÚU PnUS 

ö\»ÄPÒ ¹. Á¸©õÚ[PÒ ¹. 

A¾Á»Pa ö\»ÄPÒ 10,000 uoUøP Pmhn® 1,70,500

FÈ¯º \®£Í® 5,000 ©õ©Úõº Chª¸¢x

Á¸hõ¢vμ £[Põuõ¯®  £›_ 5,050

uÂμ ¦zuP[PÒ 5,500 £[Põuõ¯® 8,000

uÛ¨£mh ö\»ÄPÒ 1,02,000 •u½kPÒ ÂØ£øÚ
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ö\»ÄPÒ ¹. Á¸©õÚ[PÒ ¹. 

N.D.F.US |ßöPõøh 500 «uõÚ C»õ£[PÒ 6,450

Ámi 700  
Á¸©õÚ Á› 13,300  
Põº ö\»ÄPÒ 2,000  
{Pμ E£› 51,000  

 1,90,000  1,90,000

 2021&22 B® BsiØPõÚ ©v¨¥k BsiØPõÚ AÁμx 
öuõÈÀ •øÓ Á¸©õÚzøu ¤ßÁ¸® ÂÁμ[PÒ P¸zvÀ 
öPõsk }[PÒ PnUQh ÷Ásk® 

 (A) C¢u Põº AvPõμ¨§ºÁ ©ØÖ® uÛ¨£mh ÷|õUPzvÀ 
\©©õP £¯ß£kzu¨£kQÓx ©ØÖ® AvPõμ¨§ºÁ 
÷Áø»US ¹.500 ÷u´©õÚzøu AÝ©vUP¨£kQÓx. 

 (B) ¹.1,000 Ãmk FÈ¯º \®£Í® FÈ¯ºPÎß 
\®£ÍzvÀ ÷\ºUP¨£mkÒÍx 

 (C) uÛ¨£mh ÷|õUP[PÐUPõÚ Phß ö£Ó¨£mkÒÍx. 

19. Mrs. Rosy has given the following information about her 
Income. She respect you to find out her Gross total 
income for the Assessment year 2021-22 

 Rs. 
 (a) Salary from M/S Glaxo Ltd. 1,54,000 
 (b) Dividend from Units of UTI 1,500 
 (c) Interest on securities (Gross) 6,000 
 (d) Interest on Fixed deposits in PNB 4,700 
 (e) Profit from Agency Business 2,10,000 
 (f) Loss from speculation of shares 10,000 
 (g) Profit from speculation in silver 5,000 
 (h) First price in Delhi state lottery 1,00,000 
 (i) Gain from playing Rummy in the club 2,000 
 (j)  Loss in flash (card games) with friends 3,000 
 (k)  Loss in Race course bettings 10,000 
 (l) Expenses incurred on maintenance   
  on race horses   30,000 
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 v¸©v ÷μõê uÚx Á¸©õÚ® £ØÔ ¤ßÁ¸® uPÁø» 
öPõkzxÒÍõº. 2021&22 B® BsiØPõÚ ©v¨¥mk 
BskUPõÚ  ö©õzu Á¸©õÚzøuU PshÔÁuØPõP AÁº 
E[PøÍ ©v¨¥mkQÓõº. 

 ¹. 

 (A) G®/Gì Q»õU÷éõ ¼ªöhm¸¢x \®£Í® 1,54,000 

 (B) UTI A»SPÎ¼¸¢x £[Põuõ¯® 1,500 

 (C) £zvμ[PÒ «uõÚ Ámi (ö©õzu®) 6,000 

 (D) PNB&°À {ø»¯õÚ øÁ¨¦PÐUPõÚ Ámi 4,700 

 (E) Höáß] ¤êÚì ‰»® C»õ£® 2,10,000 

 (F) £[SPÎß FPzv¼¸¢x CÇ¨¦ 10,000 

 (G) öÁÒÎ ¹.5,000 FP ÁoPzvß ‰»® C»õ£® 

 ¹. 

  (H) öhÀ¼ ©õ{» »õmh› •uÀ Âø»  1,00,000 

 (I) QÍ¨¤À μ®ª ÂøÍ¯õkÁvÀ C¸¢x Buõ¯® 2,000 

 (J)  |s£ºPÐhß L¤éõèPõºk ÂøÍ¯õmkPÒ  
  CÇ¨¦    3,000 

 (K)  ÷μì ÷PõºêÀ CÇ¨¦ £¢u¯® 10,000 

 (JÍ) £¢u¯U SvøμPøÍ¨ £μõ©›¨£uØPõÚ   
  ö\»ÄPÒ    30,000 

20. Explain the Assessment of HUF and computation of Tax 
liability. 

 C¢x ¤›UP¨£hõu Sk®£ ©v¨¥k ©ØÖ® Á› ö£õÖ¨¦ 
PnUQkuÀ £ØÔ ÂÍUSP. 

  
———————— 
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B.Com. (CS) DEGREE EXAMINATION, APRIL 2022 

Sixth Semester 

Corporate Secretaryship 

CORPORATE ACCOUNTING II  

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all the questions. 

1. List out the ways of winding up of the company. 

 {Ö©® •ØÖ¨ ö£Öu¼ß ÁÈPøÍ¨ £mi¯¼k. 

2. In what order, are the liabilities paid off to the 
preferential creditors? 

GÆÁ›ø\U Qμ©[PÎÀ •ßÝ›ø©U PhÜ¢÷uõ›ß 

PnUQøÚ ö\¾zu¨£kQÓx. 

3. What are the objectives of holding company? 

 ¤i¨¦ {Ö©zvß ÷|õUP® ¯õx? 

4. What are the disadvantages of holding company? 

 ¤i¨¦ {Ö©zvß wø©PÒ ¯õx? 

5. What is re-insurance? 

 ©ÖU Põ¨¥k GßÓõÀ GßÚ? 

6. Explain the term surrenders. 

 \©º¨¤zuÀ – ÂÍUSP. 

Sub. Code 
7BCS6C1 
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7. What is statutory reserve? 

 \mh¨§ºÁ JxUS GßÓõÀ GßÚ? 

8. Write a note on non-performing assets. 

 ö\¯Ø£hõa ö\õzxPÒ – ]Ö SÔ¨¦ ÁøμP. 

9. What is ledger opening balance? 

 ÷£÷μmkz öuõhUP C¸¨¦ GßÓõÀ GßÚ? 

10. Explain Ctrl+F8 key credit note. 

 Ctrl+F8 ÁμÄU SÔ¨¦ – ÂÍUSP. 

 Part B (5  5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Circumstances under which a company may be 
wound up voluntarily. 

   Ga`Ì{ø»°À J¸ {Ö©zvß uß Â¸¨£ •ØÖ¨ 

ö£ÖuÀ ö\¯À C¸UP»õ®. 

Or 

 (b) The particulars relate to X Ltd., which has gone into 
liquidation is as follows: 

Details Rs. 

Preferential creditors 10,000

Unsecured creditors 32,000

Debentures 10,000

  Assets realized Rs 39,650 and liquidation expenses 
amounted to Rs 1,000. The liquidator is entitled to a 
remuneration of 2% on amounts paid to unsecured 
creditors other than preferential creditors. 

  Prepare Liquidator's statement.   
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   ö|õi¨¦ {ø»US ¤ß X ¼ªöhmiß ÂÁμ[PÒ 

¤ßÁ¸©õÖ. 

ÂÁμ[PÒ ¹. 

•ßÝ›ø©U PhÜ¢÷uõº 10,000
¤øÚ²›ø©°À»õU PhÜ¢÷uõº 32,000
PhÜmk¨£zvμ® 10,000

  ö£Ó¨£mh ö\õzxPÒ ¹. 39,650 ©ØÖ® Pø»¨¦ 

ö\»ÄPÒ ¹.1,000 •ßÝ›ø© PhÚõÎPÒ AÀ»õu 

£õxPõ¨£ØÓ PhÚõÎPÐUS ö\¾zu¨£k® öuõøP°À 

2% Fv¯zøu Pø»¨£õÍº  ö£ÖÁõº.  

  Pø»¨£õÍ›ß AÔUøPø¯ u¯õ›UPÄ®. 

12. (a) Explain in detail, how the minority interest is 
calculated. 

   CÍ®£i {ø» Ámi GÆÁõÖ PnUQkÁx Gß£øu 

ÂÍUSP. 

Or 
 (b) From the following balance sheets of X Ltd and  

Y Ltd, as on 31 December 2015, prepare 
consolidated balance sheet.  

Liabilities X Ltd  Y Ltd Assets X Ltd  Y Ltd 
Share capital in  
Re.1 each 

15,000  8,000 Sundry Assets 17,000  16,000 

Sundry 
liabilities 

10,000  8,000 Investment :    

    10,000 shares 
in  
Y Ltd 

8,000  – 

 25,000  16,000  25,000  16,000 

  RÌUPõq® X ¼ªöhm ©ØÖ® Y ¼ªöhmiß  

31 i\®£º 2015® |õøÍ¯ C¸¨¦ {ø»U SÔ¨¤øÚU 

öPõsk, JßÔønUP¨£mh C¸¨¦ {ø»U 

SÔ¨¤øÚz u¯õº ö\´P. 
31 i\®£º 2015® |õÍßøÓ¯ C¸¨¦ {ø»U SÔ¨¦ 

ö£õÖ¨¦PÒ X ¼m 

(¹.) 
 Y ¼m 

(¹.) 
ö\õzxPÒ X ¼m 

(¹.) 
 Y ¼m 

(¹.) 
£[S •uÀ ¹.1 Ãu® 15,000  8,000 Cuμa ö\õzxPÒ 17,000  16,000 
Cuμ¨ ö£õÖ¨¦PÒ 10,000  8,000 •u½kPÒ :    
    Y  ¼ªöhmiß 

10,000 £[SPÒ

 
8,000 

  
– 

 25,000  16,000  25,000  16,000 
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13. (a) What is bonus? What are the different types of 
bonus? 

   ªøP³v¯® GßÓõÀ GßÚ? Auß ÁøPPÒ ¯õx? 

Or 

 (b) The Life Assurance Fund of Moon Life Assurance 
Corporation showed a balance of Rs. 9,50,000 at the 
end of 31 March 2016, before considering the 
following items: 

  (i) Bonus utilized in reduction on premium  
Rs. 90,000. 

  (ii) Outstanding premium Rs. 2,00,000. 

  (iii) Interest accrued on investments less income 
tax Rs. 50,000. 

  (iv) Claim intimated but not yet admitted  
Rs. 30,000. 

  (v) Claims covered under re-insurance Rs. 10,000 
compute the balance of Life Assurance Fund. 

   ‰ß ÁõÌ|õÒ Põ¨¥mk {Ö©zvß 31 ©õºa 2016® 

|õøÍ¯ ÁõÌ|õÒ Põ¨¦Öv {v C¸¨¦, RÌUPsh 

ÂÁμ[PÒ PnUQÀ öPõsk Á¸®•ß  

¹. 9,50,000ø¯U Põmi¯x. 

  (i) •øÚ©® SøÓ¨¦US £¯ß£kzu¨£mh 

ªøP³v¯® ¹. 90,000. 

  (ii) {¾øÁ •øÚ©® ¹. 2,00,000. 

  (iii) •u½miß «uõÚ Ámi {¾øÁ Á¸©õÚ Á› 

PÈzu¨ ¤ß ¹. 50,000. 

  (iv)  AÔÂUP¨£mh BÚõÀ Põ¨¥mk {Ö©zuõÀ 

CßÝ® AÝ©vUPõu E›ø©U ÷PõμÀ ¹. 30,000. 

   (v) ©ÖU Põ¨¥miß RÌ £õxPõUP¨£mh E›ø©U 

÷PõμÀ ¹. 10,000 ÁõÌ|õÒ Põ¨¦Öv {v 

C¸¨¤øÚU PshÔP. 
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14. (a) List out the contents of Schedule 12 of Contingent 
Liabilities in the banking company accounts. 

   Á[Qz öuõÈÀ PnUQÀ Gvº¨£õμõ {PÌÄ¨ 

ö£õÖ¨¤øÚU SÔUS® AmhÁøn 12À EÒÍ 

ÂÁμ[PøÍ Á›ø\¨£kzxP. 

Or 

 (b) On 31 March 2016, India Commercial Bank Ltd, 
found its advances which we classified as follows: 

Details Rs. 

Standard assets 14,90,000

Sub-standard assets 92,800

Doubtful assets (Secured): 

Doubtful up to one year 25,660

Doubtful for 1 to 3 years 15,640

Doubtful for more than 3 years 6,580

Loss assets 10,350

  Calculate the amount of provision to be made by the 
bank against the above mentioned advances. 

   31 ©õºa 2016® |õøÍ¯, C¢v¯õ ÁoP Á[Q 

¼ªöhmiß •ßÜkU Phß RÌUPshÁõÖ 

ÁøP¨£kzu¨£mkÒÍx. 

ÂÁμ[PÒ ¹. 

Áøμ¯ÍÄa ö\õzxPÒ 14,90,000

xøn Áøμ¯ÍÄa ö\õzxPÒ 92,800

I¯•ÒÍa ö\õzxPÒ (ChμØÓx) : 

J¸ Á¸h® Áøμ I¯•ÒÍx 25,660

1 ¼¸¢x 3 Á¸h® Áøμ I¯•ÒÍx 15,640

3 Á¸h® AuØS ÷©À I¯•ÒÍx 6,580

|mha ö\õzxPÒ 10,350

  ÷©ØTÔ¯ •ßÜkU PhÝUS, Á[Q GÆÁõÖ JxUSz 

öuõøP E¸ÁõUS® GÚU PshÔP. 
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15. (a) Write a note on: (i) Receivables, (ii) Payables,  
(iii) Outstanding ledger. 

   ]Ö SÔ¨¦ ÁøμP : (i) ö£ÖuÀPÒ,  

(ii) ö\¾zuÀPÒ, (iii) {¾øÁ¨ ÷£÷μk. 

Or 

 (b) What is meant by bill wise details? How is to be 
activated? 

   Âø»ÂÁμ¨£mi¨£i¯õÚ ÂÁμ[PÒ GßÓõÀ GßÚ? 

Aøu GÆÁõÖ ö\¯À£kzxÁx? 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Give the format of Revenue Account of General Insurance 
business. 

ö£õxU Põ¨¥mk {ÖÁÚzvß Á¸Áõ´ PnUQß ©õv› 

ÁiÁ® u¸P. 

17. ST Ltd went into voluntary liquidation with the following 
liabilities. 

Details  Rs. 

Trade creditors  12,000 

Bank overdraft  2,00,000 

Capital:   

10,000 Preference shares of Rs. 10 each, Rs. 7 called up 
(with prior rights) 

 70,000 

10,000 equity shares of Rs. 10 each, Rs. 9 called up Less 
calls in arrear 

90,000
2,000 

 
88,000 

Cash received in anticipation of calls :   

On preference shares 24,000  

On ordinary shares 4,000 28,000 
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 The assets realized Rs.2,00,000. Expenses of liquidation 

amounted to Rs.2,000 and liquidator’s remuneration 

Rs.3,000.  Prepare liquidator’s final statement of account.  

ST Áøμ¯Ö {Ö©® RÌUPsh¨ ö£õÖ¨¦PÐhß ö|õi¨¦ 

{ø»¯øh¢ux. 

ÂÁμ[PÒ  ¹. 

ÁoPU PhÜ¢÷uõº 12,000

Á[Q ÷©ÀÁøμ¨£ØÖ 20,000

•uÀ : 

10.000 •ßÝ›ø©¨ £[SPÒ ¹.10 Ãu®, ¹.7  

AøÇ¨¦ (•ßÝ›ø©²hß) 

70,000

10,000 ¤ßÝ›ø©¨ £[SPÒ ¹.10 Ãu®, ¹.9 AøÇ¨¦ PÈUP) 90,000

AøÇ¨¦ {¾øÁ 2,000 88,000

Gvº¨£õºUP¨£mh AøÇ¨¤ß ‰»® ö£ØÓ öμõUP® : 

•ßÝ›ø©¨ £[SPÎÀ 24,000

¤ßÝ›ø©¨ £[SPÒ 4,000 28,000

ö\õzvøÚ ÂØÓuõÀ Qmi¯ öμõUP® ¹.2,00,000. {Ö©U 

Pø»¨¦a ö\»Ä ¹.2,000 ©ØÖ® Phß wº¨£õÍ›ß Fv¯®  

¹. 3,000. Phß wº¨£õÍ›ß CÖv {ø»U PnUPÔUøPø¯z 

u¯õº ö\´P. 
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18. Following are the balance sheets of H Ltd and S Ltd, as 
on 1 January 2014.  

Liabilities H Ltd  S Ltd Assets H Ltd S Ltd

Share capital in 
Re.1 each 

27,000  12,000 Sundry assets 45,000 26,000

Reserves 6,000  4,000 Investment: 12,000 
shares in S Ltd 

15,000 –

Profit and loss a/c 4,000  2,000  

Sundry creditors 23,000  8,000  

 60,000  26,000 60,000 26,000

 H Ltd acquired the shares on 1 January 2014. Prepare 
consolidated balance sheet.  

 RÌUPõq® H ¼ªöhm ©ØÖ® S ¼ªöhmiß 1 áÚÁ› 

2014® |õøÍ¯ C¸¨¦ {ø»U SÔ¨¦ ¤ßÁ¸©õÖ. 

1 áÚÁ› 2014 ® |õÍßøÓ¯ C¸¨¦ {ø»U SÔ¨¦ 

ö£õÖ¨¦PÒ H Ltd  S Ltd ö\õzxPÒ H Ltd S Ltd

£[S •uÀ ¹.1 

Ãu® 

27,000  12,000 Cuμa ö\õzxPÒ 45,000 26,000

Põ¨¦ {v 6,000  4,000 •u½kPÒ : S  

¼ªöhmiÀ 12,000 
£[SPÒ 

15,000 –

»õ£&|mhU PnUS 4,000  2,000  

£Ø£»U 

PhÜ¢÷uõº 

23,000  8,000  

 60,000  26,000 60,000 26,000

 H ¼ªöhm 1 áÚÁ› 2014 AßÖ £[SPøÍ Áõ[Q¯x. 

JßÔønUP¨£mh C¸¨¦{ø»U SÔ¨ø£z u¯õº ö\´P. 
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19. From the following details of MacIndia Bank Ltd. prepare 

Profit and Loss Account for the year ended 31 March 

2008. 

Details Rs.  Details Rs. 

Interest on loans 2,60,000  Interest on cash credits 2,25,000

Interest on fixed deposits 2,80,000  Rent and taxes 30,000

Commission charged to 

customers 

8,000  Interest on overdrafts 56,000

Establishment expenses 56,000  Auditor’s fees 14,500

Discount on bills discounted 2,00,000  interest on savings 

bank  

accounts 

70,000

Interest on current account 45,000  Postage and telegrams 1,500

Printing and advertisements 3,000  Sundry charges 1,000

 RÌUPõq® ÂÁμ[PÎ¼¸¢x ©õU C¢v¯õ Á[Q 

¼ªöhmiß, 31 ©õºa  2008® |õÍßøÓ¯ »õ£&|mhU 

PnUSz u¯õº ö\´P. 

ÂÁμ[PÒ ¹.  ÂÁμ[PÒ ¹. 

Phß «x Ámi 2,60,000  öμõUPU Phß «x Ámi 2,25,000

{ø» øÁ¨¤ß «x Ámi 2,80,000  ÁõhøP ©ØÖ® Á› 30,000

ÁõiUøP¯õÍ›h® Á`¼zuU 

PÈÄ 

8,000  ÷©ÀÁøμ¨£ØÖ «x 

Ámi 

56,000

{ÖÄÁøPa ö\»ÄPÒ 56,000  uoUøP¯õÍ›ß 

Fv¯® 

14,500
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ÂÁμ[PÒ ¹.  ÂÁμ[PÒ ¹. 

©õØÖa ^mk Ámh® ö\´ux 2,00,000  ]Ö ÷\ª¨¦ «x Ámi 70,000

|h¨¦U PnUQß «x Ámi 45,000  u£õÀ ©ØÖ® u¢v 1,500

Aa_ ©ØÖ® ÂÍ®£μ® 3,000  Cuμa ö\»ÄPÒ 1,000

20. Explain in detail the four types of bill-wise reference in 
Tally.  

hõ¼°ß Âø»ÂÁμ¨£mi¨£i SÔ¨¦øμ°ß |õßS 

ÁøPPøÍ Â›ÁõP ÂÁ›. 

 

 

 
———————— 
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B.Com. (CS) DEGREE EXAMINATION, APRIL 2022. 

Sixth Semester 

Corporate Secretaryship 

MANAGEMENT ACCOUNTING 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Explain the term Financial Statement. 

 {v AÔUøP GßÓ £uzvøÚ ÂÍUS. 

2. What do you understand by Management accounting? 

 ÷©»õsø© PnUQ°¯À £ØÔ }Âº ¦›¢ux GßÚ? 

3. Define the term ratio. 

 ÂQu® Gß£øu Áøμ¯Ö. 

4. What are Liquidity ratios? 

 }ºø© ÂQu® GßÓõÀ GßÚ? 

5. Explain the term ‘Flow of Funds’. 

 {v Kmh® Gß£øu ÂÍUSP. 

6. Define Cash Flow statement. 

 öμõUP Kmh AÔUøPø¯ Áøμ¯Ö. 

7. What is Marginal Costing? 

 ÷©»õsø© ö\»ÄPÒ GßÓõÀ GßÚ? 

Sub. Code 
7BCS6C2 
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8. Write a Note on :  
 (a) P/V ratio  
 (b) Key factor. 
 SÔ¨¦ GÊxP : 

 (A) ¤Â ÂQu® 

 (B) •UQ¯ Põμo. 

9. What do you understand by Capital expenditure of 
budget? 

‰»uÚ ö\»ÂÚ £möámiÀ }[PÒ ¦›¢ux GßÚ? 

10. Write short notes on : The Net present value method. 

 ]Ö SÔ¨¦ ÁøμP {Pμ |h¨¦ ©v¨¦ •øÓ. 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the various tools of Management 
Accounting? 

   ÷©»õsø© PnUQ¯¼ß £À÷ÁÖ P¸ÂPÒ ¯õøÁ? 

Or 

 (b) What are the Advantages of financial statements? 

   {v AÔUøPPÎß |ßø©PÒ ¯õøÁ? 

12. (a) The following is the Balance Sheet of a Firm XY : 
 Rs.  Rs. 

Share capital 15,000 Fixed assets 8,250

Creditors  4,000 Cash 500

Bills payable 1,000 Book debts  3,000

Bank overdraft 1,750 Bills receivables 1,000

  Stock 8,750

  Prepaid Expenses 250

 21,750  21,750
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  Calculate  

  (i) Current Ratio and  

  (ii) Liquid Ratio. 

   ¤ßÁ¸Áx J¸ {ÖÁÚzvß XY Cß C¸¨¦{ø»U 

SÔ¨¦. 

 ¹.  ¹. 

£[S •uÀ 15,000 {ø»a ö\õzxUPÒ 8,250

PhÜ¢÷uõº 4,000 öμõUP® 500

ö\¾zxÁuØS›¯ ©õØÖa^mk 1,000 ¦zuP¨ £ØÖ 3,000

Á[Q ÷©ÀÁøμ¨£ØÖ 1,750 ö£ÖÁuØS›¯ ©õØÖa^mk 1,000

  \μUS 8,750

  •ßTmi ö\¾zv¯ ö\»Ä 250

 21,750  21,750

  PnUQkP : 

   (i) |h¨¦ ÂQu® 

   (ii) }ºø© ÂQu®. 

Or 

 (b) From the Following calculate Proprietary Ratio : 
 Rs.  Rs. 

Equity share capital 50,000 Fixed assets 62,500

Preference share capital 25,000 Current assets 25,000

Reserve and Surplus  12,500 Investment  37,500

Debentures  30,000  

Creditors  7,500  

 1,25,000  1,25,000

   ¤ßÁ¸® PnUQ¼¸¢x E›ø©²ÒÍÁº ÂQu® 

C¸¢x PnUQk[PÒ. 

 ¹.  ¹. 

\õuõμn £[S •uÀ 50,000 {ø»a ö\õzxUPÒ 62,500
•ßÝ›ø© £[S •uÀ 25,000 |h¨¦a ö\õzxUPÒ 25,000
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Põ¨¦ ©ØÖ® E£› 12,500 •u½k 37,500
PhÜmk¨ £zvμ® 30,000  
PhÜ¢÷uõº 7,500  

 1,25,000  1,25,000

13. (a) From the following information, calculate cash flow 
from operating : 

 Rs. 

Cash sales for the Year 90,000

Net credit sales for the Year 3,00,000

Cash purchased for the Year 70,000

Net credit purchases for the Year 2,80,000

Commission received during the Year 17,000

Total office and administrative expenses for the Year 27,000

Provision for income made during the Year 16,000

   ¤ßÁ¸® uPÁÀPÎ¼¸¢x öμõUP Kmhzøu 

PnUQkP. 

 ¹. 

öμõUP ÂØ£øÚ 90,000

{Pμ Phß ÂØ£øÚ 3,00,000

öμõUP öPõÒ•uÀ 70,000

{Pμ Phß öPõÒ•uÀ 2,80,000

PÈÄ ö£ØÓx 17,000

ö©õzu A¾Á»P ©ØÖ® {ºÁõP ö\»ÄPÒ 27,000

Á¸©õÚzvÀ JxUS E¸ÁõUQ¯x 16,000

Or 
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 (b) From the following two balance sheet on December 

31, 2016 and December 31, 2017. Prepare a 

Schedule of changes in working capital : 

Liabilities 2016  2017 Assets 2016 2017 

Share Capital 5,25,000  5,00,000 Land and 
Building 

5,00,000 4,00,000

Profit and loss 

a/c 

1,20,000  1,00,000 Machinery 1,00,000 1,60,000

Trade creditors  98,000  75,000 Stock in trade 1,10,000 80,000

Outstanding 
creditors  

2,000  5,000 Debtors  30,000 36,000

    Cash 5,000 4,000

 7,45,000  6,80,000  7,45,000 6,80,000

   i\®£º 31, 2016 ©ØÖ® i\®£º 31, 2017 CÀ ¤ßÁ¸® 

Cμsk C¸¨¦{ø»U SÔ¨¤¼¸¢x £o ‰»uÚzvÀ 

©õØÓ[PÎß AmhÁønø¯z u¯õ›UPÄ®. 

ö£õÖ¨¦PÒ 2016  2017 ö\õzxUPÒ 2016 2017 

£[S •uÀ 5,25,000  5,00,000 {»® ©ØÖ® 

Pmih® 

5,00,000 4,00,000

C»õ£ |mhU 

PnUS 

1,20,000  1,00,000 ö£õÔÁøP 1,00,000 1,60,000

ÁºzuP 

PhÜ¢÷uõº 

98,000  75,000 \μUQ¸¨¦ 1,10,000 80,000

PhÜ¢÷uõº 

{¾øÁ°À  

2,000  5,000 PhÚõÎPÒ 30,000 36,000

    öμõUP® 5,000 4,000

 7,45,000  6,80,000  7,45,000 6,80,000
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14. (a) Marin of safety Rs. 10,000 which represent 40% of 
sales P.V. ratio 50% calculate  

   (i) Break even sales 

   (ii) Fixed cost. 

   £õxPõ¨¤ß ÂÎ®¦ ¹. 10,000 Cx ÂØ£øÚ°À 40% 

I SÔUQÓx. ¤.Â. ÂQu® 50% PnUQk[PÒ. 

   (i) \©©õÚ ÂØ£øÚ 

   (ii) {ø»¯õÚ ö\»Ä. 

Or 

 (b) From the following information, find out the 
amount of profit earned during the Year, using 
marginal costing technique : 

   Fixed cost Rs. 5,00,000 : Variable Cost Rs.10 per 
unit: Selling price Rs. 15 per Unit : Output level 
1,50,000 units. 

   ¤ßÁ¸® uPÁÀPÎ¼¸¢x, KμÍÄ ö\»Ä ~m£zøu¨ 

£¯ß£kzv BsiÀ \®£õvzu »õ£zvß AÍøÁU 

PshÔ¯Ä®. 

   {ø»¯õÚ ö\»Ä ¹. 5,00,000, ©õÔ ö\»Ä ³ÛmkUS 

¹.10 ÂØ£øÚ Âø» ³ÛmkUS ¹. 15; öÁÎ±mk 

{ø» 1,50,000 A»SPÒ. 

15. (a) From the following information calculate the net 
present value of the two projects and suggest which 
of the two projects should be accepted assuming a 
discount rate of 8%. 

 Project X Project Y 

Initial Investment  Rs. 50,000 Rs. 80,000

Scrap value Rs. 1,000 Rs. 2,000 
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 Year 1 Year 2 Year 3 Year 4 Year 5

Project X Rs.  15000 20000 20000 13000 12000 

Project Y Rs.  30000 40000 35000 23000 12000 

PV factor @ 8% 0.926 0.857 0.794 0.735 0.681 

   ¤ßÁ¸® uPÁÀPÎ¼¸¢x Cμsk vmh[PÎß {Pμ 

uØ÷£õøu¯ ©v¨ø£U PnUQmk, Cμsk vmh[PÎÀ 

Gx 8% uÒÐ£i ÃuzøuU öPõsk HØÖUöPõÒÍ¨£h 

÷Ásk® GßÖ £›¢xøμUQÓx. 

 vmh® X vmh® Y 

Bμ®£ •u½k ¹. 50,000 ¹. 80,000

Gg]¯ ©v¨¦ ¹. 1,000 ¹. 2,000 

 
 Year 1 Year 2 Year 3 Year 4 Year 5

vmh® X ¹.  15000 20000 20000 13000 12000 

vmh® Y ¹. 30000 40000 35000 23000 12000 

¤.Â. Põμo @ 8% 0.926 0.857 0.794 0.735 0.681 

Or 

 (b) Calculate the NPV of the project at 10% discount 
factor : 

Year Outflows Inflows PV factor @ 10%

0 1,30,000 – 1.000 

1 30,000 20000 0.909 

2 – 30000 0.826 

3 – 60000 0.751 

4 – 80000 0.683 

5 – 30000 0.621 

  The salvage value at the end of the 5th Year is  
Rs. 40,000 
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   vmhzvß NPV I 10% uÒÐ£i Põμo ‰»® 

PnUQkP. 

Bsk öÁÎö\À¾uÀ EÒÁ¸uÀ ¤.Â. Põμo @ 10%

0 1,30,000 – 1.000 

1 30,000 20000 0.909 

2 – 30000 0.826 

3 – 60000 0.751 

4 – 80000 0.683 

5 – 30000 0.621 

  5 B® Bsiß CÖv°À Põ¨¦ ©v¨¦ ¹. 40,000 

BS®. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Differentiate between Financial accounting and 
management accounting. 

{v PnUQ¯À ©ØÖ® ÷©»õsø© PnUQ¯À Cøh÷¯ 

÷ÁÖ£õk. 

17. From the following information prepare a Balance Sheet : 
 Rs. 

Working capital 75,000

Reserve and Surplus 1,00,000

Bank overdraft 60,000

Current Ratio 1.75

Liquid Ratio 1.15

Fixed Assets to Proprietor’s Fund 0.75

Long term Liabilities  Nil
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 ¤ßÁ¸® uPÁÀPøÍU öPõsk C¸¨¦ {ø»U SÔ¨¦ 

u¯õ›UP. 

 ¹. 

|h¨¦ •uÀ 75,000

Põ¨¦ ©ØÖ® •uÀ 1,00,000

Á[Q ÷©À Áøμ¨£ØÖ 60,000

|h¨¦ ÂQu® 1.75

}ºø© ÂQu® 1.15

E›ø©¯õÍ›ß {vUPõÚ {ø»¯õÚ ö\õzxUPÒ 0.75

}sh Põ» ö£õÖ¨¦UPÒ CÀø» 

18. From the following Balance sheet prepare Fund flow 
statement : 

Liabilities  2013  2014  Assets 2013 2014

Share capital 60,000  65,000  Goodwill 30,000 25,000

Profit and Loss 
account 

34,000  26,000  Plant and 
Machinery  

60,000 50,000

Current Liabilities 12,000  3,000  Current assets 16,000 19,000

 1,06,000  94,000   1,06,000 94,000

 Additional Information : 
 (a) Depreciation or Rs. 20,000 on plant and Machinery 

was charged to Profit and Loss account. 
 (b) Dividends of Rs. 12,000 were paid during the year. 

 ¤ßÁ¸® C¸¨¦{ø»U SÔ¨¤¼¸¢x {v Kmh 

AÔUøPø¯z u¯õ›UPÄ®. 

ö£õÖ¨¦PÒ  2013  2014  ö\õzxUPÒ 2013 2014

£[S •uÀ 60,000  65,000  |Øö£¯º 30,000 25,000

C»õ£ |mhU 

PnUS 

34,000  26,000  {»® ©ØÖ® 

ö£õÔÁøP 

60,000 50,000

|h¨¦ ö£õÖ¨¦PÒ  12,000  3,000  |h¨¦ ö\õzxUPÒ 16,000 19,000

 1,06,000  94,000   1,06,000 94,000



F–6871 

  

  10

 TkuÀ uPÁÀ : 

 (A) {»® ©ØÖ® ö£õÔÁøP «x ¹. 20,000 ÷u´©õÚ® 

»õ£® ©ØÖ® |mhU PnUQÀ Á`¼UP¨£mhx. 

 (B) ¹. 12,000 £[Põuõ¯® Bsk ö\¾zu¨£mhx. 

19. You are given the following data for a factory : 

 Budgeted output  8000 Units 

 Fixed Expenses   Rs. 40,000 

 Variable expenses per unit Rs. 10 

 Selling price per unit  Rs. 20 

 Draw a Break even chart showing breakeven point, profit 
area and loss area. 

J¸ öuõÈØ\õø»US E[PÐUS ¤ßÁ¸® uPÁÀPÒ 

ÁÇ[P¨£kQÓx. 

 £möám öÁÎ±k   8000 A»SPÒ 

 {ø»¯õÚ ö\»ÄPÒ    ¹. 40,000 

 J¸ ³ÛmkUS ©õÔ ö\»ÄPÒ ¹. 10 

 J¸ ³ÛmkUS ÂØ£øÚ Âø» ¹. 20 

 ¤÷μUDöÁß £õ°sm, »õ£ £Sv ©ØÖ® |mh¨ £Sv 

BQ¯ÁØøÓU Põmk® ¤÷μU DÁß ÂÍUP¨£hzøu 

Áøμ¯Ä®. 

20. Two Machines are available, X and Y costing Rs. 75,000 
each. Earnings after Tax but before depreciation are 

Year Machine X (Rs.) Machine Y (Rs.)

1 25000 15000 

2 30000 25000 

3 35000 30000 

4 25000 40000 

5 20000 30000 
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 Evaluate the two alternative according to discounted 
payback method and net present value at 10% discount 
factor. 

 Year 1 Year 2 Year 3 Year 4 Year 5

PV Factor @ 10% 0.909 0.826 0.751 0.683 0.621 

 Cμsk C¯¢vμ[PÒ C¸UQÓx X ©ØÖ® Y Âø» •øÓ÷¯ 

¹. 75,000 BS®. Á›US¨ ¤ÓS BÚõÀ ÷u´©õÚzvØS •ß 

Á¸Áõ´. 

Bsk C¯¢vμ® X (¹.) C¯¢vμ® Y (¹.)

1 25000 15000 

2 30000 25000 

3 35000 30000 

4 25000 40000 

5 20000 30000 

 
 Bsk 1 Bsk 2 Bsk 3 Bsk 4 Bsk 5

¤.Â. Põμo @ 10% 0.909 0.826 0.751 0.683 0.621 

 uÒÐ£i ö\´¯¨£mh v¸¨¤aö\¾zx® •øÓ ©ØÖ® {Pμ 

uØ÷£õøu¯ ©v¨ø£ 10% uÒÐ£i Põμo°ß£i Cμsk® 

©õØÖPøÍ ©v¨¥k ö\´¯Ä®. 

 

 
———————— 
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B.Com. (CS) DEGREE EXAMINATION, APRIL 2022  

Sixth Semester 

Corporate Secretaryship 

INDUSTRIAL LAW 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define “factory”. 

 “öuõÈØ\õø»” Áøμ¯Ö. 

2. Pointout the objectives of labour legislations. 

 öuõÈ»õÍº \mh[PÎß ÷|õUPzvøÚ SÔ¨¤kP. 

3. What do you mean by occupational disease? Give 
examples. 

 öuõÈÀ\õº¢u ÷|õ´ Gß£uß ö£õ¸Ò GßÚ? GkzxUPõmk 

SÔ¨¤k. 

4. State the contributions of employer and employee under 
the EPF Act 1952 and ESI Act 1948. 

 öuõÈ»õÍº Á¸[Põ» øÁ¨¦ {v \mh® 1952 ©ØÖ® 

öuõÈ»õÍº Põ¨¦Öv \mh® 1948 CÁØÔß RÌ •u»õÎ 

©ØÖ® öuõÈ»õÎ°ß £[PÎ¨¦ £ØÔ SÔ¨¤kP. 

5. What are the objectives of Minimum Wages Act, 1948? 

 SøÓ¢u£m\ Fv¯ \mh® 1948 ß ÷|õUP[PÒ ¯õøÁ? 

Sub. Code 
7BCS6C3 



F–6872 

  

  2

6. Define “gratuity”. 

 “£oUöPõøh” Áøμ¯Ö. 

7. What do you mean by an “industrial dispute”? 

 “öuõÈØ uPμõÖPÒ” GßÓõÀ GßÚ? 

8. Define “trade union”. 

 “öuõÈØ \[P®” Áøμ¯Ö. 

9. What do you mean by super annuation in relation to an 
employee under the EPF Act 1952?  

 öuõÈ»õÍº Á¸[Põ» øÁ¨¦ {v \mh® 1952 ß RÌ 

öuõÈ»õÎ \õº¢u Á¯x •vºÄ K´Ä Gß£vß ö£õ¸Ò 

GßÚ? 

10. What do you mean by “strike”? 

 “÷Áø» {Özu®” Gß£vß ö£õ¸Ò GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Write short notes on different types of benefits 
under the ESI Act 1948. 

  öuõÈ»õÍº Põ¨¦Öva \mh® 1948 ß RÌ 

öPõkUP¨£mkÒÍ £»ßPÒ SÔzx ]Ö SÔ¨¦ ÁøμP.  

Or 

 (b) What are the provisions regarding “safety”, under 
the Factories Act 1948? 

  öuõÈØ\õø»PÒ \mh® 1948 ß RÌ “£õxPõ¨¦” £ØÔ¯ 

TÖPÒ ¯õøÁ? 
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12. (a) Discuss the general principles of labour legislations.  

  öuõÈØ \mh[PÎß ö£õx ÂvPøÍU SÔzx 

ÂÁõvUPÄ®. 

Or 

 (b) Summarize the rules regarding distribution of 
compensation. 

  DmkÖv £mkÁõhõ SÔzu ÂvPøÍ _¸UQ GÊuÄ®. 

13. (a) State the provisions of Payment Wages Act 1938 
regarding deductions from wages. 

Fv¯ £mkÁõhõ \mh® 1938 ß RÌ Fv¯ PÈzuÀ 

£ØÔ TÓÄ®. 

Or 

 (b) Write notes on special provisions relating to new 
establishments under the payment of Bonus Act 
1965. 

  ÷£õÚì £mkÁõhõ \mh® 1965 ß RÌ ¦v¯ 

ìuõ£ÚzvØPõP öPõkUP¨£mkÒÍ ]Ó¨¦ ÂvPøÍU 

SÔzx SÔ¨¦ ÁøμP. 

14. (a) Point out the important provisions of Payment of 
Gratuity Act 1972. 

£oUöPõøha \mh® 1972 ß •UQ¯ A®\[PøÍ 

SÔ¨¤kP. 

Or 

 (b) Define strike and lock-out. Discuss its legality. 

  ‘÷Áø» {Özu®’ ©ØÖ® ‘PuÁøh¨¦’ Áøμ¯Ö. Auß 

ö\À¾£iz ußø© SÔzx ÂÁõvUPÄ®. 

15. (a) Discuss the authorities under ID Act 1947 meant 
for voluntary settlement and conciliation. 

öuõÈÀ uPμõÖPÒ \mh® 1947 ß RÌ 

Aø©UP¨£mkÒÍ ußÚõºÁ wºÄ ©ØÖ® \©μ\zvØPõÚ 

Aø©¨¦UPøÍU SÔzx ÂÁõvUPÄ®. 

Or 
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 (b) State the salient features of Trade Unions Act 1926. 

   öuõÈØ \[Pa \mh® 1926 ß •UQ¯ A®\[PøÍ 

SÔ¨¤kP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the provisions relating to health and welfare 
under the Factories Act 1948. 

 öuõÈØ\õø»PÒ \mh® 1948 ß RÌ B÷μõUQ¯® ©ØÖ® |»ß 

SÔzx ÂÁ›UPÄ®. 

17. Explain the salient features of Minimum Wages Act 1948. 

 SøÓ¢u£m\ Fv¯® 1948–ß •UQ¯ A®\[PøÍ 

ÂÁ›UPÄ®. 

18. Discuss the schemes enumerated under the EPF Act 
1952. 

 öuõÈ»õÍº Á¸[Põ» øÁ¨¦ {v \mh® 1952 ß RÌ 

öPõkUP¨£mkÒÍ vmh[PøÍU SÔzx ÂÁõvUPÄ®. 

19. What are the rules regarding payment of compensation 
under the Workmen’s Compensation Act 1923? 

 öuõÈ»õÍº DmkÖva \mh®  1923 ß RÌ DmkÖv 

öPõk¨£uØPõÚ ÂvPÒ ¯õøÁ? 

20. Analyze the role of trade unions with special reference to 
its rights and privileges. 

 öuõÈØ \[P[PÎß £[S SÔ¨£õP Auß E›ø©PÒ ©ØÖ® 

]Ó¨¦›ø© £ØÔ Bμõ´P. 

________________ 
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B.Com. (CS) DEGREE EXAMINATION, APRIL 2022 

Sixth Semester 

Corporate Secretaryship 

MODERN BANKING 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define Banking. 

 Á[Q – Áøμ¯ÖUPÄ®. 

2. What is unit banking? 

 ³Ûm Á[Q GßÓõÀ GßÚ? 

3. Who are indigenous bankers? 

 EÒ|õmk Á[Q¯õÍºPÒ ¯õº? 

4. What is scheduled bank? 

 vmhªh¨£mh Á[Q GßÓõÀ GßÚ? 

5. State the objects of banking ombudsman scheme. 

 Á[Q B®£mì÷©ß vmhzvß ÷|õUP® GßÚ? 

6. What is doubtful assets? 

 \¢÷uPzvØS›¯ ö\õzx GßÓõÀ GßÚ? 

Sub. Code 
7BCS6C4 
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7. What is white label ATM? 

 öÁÒøÍ ÷»¤Ò HiG® GßÓõÀ GßÚ? 

8. What is smart card? 

 ì©õºm Põºk GßÓõÀ GßÚ? 

9. What is NEFT? 

 NEFT – GßÓõÀ GßÚ? 

10. What are the highlights of the code 2014? 

 SÔ±k 2014Cß ]Ó¨£®\[PÒ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the advantages of branch banking. 

  QøÍ Á[Q°ß |ßø©PøÍ ÂÍUSP. 

Or 

 (b) Write notes on investment banking and mixed 
banking. 

  •u½mk Á[Q ©ØÖ® P»¨¦ Á[Q SÔzu SÔ¨¦PøÍ 

GÊxP. 

12. (a) ‘‘Central Bank is a Banker’s Bank ’’– Explain. 

  ©zv¯ Á[Q J¸ Á[Q¯õÍ›ß Á[Q – ÂÍUSP. 

Or 

 (b) Explain the functions of commercial banks. 

  ÁoP Á[QPÎß ö\¯À£õkPøÍ ÂÍUSP. 
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13. (a) Discuss the post reforms position in India. 

  C¢v¯õÂÀ ¤¢øu¯ ^ºv¸zu {ø»ø¯ ÂÍUSP. 

Or 

 (b) Write notes on : Capital adequacy norms and 
provisioning of loans and advances. 

  SÔ¨¦PøÍ GÊxP : ‰»uÚ ÷£õx©õÚ Âv•øÓPÒ 

PhßPÒ ©ØÖ® •ßTmi÷¯ ÁÇ[SuÀ. 

14. (a) Discuss the features of a truncated cheque. 

  xsiUP¨£mh Põ÷\õø»°ß A®\[PøÍ¨ £ØÔ 

ÂÁõvUPÄ®. 

Or 

 (b) Explain the features of credit card. 

  Qöμim Põºiß A®\[PøÍ ÂÍUSP. 

15.  (a) What are the documents required for KYC? 

  KYC&US ÷uøÁ¯õÚ BÁn[PÒ ¯õøÁ? 

Or 

 (b) Write a note on RTGS. 

  RTGS £ØÔ SÔ¨ö£ÊxP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Classify the banks and bring out the features of each of 
them. 

 Á[QPøÍ ÁøP¨£kzv AøÁ JÆöÁõßÔß 

A®\[PøÍ²® GÊxP. 
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17. Explain the quantitative credit control methods of central 
bank. 

 ©zv¯ Á[Q°ß AÍÄ Phß Pmk¨£õmk •øÓPøÍ 

ÂÍUSP. 

18. Analyse the factors that contribute to NPA. 

 NPA&US £[PÎUS® PõμoPøÍ £S¨£õ´Ä ö\´¯Ä®. 

19. Discuss the features of E-Banking and bring out its 
merits and constraints. 

 ªß Á[Q°ß A®\[PøÍ¨ £ØÔ ÂÁõvzx Auß 

uSvPøÍ²® uøhPøÍ²® öÁÎ¨£kzuÄ®. 

20. Explain the recommendations of Goiporia committee. 

 Goiporia SÊÂß £›¢xøμPøÍ ÂÍUSP. 

 

—————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. State the causes for financial innovation in the Financial 
sector. 

 {vzxøÓ°À {v Psk¤i¨¦PÎß PõμoPøÍ TÖP. 

2. What is a capital market? 

 ‰»uÚ \¢øu GßÓõÀ GßÚ? 

3. What is vendor leasing? 

 ÂØ£øÚ¯õÍº SzuøP GßÓõÀ GßÚ? 

4. What is hire purchase agreement? 

 ÁõhøP öPõÒ•uÀ J¨£¢u® GßÓõÀ GßÚ? 

5. What are the special features of an open - ended fund? 

 vÓ¢u•iÄ {v°ß ]Ó¨¦ A®\[PÒ ¯õøÁ? 

6. What is Net asset value? 

 {Pμö\õzx ©v¨¦ GßÓõÀ GßÚ? 
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7. What is international factoring? 

 \ºÁ÷u\ Põμo GßÓõÀ GßÚ? 

8. Who are the parties to a credit card? 

 Qöμim PõºkPÎß Pm]PÒ ¯õº? 

9. Define merchant banker. 

 ÁoPÁ[Q¯øμ Áøμ¯ÖUP. 

10. What is meant by credit rating? 

 Phß ©v¨¥miß ö£õ¸Ò GßÚ? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What do you mean by financial  services? List down 
any four fund based activities of a financial service 
company. 

   {v ÷\øÁPÎß ö£õ¸Ò GßÚ? {v÷\øÁ 

{ÖÁÚ[PÎß H÷uÝ® |õßQøÚ {v 

Ai¨£øh°»õÚ ö\¯À£õkPøÍ £mi¯¼kP. 

Or 

 (b) Explain the causes of financial innovation in the 
financial sector. 

   {va÷\øÁzxøÓ°À {vø¯ Psk¤i¨¦PõÚ 

Põμn[PøÍ ÂÍUSP. 

12. (a) Distinguish hire purchase and leasing. 

   ÁõhøP öPõÒ•uÀ ©ØÖ® SzuøP BQ¯ÁØøÓ 

÷ÁÖ£kzxP. 

Or 

 (b) Explain the steps involved in a leasing transaction.  

   SzuøP £›Áº¢uøÚ°À Dk£mkÒÍ £iPøÍ 

ÂÍUSP. 
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13. (a) Distinguish between an income fund and a growth 

fund. 

   Á¸©õÚ {v ©ØÖ® ÁÍºa] {v BQ¯ÁØøÓ 

÷ÁÖ£kzxP. 

Or 

 (b) What are the risk associated with mutual fund? 

Explain. 

   £μì£μ {v²hß öuõhº¦øh¯ B£zx 

GßÚ?ÂÍUSP. 

14. (a) What is international factoring? Who are the 

parties involved in it? 

   \ºÁ÷u\ Põμo GßÓõÀ GßÚ? CvÀ \®£¢u £mh 

Pm]PÒ ¯õº? 

Or 

 (b) Explain the factoring involves in the functions. 

   Põμo ö\¯À£õkPøÍ EÒÍhUQ¯x GßÚ Gß£øu 

ÂÍUSP. 

15. (a) What are the problems of merchant bankers? 

   ÁoP Á[Q¯õÍ›ß ¤μa\øÚPÒ GßÚ? 

Or 

 (b) What are the objectives of CRISIL? Explain. 

   ö|¸UPi¯õÚ ÷|õUP[PÒ GßÚ? ÂÍUSP. 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Distinguish briefly some of the innovative financial 
instruments introduced in recent times in the financial 
service sector. 

 {vzxøÓ°À \«£zv¯ Põ»[PÎÀ AÔ•P¨£kzu¨£mh 

]» ¦xø©¯õÚ {vU P¸ÂPÒ _¸UP©õP ÂÁõvUPÄ®. 

17. Explain the structure of leasing industry in India. 

 C¢v¯õÂÀ SzuøPz öuõÈ¼ß Pmhø©¨ø£ ÂÍUSP. 

18. Explain the importance of mutual funds. 

 £μì£μ {v°ß •UQ¯zxÁzøu ÂÍUSP. 

19. Explain the scope and importance of venture capital. 

 xoPº ‰»uÚzvß ÷|õUP® ©ØÖ® •UQ¯zxÁzøu 

ÂÍUSP. 

20. Explain the working of various credit rating agencies in 
India. 

 C¢v¯õÂÀ £À÷ÁÖ Phß ©v¨¥mk {ÖÁÚ[PÎß 

ö\¯À£õmøh ÂÍUSP. 

 

 

 
———————— 


